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7 269 gk mEth B B S A 2 12.66 -2.1
8 945 S IIES IR AR 4 13.17 -2.1
1 534 g BERF 3 13.41 -2.2
2 713 £H BE FEEK DNS
3 186 Bk £ =AM ERRER 2 13.19 -22
96 950 ER K BREE TKIRE A 6 13.62 -22
5 64 EH HE T/NE& G 1 12.99 -2.2
6 238 ERk AR dt E -F R 7 14.06 -2.2
7 841 F Hen L PR 4 13.42 -22
8 35 HNH XE KiR& 5 13.45 -2.2
1 826 Zih L TEAM BRii& 3 13.35 -1.3
2 140 ZEM H AR (FAA) 5 13.45 -1.3
3 841 Al RE R—LI/TC 1 12.45 -1.3
97 .4 107 B ney AR 2 13.10 -1.3
5 172 Bl H=IR FEEK 8 14.73 -1.3
6 716 2l K& FRESK 7 14.42 -1.3
7 1299 PN TEE P2 6 13.51 -1.3
8 825 INER SR ASNE TEAM BRI 4 13.36 -1.3
1 765 B R Iz %;REI%F& 5 13.50 -15
2 602 EF & R[] B DNS
3 369 ERK EE jl:J:EI: 2 13.04 -1.5
98 | 827 2H = KED TEAM BRIIE 3 13.07 -15
5 829 AN TEAM BHIE 7 14.01 -15
6 632 R &E= LR F R 4 13.45 -1.5
7 370 =45 &M v kb 6 13.70 -15
100 8 764 & Bk X = RRATIESK 1| 1287 -15
1 710 T &R FERER 5 13.83 -0.8
2 1290 Atk Jt £ Bk 3 13.28 -0.8
3 976 gy ksl Tt EFEEER 1 13.09 -0.8
99 |...4 521 it K AEAH 4 13.29 -0.8
5 531 N AE8H DNS
6 1305 BT JEF a58H 2 13.23 -0.8
7 301 /NEAR B4 EIRE DNS
8 918 R HRE R [ P 3 = A DNS
1 955 BK B TKIRE A 8 13.95 -1.2
2 718 e Te= R[] B = 4K 3 13.03 -1.2
3 952 Ak e TR A 6 13.55 -1.2
30 ot 695 T s ETIBER 1 12.69 -1.2
5 722 =48 AW % [i] 7 = 4 13.10 -1.2
6 696 J\E hEH ETIBER 2 12.99 -1.2
7 953 fEmE MEA KRR 7 13.60 -1.2
8 182 FHE MEA FARMMAAFERARER 5 13.23 -1.2
1 634 INE AR IR F R 5 13.48 —1.4
2 1702 BRiE M TKR B A 6 13.69 -1.4
3 377 S EA2E Jt Ech DNS
31 |t 507 ik aﬁ FAFE S 4 13.41 -1.4
5 1522 BER % N 3 13.37 -1.4
6 1396 I = = =AM ER PR 2 13.35 -1.4
7 1308 I\NEE R a58H 1 13.20 -1.4
8 947 =k EX JKIRE PR 7 13.80 -1.4
1 971 it BA EEFEESK 1 12.96 -1.2
2 1523 HE K& N 2 13.57 -1.2
3 1427 k& B3 TKRE R 7 14.01 -1.2
32 |4 1535 A i L Bpohsag 5 13.98 -1.2
5 9 ih IF{T BT R =957 3 13.68 -1.2
6 738 INLL ERFE aaE DNS -1.2
7 58 Az HE- T/hEgh 6 14.00 -1.2
8 754 Bz L2 FAE SR 4 13.68 -1.2




EH

c
|
\

BERES

K&

TR

BEER

%3]

B =5
1 1272 INR R fE&P2R 7 14.37 -0.5
2 535 *E Eid EEAH 6 13.60 -0.5
3 978 ERKR KK LRREER 5 13.55 -0.5
33 645 ki 1B ILRYF R 8 14.93 -0.5
5 1564 L8 X7 IR F R 4 13.54 -0.5
6 780 EPEHE ARA LRBREER 2 13.35 -0.5
7 842 it [ ONGE TSI 3 13.36 -0.5
8 970 HE BLER EELEFEESK 1 13.29 -0.5
1 528 FHiE PRk 5E48H DNS
2 1400 H =% ERBT R AR 4 15.05 -15
3 46 WA 1BF JKRH DNS
34 B 1291 XiBEAR b b -EPER DNS
5 517 =H & =F B 1 11.95 -1.5
6 190 =TI FEREIFERFER 2 13.34 -15
7 187 Tx 5B TR IERPER 3 13.54 -15
100 8 1581 AHELC BXRMERE DNS
1 1568 IR RER TEF PR 1 13.44 -0.8
2 646 =t T —_) I F R 6 14.98 -0.8
3 1646 £=E 5 L HehzER DNS -0.8
35 |t 1295 =Y =] TE& AR 7 15.24 -0.8
5 1297 EH R#IE TEEPZR 5 14.95 -0.8
6 648 B Z TR F R 3 14.12 -0.8
7 1580 FHRE aXMERE 2 13.78 -0.8
8 1566 INE EE LRI FhER 4 14.88 -0.8
1 1569 =i it IR F SR 7 15.42 —1.1
2 1401 il —# ERBTI R R 4 14.88 -1.1
3 755 g Hi FAHE SR 5 14.97 —1.1
36 bt 828 thfR gkt TEAM BRI 1 13.69 -1.1
5 830 A Bz TEAM BHIE 2 14.61 —1.1
6 1292 ;A Bk it £ -F R 8 16.89 —1.1
7 689 fa ERIE — JEmm 3 14.68 -1.1
8 1298 A BT EEPER 6 15.06 -1.1




EH

c
|
\

BERES

K&

TR

BEER

%3]

B =5
1 563 ZO X aFXE 5 22.85 -0.4
2 318 FH F —RI=EINCT 6 23.17 -0.4
3 559 INER BT BEFKXFE 1 21.88 -0.4
4 144 R FAEXZEFE) DNS
5 822 =H B EFEIKRE 7 23.17 -0.4
6 590 HURERIT FEAXZFE) 2 22.33 -0.4
7 653 AL BA It EHmABHS 4 22.72 -0.4
8 11228 EX £ Lo X(#E]ID 3 22.69 -0.4
1 727 BE T R S A 5 2285 -0.5
2 582 s FiE aFKE 6 23.01 -0.5
3 17 WEH AKX ESEFXRZEFE) 2 22.36 -0.5
4 572 Ik ot aFKE 1 22.35 -0.5
5 575 =4 BFXRE 4 22.52 -0.5
6 805 INE R REKF 3 2248 -05
7 590 Fik I1h TEEd 7 23.87 -0.5
8 584 Xl &Nak BFXE DNS
1 564 ELNE PN BEFKE DNS
2 268 INE BiE B[ B =A% 1 23.27 -0.9
3 1332 28 S shET % PT(F %) DNS
4 811 f’*?k BE B A DNS
5 570 B % BFKRE 2 23.45 -0.9
6 160 EE B REE—5 3 23.68 -0.9
7 418 &M @//T —B%E— 4 24.62 -0.9
8 561 —% EBEI& BFXE DNS
1 936 FLE ZH B[] 55 70 7 27.10 -0.8
2 456 AR B AL 1 22.79 -0.8
3 945 1Ege JyEd X [if] 55 7Y 4 24.65 -0.8
4 937 FHREA REFE) 55 /9 5 24.95 -08
5 940 I B REFE) 55 79 DNS
6 943 EIR GEA B[] 55 P 6 25.24 -0.8
7 455 Pk B2 R[] 25 70 3 23.69 -0.8
200 8 457 fE BEF B[] 55 7Y 2 23.08 -0.8
1 637 it BRE RN 7 2461 -1.8
2 1324 AFE RIE R =R E PR (T RHR) DNS
3 720 WA A ER JAEFEhi&L 2 23.24 -1.8
4 569 RiE E AFXRE 1 22.58 -1.8
5 583 A FREE [ ES - 4 23.38 -1.8
6 626 iR BFRE(GRIA) 5 23.44 -1.8
7 717 HE BKX BE [ B = A 3 23.26 -1.8
8 592 ®E = 15 6 23.88 -1.8
1 552 INE ER 1EEmE DNS
2 408 ARH EZE —BiE— 5 24.31 0
3 406 Fik 22 —B%E— DNS
4 276 # A= R E SR 2 23.30 0
5 693 ERK TEk BFKE 1 23.08 0
6 295 Bk HE ?E%:II: 4 24.09 0
7 410 FE EBRA —BE%E 3 23.70 0
8 179 =l RE FRETLE EEP?—& 6 24.62 0
1 1277 =H &3l L Eroheigs DNS
2 239 —HFF dt_E - B R 6 25.66 -1.7
3 413 =H Xk —BiE— 4 2512 -1.7
4 554 =i A 1EEm 5 25.31 -1.7
5 894 AH BA TEEmE DNS
6 506 Mk BC FAE SR 3 24.79 -1.7
7 228 1E R K2Rk b E-EHRER 2 24.72 -1.7
8 580 B EBX BFXE 1 24.00 -1.7
1 725 ¥EH AN R[] B = 4K 1 24.23 —1.1
2 889 =g % REEE— 5 4 24.93 -11
3 174 2R FRHEERAHFER 3 24.59 —1.1
4 593 EAK XK E51L 7 25.80 1.1
5 226 fERARE3L Jt L -E e 5 25.14 —1.1
6 56 HBHET K5 N DNS —1.1
7 948 NFF BE —BT 2 24.42 -1.1
8 890 ol EEA EEE—S 6 25.58 -1.1




BE | 4| | eass K4 iR = | =% | 2%
1 950 a3 B —BT 6 26.97 -1.4
2 47 MO X KR e 5 25.79 -1.4
3 1270 ERR X TEE P2 DNS
9 4 229 FHENT it £ - 1 24.17 -1.4
5 48 W —85 T/ 3 25.09 -1.4
6 618 LR N R—ITAaJTC 4 25.27 -1.4
7 508 ik JT FAIE S 2 24.32 -1.4
8 949 INEFSF BB —BET DNS
1
2 177 B i+ ERBT R AR 5 25.54 -0.8
3 619 =& A= R—AITa/TC 1 24.76 -0.8
10 b3 952 {58 ARER —BET 6 25.82 -0.8
5 953 ik I —BT 7 26.88 -0.8
6 235 RABAX Jt £ - B 2 25.26 -0.8
7 371 % MK Jt L 4 25.40 -0.8
8 721 fall K= & 47 B BT [ 175 3 25.35 -0.8
1 38 A KR e 6 26.94 -1.1
2 839 +iH A= R AL 2 24.87 -1.1
3 271 HHEF BB % i 7 = e DNS
i |4 674 it Thik 1= PP R I = 45 3 26.19 -1.1
5 641 I\ER & LR F g 1 24.38 —1.1
6 63 ERR EEX T/MER 7 27.52 -1.1
7 826 NHE B EAEK 4 26.46 -1.1
8 141 FE T& R h 24 (EE) 5 26.92 -1.1
1 721 BE ORK R[] B = 4K 3 26.23 -3.2
2 776 PR =L LEREER DNS
3 1644 =R EH ik DNS
19 |4 230 FH £ it E - 1 25.18 -3.2
5 734 ERE RS R K MBS 4 26.84 -32
6 80401 W% s SRR AR (FRE) 5 27.41 -3.2
7 639 INER EZA I F R DNS
200 8 720 IR BE B [ B = 4K 2 25.61 -3.2
1 64 BE WE T/ 2 26.44 —1.1
2 1290 Atk Jt £ Bk 3 26.79 -1.1
3 1406 £k 1230 E&dL =g DNS
13 |4 231 :FEBE’EJ@ it £ -F R 6 28.10 —1.1
5 66 Pl T/ 5 27.70 -1.1
6 176 =F %Sc)’ﬂz FERBTIER PR 1 25.50 -1.1
7 622 alll_# REEESK DNS
8 948 g ER IR AR 4 26.84 -1.1
1 9 Fih AT BWT7 R —R5T 7 28.44 -2.0
2 186 Bk £ FRHEMEAFER 3 26.70 -2.0
3 621 =EH B R—ITa/TC 1 25.09 -2.0
14 |4 923 RZE B#A R[] P 3 =4 8 28.70 -2.0
5 841 it e L HABER 2 26.51 -2.0
6 1285 hEr £ fa ] AR 4 26.90 -20
7 754 BiE hE FAIE 51X 5 27.38 -20
8 973 MY RBE TEEETEESK 6 27.97 -20
1 1572 =48 R IR F R DNS
2 1396 s BEE FREERPER 1 26.31 -0.6
3 184 A+ Fx ERBTIER AR 2 27.36 —0.6
15 |4 58 g NN e 4 28.51 -0.6
5 645 ki 1B LR F g DNS
6 1525 WA BA T/ 5 29.24 —0.6
7 1400 H =% FERBTIERRFR 6 31.17 -0.6
8 952 EE W e JKIRE PR 3 28.18 -0.6
1
2 1569 o I LR F g 6 31.40 +0.5
3 955 BK B TKRE R 5 29.41 +0.5
16 |t 190 =TI ERBIIER PR 3 27.91 +0.5
5 1311 HE K JKiRH 4 29.32 +0.5
6 634 INE AR STRYF g 2 27.56 +0.5
7 1568 INR FRER IHF PR 1 27.49 +0.5
8 1292 A Bk Jt L -mhER 7 38.18 +0.5




EH

c
|
\

BERES

K&

R

BEER

B £=4
1 590 Rk Bath 5t 6 54.12
2 323 A B X [ T 3L =4 DNS
3 720 WA A ER JAEFEhis 4 51.14
4 318 FH g —Ei = ZINCT 2 49.74
5 91 BHE A EER 3 50.41
6 822 oH B} AEFRIKRTF 1 49.72
7 26 A0 &g AEFARZE(LUR) 5 52.5
8 319 Wb IEx —Bi=EINCT DNS
1 513 NI Z0EK 6 57.73
2 318 ¥H ZP BT SR DNS
3 97 EAK &E EER 4 53.47
4 455 Rk B2 REE 55 Y 2 51.66
5 456 HAR ER RE[if] 55 7Y 3 52.49
6 96 il = EER DNS
7 507 =28 KT 3 /7 IR T R 155 1 51.38
8 596 B e BREE= 5 55.43
1 85 R E - ERAIESK 7 5428
2 196 it B KRB ESK 4 53.99
3 332 N PN REE T I S 5 54.00
4 414 INEFE EIF —BEE— 8 54.57
5 419 aH EE —Bi%E— 1 52.47
6 319 EE OEE X [ T 3L =4 3 53.65
7 607 JIAT BB e 6 54.14
8 411 EE & —BiE— 2 53.43
1 521 AH B @H:ﬂ: 2 54.19
2 156 =EE HR PR 4 55.75
3 302 i 51§ EIRE— EP 5 56.48
4 316 1E8 BE9R BE ] T 3L =% 1 54.08
5 739 B HEX 28E 7 57.52
6 856 K4 LiMt K ik e 3 55.50
7 409 ik — —BE— 6 57.18
400 8 222 MEREE Jt L -mhER DNS
1
2 331 mE ¥ ) 1 3 = 18 DNS
3 321 fHEx BHiE RX RE T 3L =% 4 57.55
4 935 FR FE R[] 25 70 1 54.27
5 314 R —E B¥ [ T 3L =4 2 55.43
6 317 k& KHE X R T 3L = 4 DNS
7 326 R &% ¥ R T 37 = 4% 3 57.05
8 633 BRI REN I F R 5 57.70
1 270 E R R ] e X 2 55.41
2 593 ERKR X TE&dL 4 57.88
3 99 =fe g7 EER 1 54.72
4 591 NN E&d 3 57.02
5 197 £k T KIREESR DQ
6 56 H¥ K5 T/ DNS
7 891 —Z &9 BEE—5 5 59.16
8 819 AR BN & DNS
1 1278 =a &3 LHh2k 6 59.26
2 418 BHE =/ —BE— 1 54.34
3 84 F X oA BERR TESHK DNS
4 585 R Bt 2 REA 4 57.39
5 839 THH #E .1 2 56.16
6 854 IRE R S RE 15 (R ) 3 56.34
7 766 B EE& BERRIESK DNS
8 212 = —1E ﬁl‘lk—?—ﬂﬁﬁ.—;h 5 57.85
1 843 TSN IR S 7 58.68
2 795 akE % RE [ T 3L =4 4 57.58
3 327 g L REE T I S 3 57.16
4 640 J\ER it TR F R 6 58.15
5 225 ol ) Jt L -E e 8 59.99
6 693 MR EBh T RS 1 56.21
7 794 (SN BX [ T 3L =4 2 56.77
8 796 EaRAKR L3t B [ T L & 4% 5 57.62
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EH

c
|
\

BERES

K&

R

BEER

B £=4
1 632 Rl {£5= IR F g 8 | 1.00.91
2 182 FHE MEA ERBIIERRER 3 57.20
3 107 B ney AR 7 59.96
9 4 281 =M K BE [ B = A 1 54.04
5 103 N & TEAR 2 54.86
6 105 BiE = TEER 4 57.78
7 108 RET HE TEER 6 59.37
8 47 PO FX JKiR& 5 57.98
1 703 ERR BA KRB gs 2 57.66
2 926 ERK BER FERERA3—L 4 59.76
3 227 1R RZAER Jt £ Bk 7 | 1.04.55
10 |4 764 E B X 2 BRAIESK 6 | 1.02.09
5 765 SR ERR TESHK 5 | 1.00.81
6 269 gk mth R[] B = 4K 1 55.19
7 624 BH 5 AT TEE IS DNS
200 8 718 Mg T2 R[] B i 4 3 58.90
1
2
3 649 =)l K THFHRER 2 57.28
i |4 315 SH i R T 3 S A 3 57.38
5 738 INLL ERFE BAE DNS
6 729 = H AR ¥ i 7 = e 1 55,50
7 1401 1l —# FERBIIERRFR 5 1.11.62
8 187 TE Bil5 R ERPER 4 | 1.05.40
1
2
3 960 B flinE KGR A 3 | 1.0278
19 |4 953 1B MEA TR B A 4 | 1.04.17
5 238 TR Jt L -EhsEs 6 1.05.49
6 1424 R 3 7k,RﬁEP%$ 5 | 1.05.39
7 692 alll LiE ETBER 2 ] 10157
8 694 B B ETIBER 1 53.57
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EE v— | #RES E£ il 5 | B8 |
1 177 =H BX FEEK 7 | 2.09.23
2 596 pREx 2 REMEE= 5 1 2.04.09
3 323 A BN BE [ T 3 =4 4 120104
4 504 Bi5 RE AFXRE 3 | 2.0055
5 419 aH B —BEE— 1 1.59.90
6 704 A th— aFKE 2 | 2.00.02
7 523 EFEPN 230k DNS
8 224 A 8 b E-BEhER 6 | 2.06.22
1 737 INE BN =28 7 2.14.34
2 636 =R B TR F P DNS
3 585 R Bt EREAL 3 | 2.07.31
4 819 ERR BN eIt 5 121244
5 196 ETRN PN KRBEESK 1 2.03.88
6 219 k= RE R AR S AR 4 120793
7 84 F = :‘n: ) ERRITESK 2 | 2.07.02
8 895 =% SE 1tEm 6 | 2.12.82
1 234 FafE EE — P BTRE 4 | 21347
2 626 =k BRI AT TEE IS 3 | 211.89
3 240 FZAREM it £ - DNS
4 87 Pl R EE EFER/K 2 | 21113
5 346 EBE i B[ T 1 | 2.06.48
6 300 HiR —% ERE—m 6 | 21565
7 515 BR &8 EHEK 7 | 22140
8 835 ER RE RE Tt 5 2.14.01
1 785 ®Ek Bt fEETRH—X 6 | 2.26.71
2 628 ]} BA e EE T DNS
3 530 it e aE8H 2 21822

800 4 723 Tx & BEEERK 1..1.21437
5 57 ] T/ 5 | 22348
6 400 ERK LEE o O R DNS
7 975 S e TEEFEESK 4 | 22090
8 515 Il EE BFPER 3 | 21992
1
2 921 EA —K R[] P 3 = 1 2.16.84
3 45 =1t JKiR® 5 | 22912
4 948 L& ER TKRE R 2 | 21825
5 458 A B8 FAIE PR 7 | 2.33.76
6 761 B {650 LIE R 4 21955
7 227 {E R RZEAXER it £ - 6 | 2.33.16
8 612 JI:E B EEEESK 3 | 2.19.04
1
2
3 220 FEET it b B DNS
4 690 BR L ETIEER 1 122419
5 958 FIE MK TR B A 4 | 23855
6 221 INEFE A Jt L - 2 | 22580
7 1702 BEiE A3 TKR B A 3 | 23212
8 957 FTE —@&E JKGR B AR 5 | 2.39.78
1
2
3 689 FaERE — JEm 3 125116
4 959 £Z f# TKIRE A 4 | 25338
5 1399 BE B ERBTIER R 5 | 31835
6 939 ik = RE[E 55 Y 1 121133
7 942 AGRH R RE[E 55 7Y DNS
8 944 Hg B B [if] 55 7Y 2 | 21779
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B v— | BRES K4 iR 5 | B8 |
1 303 fER”RAR R R T 3L SR 1 4.04.40
2 109 EH M5 BHigERd b DNS
3 79 A & B #k BRAIESKR 16 | 4.18.75
4 155 Z8 the EEE—S 2 | 40571
5 278 LelllEPN FUEKXZFE) 4 | 40787
6 121 +XF E— EiEXi Lt 12 | 41537
7 110 ) TR EHEgXi Lt 14 | 4.16.77
8 114 FH REE BHigRd b 8 | 4.12.51
9 124 TH BE EiEgXi Lt 19 | 4.27.62
10 112 25 e E 11 | 4.14.90
11 116 R 5= BHigRd b 7 | 41246
12 106 =5 BEAED TEEBH 18 | 42185
13 336 AR AK— B[ T 5 | 411.38
14 115 BRix & BHigRd b 13 | 4.15.97
15 117 AR =X BiEXI L 20 | 4.40.31
16 320 BEE KN— BE [ T 3 = A% 17 | 4.21.11
17 330 BiE &3 B[ T 3L S 15 | 4.17.36
18 86 M R AF &K 3 | 40754
19 315 2l Bz BE [ K 6 | 411.46
20 149 Fih SCHB —REHAC 9 | 41368
21 216 A O FAHE B & (FE) 10 | 4.14.59
22 257 I &R E 8k TEAM7 T )LA DNS

1500 1 14 A ELD.N 1E&AC 3 | 41793
2 264 FiE #x REF R = A 8 | 42269
3 224 HES HE Jt £ - B 4 | 41868
4 87 BAT 2R H 2 EFE/K 2 | 416.70
5 338 = &t BT 10 | 4.24.18
6 346 ki L R T 1 4.16.65
7 382 e K2 BE[E T 7 | 4.22.09
8 218 thik = B¥ [ K22 MY B = A 5 | 41891
9 325 FE ER R T I S 4 6 | 42034
10 329 O RE [ T 3 = 45 13 | 4.28.25
11 81 AN 1L 3E K BERAIESK 9 | 42298
12 82 2 = BRAIESKR 17 | 4.30.97
13 210 KE K5 B ] K2 M8 = DNS
14 120 ki &t BHigRd b 20 | 44123
15 123 EE fL7] BiEXI L 16 | 4.30.26
16 125 J\EE BX EEXIE 18 | 4.33.18
17 127 e 7 N BHEXIE 19 | 4.33.61
18 557 HiT 3 iR E 22 | 44293
19 265 = B B B = AR 12 | 4.27.25
20 564 =3 R[] 2 3 = A DNS
21 312 Hok ZsL % [ T 31 =4 14 | 42857
22 272 ERAR BUR B [ B = AR 11 | 4.24.32
23 821 BiE BA E5dt 15 | 4.29.10
24 350 PN B T 21 | 441.97
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EH

BERES

K&

R

&

L t—5
1 Hll B
2 HillBR
3 HilBR
4 HIlBR
5 361 XH & B[ T 13 | 4.43.55
6 53 B EA T/ 2 | 42962
7 972 fRPE St THRPER 16 | 4.55.02
8 234 i BE — P BTRE R 6 | 43211
9 240 %'i"é‘ﬂ?’f\ dt £ - B DNS
10 530 o 184 AEAH 9 | 43404
11 895 Kok ,‘fﬁ &M 11 | 4.36.23
3| 12 328 fERrAR BBAHH BB T 3 S 7 | 43338
13 797 H# 82 R 8] T 3 = 45 8 | 43378
14 798 2@ # B [ T 3 S 4 | 43076
15 277 J\ERE HE BX [ = A 12 | 4.38.20
16 1267 =5 aaic TEE PR 17 | 5.04.65
17 299 J\ER Rt E&d 5 | 431.16
18 823 A HE &4 DNS
19 317 P BB N HE B EIKEE) 1 4.28.32
20 83 = EE A BERRIESHK 3 | 43048
21 762 = B & BERAIESK 10 | 4.34.36
22 763 B B | BRAIESKR 15 | 4.53.00
1500 23 768 T H & 3 BERRIZESR 14 | 451.20
1 769 ¥ H -3 BERRIESHK 16 | 4.48.69
2 435 FE KX TAHAHIRO RC 9 | 4.39.10
3 437 FIE ZA8| TAHAHIRO RC 6 | 4.3561
4 152 FE EN —PBiAC 1 4.26.37
5 407 A BA —BiE— 10 | 4.40.04
6 919 Bk =B R[] 78 3 = A 11 | 44168
7 192 A Bl TERBTILE R PR DNS
8 310 XA F= ERE 4 | 43509
9 1284 Jﬁﬂﬁm ik f2 ] PR DNS
10 635 B & LR F g 3 | 4.30.09
11 416 %k B —paEE— 21 | 5.07.45
4 | 12 417 KL BTZE —BE— 7 | 43617
13 185 = IDAER ERETIE R PR 5 | 43531
14 675 fERAR Z3l = PP RR I = 45 2 | 42981
15 515 Il BE BF PR 17 | 4.48.74
16 126 i I BHEXIE 15 | 4.48.47
17 593 ILEAAEH FAEKXZFLE) 20 | 453.99
18 372 NS e £ 18 | 4.49.69
19 972 Zith B TEIEFTESK 8 | 43835
20 405 Tk K3t —BiEE— 12 | 4.47.18
21 415 N —BE— 19 | 4.49.74
22 57 T ERE T/NER 13 | 4.48.18
23 515 B £E EEEK 14 | 4.48.41
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L L— | BRES K% iR = | =28 | 2
1 735 EIEEES B[] K22 bt R = 4% 5 | 45224
2 624 BmH 15 R[] 7 35 = A 7 | 453.00
3 623 —5 XiE R[] 7 35 = A 2 | 44491
4 726 120 = R [ B = 4K 6 | 45224
5 527 AEy BH[5 5EA/H 8 | 457.86
6 100 Bt i 1EEH 3 | 44726
7 221 INERIE A Jt L -mhsEgs 1 43911
8 213 N 55 BE [ K22 MY B S A 12 | 5.01.85
9 458 ik EBE BRI R 16 | 5.08.73
10 761 Heh {534 Jt R E A 4 | 45085
11 281 LA BAAER =B B PR 10 | 4.58.59
12 259 INE RS TEAM7 T ILA DNS
13 974 s TEEEFESK 18 | 5.14.32
14 49 R S T/NER A 20 | 5.15.75
15 220 REEEF db b -F R DNS
16 958 FE MK JKIRE A 19 | 5.15.13
17 526 Fih |A BEAE 17 | 5.10.23
18 836 Tk the 124k 9 | 45818
19 45 HfE T JKiR® 13 | 5.02.28
20 777 LH EER LRREER 14 | 5.04.57

1500 21 778 At &3l LRI EER 15 | 5.07.64
22 536 HiE BURE 5E48H 21 | 5.18.08
23 1524 HEE & T/hE& e 11 | 5.01.20
1 1296 BiE BE TE& g 16 | 5.23.63
2 189 A RE ERETIER PR 6 | 5.0069
3 637 ZH 43 LY F e 9 | 5.04.44
4 1291 XiAEAR Jt_E - B DNS
5 191 FHE FIA TERBTILER R 5 | 45983
6 931 ERAR &R KRB XK 2 | 45253
7 1526 =R U T/NEE G 15 | 5.21.94
8 920 EH & RE [ X S 14 ] 5.16.13
9 922 HiT Kih R[] P8 35 = A 7 | 5.02.78
10 1650 S a2 e ekeat o 10 | 5.08.73
11 807 ERAR FE TEEEEXESK 1 4.46.32
12 811 =ZE —B TEEEESR 3 | 45755
13 1398 =45 sk ERETIE R PR 13 | 5.11.77
14 1306 Sl BE 5EA/H 11 | 5.09.77
15 1682 hE A dt E 17 | 5.40.01
16 808 =18 TEEEESK 12 | 5.11.22
17 1304 LI $hiE 5EA8H 4 | 45911
18 1399 AE B ERETERPER 18 | 6.32.84
19 938 XAEE X2 2% [ 55 7Y 8 | 50372
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EH

BERES

TR

BEER

i B 44
1 181 =R 2 FERBTIER RER 2 | 9.41.66
2 361 REN P H 74047 32 H B M PR 1 9.39.15
3 172 FiEZ HAA = [ B3 = A iR 8 | 95855
4 130 A B AR AR (R E) DNS
5 173 oE EL ERBIIER R 6 | 9.56.44
6 175 Il =R TO M =R PSR 5 | 956.19
7 400 ERAK BT 5 0 g DNS
8 588 FaIER S BER R DNS
9 310 e EIRE _h 9 |10.06.52
10 53 Bl N 3 | 94803
11 185 =is IDAER EREMFERFFER 7 ] 9.56.70
12 303 AR B3 EIRE _mh 10 | 10.10.65
13 306 Gk & EIRE_—H 20 111.43.26
3000 1 14 1267 25 EA TEA AR 12 |10.48.22
15 192 FHE D =R ET I A DR DNS
16 1309 INEF S E JKiRs DNS
17 1310 INEOESA KR e 16 | 11.10.93
18 944 AH FEA IKIRE R 18 111.18.45
19 49 R BE T/hERe 17 [11.17.95
20 1524 HEE & T/ 15 |10.56.87
21 189 A BRI =AM R PR 14 110.51.50
22 1398 =45 st ERBIIER R DNS
23 1307 B FE AEAH 19 111.32.75
24 116 i = 1= By e g DNS
25 122 A sE3 =B AR 4 | 95554
26 123 H & i By h A g 11 [10.23.87
27 121 Bl X 1= 57 PR 13 [10.49.50
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EH

BERES

K&

R

BEER

i £—4
1 174 INEFIFAR TSR 21 [17.46.11
2 712 INITI=P N FRESK 6 |16.58.36
3 715 FIE —#t TFESK 17 |17.35.60
4 380 i 4 IRARE S 10 |17.14.86
5 114 ESpUEv]y Jb EmifER 14 117.21.54
6 272 ERR BER R[] B = 4K 1 116.33.07
7 314 SPH HAA RE [ K 8 |[17.07.78
8 744 ¥EE fEEk TEAM7 T LA 2 |16.39.73
9 216 =l [F& B A MRS 3 |16.45.19
10 153 NG REMEE— 5 33 | 21.27.22
11 48 A BER RERE PR 15 |17.26.48
12 50 e BA RERE B R DNS
13 298 =H Bt &1 7 117.01.00
14 270 NI 4T B8 TEAM7 T)LA 5 |16.54.64
15 417 KLU BTZE —Bi%E— 23 [17.51.43
16 707 FriE BEs) REFE] R DNS
17 514 ERAR Kz E0AER DNS
18 93 AtER— =F 8K DNS
19 747 AR LA EFERK DNS
20 84 — 2 EFER/K 18 [17.37.16
21 711 = e 2 aFBE#EK DNS
22 264 =S R[] B = 4K 16 | 17.29.91
5000 | 1 |23 265 ah ik R[] B = 4K 13 [17.18.79
24 407 AHEMAM aF 88K DNS
25 737 INE BN BRE DNS
26 798 2@ 1 BE [ T 3 S A 9 [17.09.29
27 625 N REEESRK 4 116.50.81
28 173 AH %F FRESK 32 | 205484
29 714 Fit B FESK 27 118.31.50
30 333 FHE i B [if] fh L 24 | 18.08.85
31 376 AR Hi— SIRARRER 11 117.16.23
32 120 = ’A b EmkER 22 [17.47.76
33 405 Tk AN —BE%E—- 28 [ 18.48.99
34 821 5 thid BEFEIKE 30 | 19.04.95
35 437 FE =H| TAHAHIRO RC 12 [17.17.08
36 117 ERAR %1‘ b EmfESR 25 118.17.91
37 259 INE G TEAM7 T LA DNS
38 686 E =njc R T RE R DNS
39 415 K —BiE— 26 | 18.22.11
40 819 BE KR EFEITRE DNS
41 406 NSE S =FBEK DNS
42 98 ‘g EFERK 29 [19.04.78
43 95 A= EFER/K DNS
44 977 =H s TIEFTESK 20 | 17.46.07
45 416 ik ELH —BiE— 31 | 20.00.25
46 524 HH ER 24 Ele 19 |17.43.33
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= L— | BEES K% iR 5 | B2 | 2
1 86 R A =2FBE% 6 |15.31.00
2 95 W HE TEER 2 115.17.66
3 303 ERAR AN B[R T AL S 8 |15.36.71
4 256 BK —HA TEAMZ T LA 5 11529095
5 12 o & TEAAC 10 115.39.24
6 145 mllkEAR MEAZFE) 7 [15.33.75
7 209 Bl A REXZHESR 3 ]15.26.56
8 155 =5 hE BEE—5 9 ]15.38.24
9 375 =23 EBh SORERRE 1 1145899
10 257 (DR TEAM7 T /LA DNS
11 124 oH E db _EmikER 4 115.27.45
12 315 il Bz R A 15 115.58.24
13 6714 —/Z D I 5% £ R (LLR) 13 | 15.49.39
14 3071 NEFFE TR SUWAPER (= ) 31 |16.46.28
15 2445 A MES S[ULB BB (=) 17 [16.07.08
16 616 = H_#hED BEFAE 11 ]15.39.62
17 377 RAlR HT SR ARE 12 [1542.17
18 255 it Nl TEAM7 TI)LA DNS
19 51 A Bm RERE PR 25 116.27.37
20 16 TEER {EEAC 33 116.56.50
21 14 EENIE2DN {EEAC 14 11551.77
22 26 Bl 558 TEEAC DNS
23 594 Bis BA REE= DNS

5000 24 219 KK FKF] BEXFEHESR 21 116.21.55
25 220 i R XEMESK 19 |16.08.14
26 222 HE JB R K2 MBS 20 ]16.18.83
27 320 BER K— R[] T 3L = 4 26 |16.31.78
28 6087 =55 B¥ R FI| A (S A (E P17 (R ) DNS
29 296 Fh G &L DNS
30 263 xR BE TEAMZ T )L A DNS
31 118 ik B b ETkER DNS
32 163 T = FEE 24 116.25.85
33 325 T B B T AL S AR 18 116.07.49
34 330 =5 fE REFH T 3L S 4R 28 [16.37.28
35 98 NS TEER DNS
36 213 K B TryAgainRC 16 | 16.05.81
37 724 B3 sk RER R = 35 [17.10.06
38 386 i E— KIETRE 23 116.22.97
39 32 HE Z5t BoeiX 22 116.21.86
40 312 Rk B R[] T 3L =A% 29 116.38.48
41 374 = ETFEHEK 32 116.46.70
42 271 B &R %S TEAM7 T )LA DNS
43 442 Wik A REEE= 27 116.33.89
44 389 M B I BT R 175 30 [16.39.40
45 328 ERAR EXH BRI T AL 24K 36 |17.17.40
46 329 V1 ) BRI SR 34 117.06.75
47 797 TS RE [ h 3 = 1% 37 117.39.07
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EH

BERES

K&

TR

BEER

it Z—%
1 504 55 RE BEFKRF 8 110.36.92
2 627 =58 _FEE BEFKRFE DNS
3 296 Fth R eI 5 110.33.72
4 594 25 EA R 55 = 4 1102534
5 175 £k FiE TEEHK 3 [10.09.44
6 854 IRE i R HE R R 17 (FA ) 1 9.56.72
7 371 KF EH T B BBk (FLE) 11 [11.02.60
8 16 FEEH TEEAC 2 |]10.07.10
9 277 INEE BHE R = A 9 110.44.77
3000SC 10 3 1R AR FZEBERAAR 6 [10.34.32
11 298 =H B E&d 7 110.35.64
12 407 a2 BA —BE%—- 12 [12.28.84
13 210 K& A5 R KXEMESK 13 [11.38.19
14 221 =8 BE REAXZHESK 14 |11.51.54
15 887 I BR RERAE — 5 10 | 11.00.42
16 150 IR HES MHBEXZ(TE) DNS
17 214 HEA REEXEMESK 17 1123357
18 445 KA _Et REFE = 15 111.53.34
19 226 I\NER EEF EELFEESK 12 [11.33.35
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EH

BERES

K&

R

&

=4
1
449 NE&H =#H BRI PR 7 46.01 2
450 ik —F FLRTR A 7 46.01 4
9 452 ik 1EE BRI R 7 46.01 1
454 = 1% £ BRI PR 7 46.01 3
318 Y£H ZB8 R 8] T 3 = 45 6 44.80
319 2E OEE B [ T 3 S 6 44.80 4
3 327 ZEEE 3L B [ T 3 =4 6 44.80
331 RESEEES B8] T 3 = 45 6 44.80 2
332 W= EX B[ T 3L S 6 44.80 3
794 [k N B8] v 3 S 43 6 44.80 1
290 HREE Y EXZEE) 1 4157 2
790 HOEE FUEKXZ(FAHE) 1 4157 4
4 456 & FAEKZ(FAE) 1 4157 3
145 EEEE A KFFEE) 1 4157
795 {ER AT FAUEKXZ(FAE) 1 4157 1
4100 96 Ml E2 TEETA 5 43.60 1
97 ERAR EE TEBEA 5 43.60 2
5 99 =iE EeT TEATA 5 43.60 4
100 B fEiE TEETA 5 43.60 3
102 RiE Bl 1EAHA 5 43.60
559 INEL Z4Y AFKE 2 41.79 3
4 NX R BFRF(FA) 2 41.79 4
6 17 WIEH AKX ESFKFFE) 2 41.79 1
572 I it BFKE 2 41.79 2
268 INR BE R [ B = 4K 4 43.30 3
276 & A= BE B B = AR 4 43.30 2
; 717 HIE BA % [ B = 4 4 43.30 1
727 PRiE TEME BE [ = A 4 43.30 4
456 HiaR &R 3% ] 55 7Y 3 43.21 1
455 Fik B2 AL 3 43.21 2
8 457 L BT R [if] 55 7Y 3 4321 4
454 A8 & B2 [E] 55 7Y 3 43.21
937 FE RKX AL 3 43.21
941 JIF EIL R [ 55 7Y 3 43.21 3
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EH

BERES

K&

R

BEER

B £=4
590 FiE IRth &4 2 4557 1
592 FEkE = &4 2 4557 2
’ 295 Fik BB &I 2 4557 3
593 ERAR RFE E&dr 2 4557
591 RE BEAN et 2 4557 4
521 AH B BERE It DNS
525 L 2= BERE L DNS
5 835 ER RE =230k DNS
837 B}/ B B2 It DNS
839 +F1H #WE BERE L DNS
552 INR R TEEmE 4 4598 2
556 TH sl E&m 4 4598 3
2 554 =iE A A=) 4 45.98 1
555 FH X TEEmE 4 4598 4
894 AH BEA 1EEmE 4 4598
895 =5 SE &R 4 4598
103 NI R 1EE®B 7 46.95 2
104 K & {EA&HB 7 46.95
4 105 BiE - TEAHB 7 46.95 1
107 =X =) 1EE®B 7 46.95 4
108 KETFE BHE {E&HB 7 46.95 3
4%100 225 2= iR A0 dt L -mh e 3 4578
228 1R AKRERL Jt L -m R 3 4578 2
5 226 Ae N Jt_E - B 3 4578 1
229 FHEN it £ - 3 4578 4
239 =HFF Jt L -mh e 3 4578 3
617 BAF Fif R—LT3/TC 1 45.17
618 i K R—LI3/TC 1 45.17 2
619 =g M= R—LTa/TC 1 45.17 1
6 620 211 =5 R—LII/TC 1 4517
621 =H 15 R—LII/TC 1 4517 4
692 i £ HR—LTa/TC 1 45.17
653 gl BRA FR—LIO/TC 1 45.17 3
156 SR AR REE—5 5 46.13 3
159 HH A REE—5 5 46.13 1
. 160 EED B REEE—5 5 46.13
889 =iE 1% REE—5 5 46.13 2
890 m ERA REE—5 5 46.13 4
891 =F 1553 REE—S 5 46.13
196 Fith X KRB ESK 6 46.29 2
197 Bk Y IR E S 6 46.29 4
8 844 FH H ONGETS L 6 46.29 1
843 PN KRB ESK 6 46.29 3
842 it [F IR E S 6 46.29
931 ERK 1A KREESK 6 46.29
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BRES K& & &= s ;
931 &Il B KRB ZERA 7 49.80 4
932 AH E=1h KGR A 7 49.80 2
937 B2ig i KR R ERA 7 49.80 1
1702 BRiE N KR ERA 7 49.80 3
690 R ML BB SE 2 4754
692 alll XiE E ISR 2 4754
693 INE BBt ErIBER 2 4754
694 (=TI ETIBER 2 4754 1
695 T %R E IS 2 4754 2
696 J\EZ ETIBERE 2 4754 4
924 AF E3 BEAI—L(F—T) 4 48.25 4
925 Tk BN B RI—L(A—T ) 4 48.25 3
926 ERR BAR B RI—L(F—T) 4 48.25 2
679 FH #F BT ER(RI-LE) 4 48.25 1
609 BiE hED LEREER 5 49.17
776 AT ER =it LRREER 5 49.17
777 A RER LRI EER 5 49.17
779 Al HAO= REREER 5 49.17
780 JEPEE ARA RFRAER 5 4917 1
978 ERR KK LRBEER 5 49.17
622 alll #3 R[] 789 3 = A DNS
627 kg B ¥ [ 7 3R = A DNS
628 AR BK EEEEER DNS
918 RIU RE R[] P8 3 = A DNS
616 BH &5 TEEEEXESK 1 46.46 3
615 T REDN TEEEESK 1 46.46 1
611 A B EEEESK 1 46.46 2
617 FER IE# TEBEEDR 1 46.46 4
674 it Thik 1= BP AR S A 6 49 54 2
872 INE B = B AR g = A 6 49 54 3
871 INER il 1= B Ik IE S A 6 49 54 1
873 wE = PP RR I = 45 6 49 54 3
302 Eih H& ERE 3 47.56 2
307 Hff = EIRE 3 47.56 3
306 kg & FERE 3 47.56
301 /INEFR Bt ERE _mh 3 47.56
300 HiR —%& ERE_mh 3 47.56




EH

BERES

K&

R

BEER

-] =5
177 =H EBX TESK 1 48.99 3
710 WL 188 FEEK 1 48.99 4
: 713 £H BE FEEK 1 48.99
711 INEPEF B TR 1 48.99 2
176 EE Kih TFEEK 1 48.99 1
960 B fOpE IR ERB 2 49.71 1
946 Eil B HKRE P ERB 2 4971 3
» 945 BHl KF KRR ERB 2 49.71 2
948 LiE =55 KRB ERB 2 49.71 4
371 PN it EdhA 3 49.74 3
369 ERR #3E it _E A 3 4974 1
3 372 N S Jt LA 3 4974 4
370 =iE &/ it A 3 49.74 2
955 AK B KR ERC 6 53.60 1
952 ik a1 le JKIREAHRZERC 6 53.60 3
4 950 ERAK HhE KRB C 6 53.60 2
957 FE —®& KRB PZERC 6 53.60 4
4100 953 e MEA KRB D 5 52.59 1
947 =k 2X JKIREARZERD 5 52.59 2
5 1427 thEE 53 JKR B 4D 5 52.59 3
1424 R 3 JKIRE R ERD 5 52.59 4
825 NSy TEAM BRIg 4 52.23 4
827 B BREB TEAM BRI& 4 52.23 3
6 828 ik fhit TEAM BRI 4 52.23 2
830 B Bz TEAM BRI 4 52.23 1
377 LH BE Jt E&B DNS
378 =% A it £ B DNS
; 373 PR = EE it B DNS
374 FaER A Jt E&hB DNS
1269 N AN TE& hege DNS
1270 ERAR XK TEE PR DNS
8 1268 ZEMA EHIL TEE PR DNS
1387 g R TE& g DNS
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L L—> | BRES K4 PR B | R&R | ;o
1 221 B M RY R T 3L & 6 13.12 +0.3
2 216 BiE XAT ¥ 8 T 37 = 4% 5 13.08 +0.3
3 77 £ ¥R BEFKRE 3 12.87 +0.3
4 1091 2 LsF FHEXZFGEAE) 1 12.48 +0.3
5 73 ¥1H BX BEFXE 2 12.78 +0.3
6 428 XA BEAE =EFE 4 12.89 +0.3
7 564 ERA BE LR F R 7 13.16 +0.3
8 217 HO =7y RBE [ T 3L & 4 8 13.50 +0.3
1 170 EH B3F ERMET ER PR 1 13.37 +0.6
2 1204 REFE FEXZEFE) 3 13.81 +0.6
3 695 INER Xk 1EEE 5 13.98 +0.6
4 456 ZO M TEEmE DNS
5 460 IS 1EEm DNS
6 455 i B 1EEm 4 13.84 +0.6
7 1147 BEeE LB TEEDER 6 14.18 +0.6
8 55 XE BEF T/ 2 13.68 +0.6
1 563 HE ¥4 REEE—5 4 13.76 -0.6
2 309 ik EEE% —Bi%E— 2 13.51 -0.6
3 330 mA _F1E R[] 55 = DNS
4 140 AR EAETE FERR 1 13.12 -0.6
5 314 w1 —Bi%E— 3 13.63 -0.6
6 215 &8 0 it E - 6 14.21 -0.6
7 270 THE 1t@ EIRE_mh 5 13.96 -0.6
8 143 ERRK BEE BE [ K 2F M B S A 7 14.43 -0.6
1 60 Ak kE T/ 8 14.27 -1.8
2 471 Ay B¥ AEA/H 3 13.91 -1.8
3 2717 FiE XF= EIRE _th 5 13.96 -1.8
4 405 ERAR BB b | 20 1 13.38 -1.8
5 181 AR BHE R [ B = 4K 2 13.83 -18
6 635 Lk faE E0EX 4 13.93 -1.8
7 51 AR B JKiRs 6 14.13 -1.8

100 8 329 T8 =T BREE= 7 14.22 -1.8
1
2 353 Eik fLZ REFE) 55 7Y 5 14.43 -1.6
3 344 E A &;éu R [if] 55 1Y 3 14.06 -1.6
4 1011 XE & EERZHD DNS
5 418 b= e ‘fﬁJ% AT P2 2 13.95 -1.6
6 419 ]} Ek BRI PR 6 14.47 -1.6
7 345 B BE R[] 25 70 4 14.16 -1.6
8 214 ErRRK BX BX [ 3L &4 1 13.68 -1.6
1 424 e = E0EK 6 14.18 -1.9
2 1379 TR MIE T/ 8 14.26 -1.9
3 228 B K ¥ [ T 3L =4 7 14.26 -1.9
4 222 FIER HEE A=A 3 14.03 -1.9
5 226 EH S RX R T 3T = 4 1 13.82 -1.9
6 227 s g ¥ [ T 3 = AR 2 13.82 -1.9
7 1091 ERAK ¥ Khdb ks 5 14.17 -1.9
8 220 [DEIE S db_E -m R 4 14.16 -1.9
1 213 ME¥E b b -EPEKR 7 14.56 -1.8
2 182 BT #Ex BE [ B = A 2 13.79 -1.8
3 46 BiE ¥ KR e 3 13.91 -1.8
4 33 =ik Bk KR e DQ
5 223 R A ME Jt L - 6 14.42 -1.8
6 1157 INEFE P JKiRs 5 14.07 -1.8
7 58 JLH #m T/ 4 14.04 -1.8
8 189 *ﬁ" A R S 1 1343 -1.8
1 76 =3 1% BEFKE DNS
2 147 IR {‘i RE [ K2R = AR DNS
3 653 XA BEiE —BiE— 5 14.43 -0.3
4 1104 EE BIAE EERER 4 14.27 -0.3
5 34 Rl DEH JKiRH 3 14.23 -0.3
6 131 Rl Z=4& ONGEISL 6 14.46 -0.3
7 1124 INEFSF {BTE FET 2 14.10 -0.3
8 167 WE hE EREMNERPRER 1 14.09 -0.3
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BE | 4| | eass K4 iR 5 | 2 | 2
1 406 B4 BAE P[0 3 13.95 —0.1
2 66 =iE iR T/NE& G 6 14.31 -0.1
3 559 = A 7 LY F R 7 14.47 -0.1
9 |4 431 =0 % B[ At 4 1. 1401 0.1
5 1166 M JKIRH 2 13.92 —0.1
6 416 AR ik FAIE S 1 13.38 -0.1
7 1451 A IR R AR 8 14.71 -0.1
8 727 NE ETE FHPER 5 14.12 -0.1
1
2 613 BEE ZBi0 RERE T AL = R 4 15.16 -2.1
3 218 FE DE A=A 3 14.65 -2.1
10 |4 1098 /R HFR TEEh2R 1 14.16 -2.1
5 1442 Ep s EIRERER DNS
6 1444 kg K RS DNS
7 219 AR B RX R T 3L = 4 DNS
8 616 REH X B [El T 3 & 4 2 14.51 -2.1
1 331 BE KRB REE= 4 14.73 -23
2 1437 WH FT& K ik s DNS
3 199 EED i AL 5 14.76 -2.3
11 bt 1384 ik D’E T/ 7 14.92 -23
5 101 B 1 FERE&R 3 14.46 -23
6 483 =K THE R 6 14.91 -2.3
7 347 N EhTh vk 1 14.24 -2.3
8 468 i BT EE48% 2 14.34 -2.3
1 181 EE FLETIEA PR DNS
2 634 EARK ZE FHEK 2 14.24 -1.2
3 214 B = 4t £ - B R 3 14.60 -1.2
12 .3 275 ik X& ,EEIR%"EP 4 14.72 -1.2
5 312 INEPE I —%E 6 15.26 -1.2
6 1378 XA EH ‘FIJ\E%EP 5 15.25 -1.2
7 216 SHAEXR Jt £ Bk 7 15.44 -1.2
100 8 173 Hi &5 FERALERARFR 1 14.17 -1.2
1 812 T FE TR B R A 2 14.16 +0.1
2 473 ki =R AEA/H 5 14.56 +0.1
3 1099 P R4 TEE PR 7 14.80 +0.1
13 |4 728 PR AP 6 14.69 +0.1
5 432 %E BHAE ﬁl‘l:ﬂ: DNS
6 660 B #E —EE 1 13.83 +0.1
7 348 =2 & :|tJ:EP 3 14.20 +0.1
8 813 =H &b IR AR 4 14.42 +0.1
1 219 FEE M, Jt L - 6 15.01 -0.7
2 357 WE = Jt Eh 5 14.93 -0.7
3 557 &Il HBE IR F R 3 14.67 -0.7
14 |4 221 ING]IIEB Jt L -m e 7 15.24 -0.7
5 180 HH XfE ERMTAER PR DNS -0.7
6 1110 Bk B L2k 4 14.71 -0.7
7 560 ®RiE LR F g 1 14.34 -0.7
8 315 Bl %A —BiE— 2 14.55 -0.7
1
2 197 AE 5 EEd 5 15.16 -1.6
3 720 OEE BB L HPER 1 14.88 -1.6
15 |k 222 ERARE Jt L -E R 7 16.07 -1.6
5 224 TEIRE it £ -F R 2 14.89 -1.6
6 169 k& £ FREFERFER 3 14.98 -1.6
7 1097 SHE UG- TEEPER 4 14.99 -1.6
8 1137 E*\EE’I\ :II:J:-WP%& 6 15.39 -1.6
1 687 BK EIE RE [ 55 — 2 14.44 —1.1
2 285 M EIE 5%5R’?;€:=P 6 14.98 —1.1
3 1160 Hh & JKiR e 7 15.23 —1.1
16 |4 1139 EBEEE Jt £ B 8 15.23 —1.1
5 50 A =1t JKiR s 4 14.62 -1.1
6 40 NGy B KR 5 14.73 -1.1
7 651 FH KR REMEE= 1 14.14 -1.1
8 577 H =+ B [ B = 4% 3 14.57 -1.1
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BE | 4| | eass K4 iR 5 | 2 | 2
1 807 i Us JKREE 6 15.16 -1.4
2 1484 ZEik biE Jt £ 1 14.41 -1.4
3 43 ke &5 JKiRH 3 14.78 -1.4
17 |k 1094 Bz R 1B PR DNS
5 1103 i ZIR fEE g 7 15.46 -1.4
6 562 S THF PR 4 14.91 -1.4
7 624 =)l =Bx 5L 2 14.65 -1.4
8 460 INE EARF EER/Y 5 14.98 -1.4
1 644 A & REfE L 5 15.14 -1.4
2 108 2l & TR 7 15.35 -1.4
3 1138 AN Jt £ Bk 4 15.12 -1.4
18 |t 1385 [N T/ 6 15.23 -1.4
5 188 +XF 28 B [ B = A 1 14.54 -1.4
6 1140 RPN EF dt E -F R 3 14.79 -1.4
7 724 FE Rz EHRPER 8 15.64 -1.4
8 562 SRS FESK 2 14.60 -1.4
1 1199 ERkILAE ERE _th 1 14.41 -1.0
2 49 FH ¥H JKiRH 5 15.13 -1.0
3 217 = h A it £ - 4 15.10 -1.0
19 |.d 52 =5 EE JKiRH 2 14.66 -1.0
5 282 EH ZBH EIRE _mh 3 14.79 -1.0
6 748 N BE —BiE— 6 15.20 -1.0
7 1111 =JH =EK L Epohsigs 8 15.66 -1.0
8 1159 Hih M= JKiR& 7 15.21 -1.0
1 1265 = B R R 2 14.74 1.2
2 313 FE A —BE— 1 14.43 -1.2
3 561 A EFK IR FHRER 5 15.29 -1.2
90 |t 53 hE R T/ 8.].1582 -1.2
5 44 =E HR JKiRH 6 15.36 -1.2
6 175 BA 8 E=RBANERRER 4 15.11 -1.2
7 1197 ERK B EIRE_mh 7 15.44 -1.2
100 8 659 kB B —BE— 3 14.80 -1.2
1 1092 EH B5 B ¥ 4 15.46 -0.5
2 726 M E L HABER 8 16.08 -05
3 621 P Ep EAAK 1EEd 5 15.67 -0.5
21 |4 581 iE BFIA B E K F MRS 2 15.06 -05
5 1105 :F’,’a Al L TEA AR 7 15.95 -05
6 592 Eapi) Hﬂ%%ﬁ PRI = 4% 1 14.35 -0.5
7 1198 &2 AFIR EIRE 3 15.09 -0.5
8 107 ETEE%:H TFESK 6 15.90 -0.5
1 59 e B T/ 8 16.15 -1.2
2 1245 EHE X FERBTIE R PR 2 14.79 -1.2
3 1298 =2iE 2& TR A 3 14.99 -1.2
99 | 1416 EE AR L F g 5 15.40 -1.2
5 1447 =S EIRERER 7 15.86 -1.2
6 596 BB X B B RAIESIK 1 14.77 -1.2
7 145 Wi F%8 B XEMESK 6 15.85 -1.2
8 1391 I EE LR 4 15.35 -1.2
1 1158 UNGEREEY JKiRH 5 15.90 +0.4
2 1390 P =T L E 2R 6 16.09 +0.4
3 474 k& EAR A58 H 8 16.63 +0.4
93 |t 174 Al =g ERBTIER R 3 15.47 +0.4
5 178 M =i ERBTIER R 7 16.10 +0.4
6 1162 FE =K JKiRs 1 14.46 +0.4
7 1392 AR E L Eohzik 2 15.19 +0.4
8 563 INER HiE ITHFHER 4 15.72 +0.4
1 272 iR B ERE _th 5 15.91 -0.2
2 1246 =k Hhy FERBTIERRFR 1 15.11 -0.2
3 38 =48 KiE KR e 2 15.27 -0.2
94 |... 1161 BEBROET KR 3 15.78 -0.2
5 283 e CES EIRE M 7 16.24 —0.2
6 1418 =R ES STRYF g 8 16.45 -0.2
7 1433 b1 iz Kt g 4 15.89 -0.2
8 472 EER F0TE 5548 6 16.03 —0.2
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#E [ #]|.—| agEs E£ il 5 | B8 |
1 123 _BEA IR DNS
2 1244 fHHE BRI ERBMFERPFER 5 15.98 -0.2
3 1530 HmE A dt Ech 4 15.65 -0.2
95 | 1381 AH &% T/hEg e DNS
5 546 S ETIBER 1 15.15 -0.2
6 547 TH 2R ETIBER 2 15.44 -0.2
7 1537 oH ¥E k.t 3 15.51 -0.2
8 462 HH =8 EER/Y DNS
1 1261 AH Ef =B RS 8 17.33 13
2 810 FE #N TKRE R 6 16.52 -1.3
3 1415 BiE Wit IR F R 7 16.58 -1.3
100 | 26 |4 743 hE 28 ELEEEK 3 .1.1573 | -13
5 617 EH _Z#xE TEEREER 2 14.86 -1.3
6 1095 N2 FRH EERZFR 5 16.46 -1.3
7 1249 M| = FERBTILER PR 1 14.85 -1.3
8 1534 FH & bk 4 16.22 -1.3
1
2 1262 IZNER B mE R 6 | 17.30 -0.3
3 1153 fall &% AEA/H 3 16.08 -0.3
97 1151 H+E Fi AEA/H 5 16.91 -0.3
5 1155 PRl s aERT 1 15.37 -0.3
6 1247 R K5 ERBMFERPFER 2 15.38 -0.3
7 719 R T L HPER DNS
8 505 ERK ER EEEESK 4 16.32 -0.3
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L L—> | BRES K4 AR B | mB& | ;o
1 75 INEF ISE aFXE 5 27.31 -1.2
2 414 {EBE ME FAE SR 6 27.46 -1.2
3 77 2 EH aFKE 3 26.68 -1.2
4 73 #H BX 2EFRF 1 25.94 -1.2
5 140 REERREE fEEMELBRRS 4 27.22 -1.2
6 1011 X2 o= EEXZ(HID) 2 26.44 -1.2
7 170 EH B3F ERBT R A R 7 27.58 -1.2
8 405 ERXK B t EHE DNS
1 46 B ¥ JKiRH 6 28.67 -1.8
2 55 KiE FHEF N 5 28.62 -1.8
3 144 =iE &1t 5.¥I‘l7t—7—ﬁﬁl§.—;h 4 28.29 -1.8
4 13 oA &5 B J\BEmE FiRe 1 27.75 -1.8
5 635 ik fHix EHEK 3 28.23 -1.8
6 277 Bk E3= SRS — 2 28.08 -1.8
7 213 )1 imfE B it £ -F R 8 29.44 -1.8
8 1091 ERK I+ Ktz 7 28.89 -1.8
1 314 LTINS —BEE— DNS
2 329 Ih =hF REE S = 3 29.36 -1.0
3 1104 =B mAE EERER DNS
4 51 = JKiRH 1 28.40 -1.0
5 455 Epul: ¥ Y (A=d:a] 2 28.65 -1.0
6 695 J\ER X 1EEm DNS
7 1093 INEPRRAC FEXZLE) DNS
8 152 AR TEB ELFESK 4 29.42 -1.0
1 181 A# B5EZ R[] B = 4K 4 28.87 -0.5
2 58 ItH M= T/ DNS
3 563 HE ¥4 REMEE— 5 DNS
4 220 T“BEE'IA it E - 3 28.62 -0.5
5 424 B =3 ZEAREK 1 28.25 -0.5
6 147 INE R 1_% %I‘Jx%ﬂﬁﬁ.—,h DNS
7 416 BA Stk FAE SR 2 28.53 -05

200 8 60 Nk k& T/hEgsh DNS
1
2 728 e iR L HABER 6 30.41 -15
3 223 R A ME Jt L -E e 4 29.88 -15
4 1097 mHBE O EERER 7 30.44 -1.5
5 1098 B HR TEA AR 2 28.56 -15
6 746 fERA E=E tlEEEak 5 30.14 -15
7 634 ERK &3 ZE0EK 3 29.87 -15
8 309 tkfk EHF —BiE— 1 27.66 -15
1 167 Hib[E T EAMET ER PR 3 28.98 -1.4
2 315 T —BiE— 4 29.80 -1.4
3 471 Xy By AEA/H 1 28.30 -1.4
4 1379 A M T/ g 2 28.34 -1.4
5 1451 Bk TEE R A 7 30.09 -1.4
6 406 B4 BIE |20 DNS
7 313 FE A —BiE— 6 30.07 -1.4
8 214 B BB db_E -m R 5 30.04 -1.4
1 1111 =H EK LHh2k 7 32.56 -1.6
2 97 =H 58 R E—5 2 28.43 -1.6
3 353 kg WE ﬁﬂ;sl 4 29.22 -1.6
4 181 = TE =AW E A P DNS
5 345 HA HfE X [if] 55 7Y 3 28.67 -1.6
6 347 LA ED R [if] 25 Y 1 28.18 -1.6
7 354 K FEE R [t 5 7 6 32.03 -1.6
8 1110 #E 2= EH R 5 30.63 -1.6
1 1143 GRH ZUH TEA AR 7 31.49 -0.8
2 50 BH 51t KR 4 30.24 -0.8
3 285 i HF1E EIRE _th 6 30.71 -0.8
4 557 &Il HBE IR F R 3 29.97 -0.8
5 660 EE #fE —BE— 1 28.91 -0.8
6 67 BiE Xk T/NER G 2 29.26 -0.8
7 43 ki &4 KR e 5 30.37 -0.8
8 218 TE DE RIS DNS
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#E | 4| .— | 2a8s E£ il | mBm& |
1 173 Hft &5 FERMERPER 1 28.71 -0.9
2 53 n= EiE T/ 7 32.27 -0.9
3 271 a2l K32 EIRE— 3 30.30 -0.9
o bd.]..1148 e B TEERTR 6..1.31.44 =09
5 559 = A fHF IR F R 4 30.36 -0.9
6 468 e B9 £E48H 2 28.82 -0.9
7 278 KR LE ERE—S 5 30.87 -0.9
8 145 g F5 BE ) K M B S A 8 32.32 -0.9
1
2 52 BN EE KR e 3 30.55 -0.1
3 592 it BHEES FAFE S 1 29.70 -0.1
10 |4 40 & BEXR KR 2..1.3035 0.1
5 217 EHEAME dt £ - B 4 31.81 -0.1
6 219 TiE 1, dt E - DNS
7 224 TR it £ -F R 5 32.86 —0.1
8 653 xXE Efg —BE— DNS
1 222 ERARHE Jt £ - Bk 5 33.12 -0.7
2 1298 =E.2E IKIRE AR 1 30.58 -0.7
3 49 FH ¥EXH JKiRs 4 32.23 -0.7
11 fd 1141 WAES Jt L - hsERs DNS
5 44 EE PHR JKiRHh 2 31.43 -0.7
6 1093 AE Ei TEERER 6 33.32 -0.7
7 312 INEFE I —RAEE— 3 31.86 -0.7
200 8 59 e EK T/ 7 | 3335 0.7
1
2 221 INR]IIEB Jt L -m s 3 30.77 -1.1
3 45 RPN JKiR e DNS
12 |d..]...1139 EBRE ALt - F R 5..1.3145 -1
5 1140 REPEF db_E - B 2 30.47 -1.1
6 1138 AR N dt £ - Bk 4 31.19 —1.1
7 283 HKHEH BE ERE _th 6 33.24 —1.1
8 618 BE 2 EEEESK 1 29.27 -1.1
1
2 1137 EIERR it b -E 1 31.48 -1.5
3 180 hHE XE FERBTILER PR DNS
13 |4..].....1830 B2 AR L 3.1.3272 | -15
5 1537 aH By dt b 2 32.67 -15
6 178 W =iE FERBTIER PR 4 33.28 -1.5
7 1152 INgEE 3k EEAH 5 34.93 -1.5
8 1154 BRI BEK EERHF 6 37.07 -15
1
2
3 1246 =k Hhy ERBTIER R 3 31.67 -1.7
14 |4 1245 E RS ERBTI R R 1 29.99 -1.7
5 1244 HHE BRI FRHEMEAHFER 5 32.16 -1.7
6 1247 ER &5 EREERPER 4 31.80 -1.7
7 1249 M = ERBTIER R 2 30.45 -1.7
8 1381 fH B% T/ DNS
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#mE (4] .— | z2a8s K4 iR = | =% | 2

1 457 =ie MR fE&mE 6 | 107.97

2 7 JIR ETh FETR P 5 | 1.02.46

3 13 A B B J\BEHREEHR 2 59.73

i |4 92 R a1t BARBAR 1..1..59.30
5 216 Bl EARF R T 3 S A 3 | 1.00.55

6 221 B e BE [ T 3L =4 DNS

7 414 ke ME FAIE S 4 | 10152

8 346 INEFRREK MEXZFWWR) DNS

1 215 S RE [ T 3L = 4 3 | 1.03.74

2 144 =iE At ERAZHESK 1 1.02.61

3 182 #E HEx R[] B = 4K 5 | 1.06.11

9 |4 281 Ak 2 ERE_H 2 110312
5 596 BB X R ,RJ?LI%.—.& 7 1.11.30

6 183 R+ BE R ] T o X 6 | 1.08.14

7 735 AR [EIA, L PR 8 | 1.11.78

8 214 ERRK &% BREHILEK 4 | 1.04.55

1 430 INFR Rl RERE L 5 110575

2 424 Bis =M E0X 6 | 1.07.05

3 227 WhiE #x RX R T 37 = 58 4 | 1.05.61

400 3 4 226 S R¥ [ T 3L = 4% 2 | 10359
5 428 LG E RERE AL 3 110549

6 217 HO =7 X [ T 3L =4 DNS

7 324 #E ﬁiv REE= 7 | 1.0855

8 563 HE ¥ REE—5 1 1.02.77

1 223 it = BX [ T 3L =4 DNS

2 654 INEFZE B —Bi%E— 4 | 11157

3 616 REH X4 A=A 5 | 1.11.59

4 4 219 xR Bz B[ T 3 = AR DNS
5 222 FIER HEE RE R T 3L = A 2 | 1.08.67

6 228 Bif K REME T I S 3 | 1.09.99

7 347 ) R[] 25 70 1 1.06.85

8 62 =H ¥ T/hE& e 6 | 1.13.26

1 657 R KE —BiE— 7 | 1.12.39

2 652 FAIER 238 —BEE— 2 | 10892

3 678 fERAKR IR 1= B iR = A 3 | 1.09.03

5 4 229 HE 2 X i8] T 3L = A DNS
5 613 A % 8] T 3L = AR 5 | 11093

6 357 WE Xk v £ 6 | 1.11.24

7 750 EE RE —BgE— 4 | 11050

8 656 I YAH —BEE— 1 1.08.55
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#E 4| — | sgEs K4 iR 5 | 2% | 2
1 54 A Bx N i 4 | 2.30.94
2 256 RiZ Nm =5 H PR 7 | 2.48.56
3 66 eSS TEER 2 | 227137
i |4 92 EE Bit HARBART 1..1.21504
5 215 &8 0 Jt £ B R DNS
6 281 THRES R FE) S A% 3 | 2.30.54
7 1383 EHE =8 T/hEge 5 | 23268
8 85 B X4 TEE R 6 | 2.46.63
1 696 INER BF 1EEm 6 | 2.34.60
2 84 =g Bz ?E%EP*F& DNS
3 94 ik ER RE ] 22 1122865
5 |..A 688 B BN BEE—= 5 122996
5 110 SH B\E BFXRE 3 | 22947
6 355 =0 ki RE [ 28 7Y 4 122985
7 3 @2 SRR 2 22935
8 939 INEETHRE fRe g 7| 2.37.11
1 747 EAK B TEEAEESR 4 | 24167
2 255 =Y =B B hEe 6 | 3.0068
3 62 ol ¥nh T/MER 5 | 25153
3 4 75 = i AR DNS
5 560 EBREF FEEK 2 | 2.36.51
6 561 A S FRESK 3 | 239.30
7 364 =A BN R[] 25 7Y 1 2.35.62
8 225 —HER JEE-EhER DNS
1
2 657 ER RE —Bi%E— DNS
3 459 =5 Bz 1EEmE 6 | 24065
4 4 284 )l 28 IR ‘EF' 2 | 23545
5 655 Hih —BEE 1 2.33.25
6 218 AERE R :II:J:-%EF'?*?& 3 | 23849
7 4 B0 & REERER 4 | 23876
800 8 654 INFE BN —BE— 5 | 23943
1
2 38 =45 KiE JKiRs 5 | 24542
3 1125 ERAR iR Kt 7 124177
5 4 1146 f2i HE TEA PR 1 2.35.35
5 146 AAR @an AL RS K 3 | 2.38.47
6 354 K _FEE REE 55 2 1 2.36.12
7 739 3 JELS bR 4 | 24273
8 69 LR T/hE& 6 | 2.46.47
1 1145 FIE RK EERFER 5 | 24997
2 183 R EBE R[] B = 4K 2 | 23957
3 1248 =R ELE] ERBIIER AR 4 | 24530
6 |2 102 B IESE FEEK 8 | 3.08.25
5 105 kB il FEEK 7 | 30276
6 678 fERAKR IR =T ZIESE 3 | 24250
7 327 TRREE FA REFAE = 1122849
8 42 28 LB JKiR& 6 | 2.59.09
1
2
3 470 ft+E BHE EEAH 2 | 25721
7 |4 745 L) TELEEER 4 131933
5 279 FHih /K EIRE _mh 3 | 3.00.71
6 1165 BH =4 KR e DNS
7 1380 A =k T/NER 1 2.51.41
8 1485 yH EF it Eh DNS
1
2
3
8 4 1495 KA ¥x L HPER 3 | 3.00.06
5 1533 =5 BRiE dt £ 2 | 3.00.00
6 1412 ZI| #EK ST F R 4 3.02.67
7 1413 it EE IHF PR DNS
8 1197 ERK B EIRE_— 1 2.55.80
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EH

BERES

BEER

L= F)?E % +—4
1 66 ) TEER 8 | 5.05.20
2 61 KJI B%é’éé’ T/NEgH 5 145827
3 54 BEA 1L EAR 3...].4.94.45
4 275 AFEFIRE R[] E A 1 | 44802
5 280 BHEE R[] S A 4 | 456.60
6 277 HihE R [if] S A% 11 ] 511.64
7 224 SR RE [ T 2L S A 2 | 44865
8 548 Fix 2 ik e skt 12 | 51554
9 549 L B2 iy Yaskeatind 17 | 5.22.98
10 80 FHEFERD HEANLL 20 | 5.27.43
11 57 wih ki T/EEH 6 | 50057
1 |12 1383 EH =8 T/hEgH 10 | 5.10.45
13 54 A B’m‘:k T/hEg 7 | 5.04.29
14 63 HaRA BE TEER 16 | 5.22.24
15 85 BRI %% TEEPZER 22 | 5.47.78
16 59 FHh B TEER DNS
17 60 BF 124 AR DNS
18 125 AR AN PANEE R 18 | 5.23.42
19 268 PHAEZE R ] AP A 21 ] 5.40.93
20 261 RIEER R[] bk 19 [ 5.27.30
21 262 ABEx R it A% 14 | 5.20.75
22 94 T Ex REEE—= 9 |50652
23 415 e H. 5 BHNE K 13 | 5.18.65
24 1144 tEpE EfE EBERFR 15 | 5.21.10
1500 1 256 £Z Bm =5 E PR 21 | 5.36.44
2 622 INHE #E = 23 | 5.47.70
3 626 (SRR R 28 = 16 | 5.27.47
4 284 | =8 ERE_—_h 6 | 51522
5 218 ABERAR b b-EPEK 9 152230
6 84 =g Bz EERER 5 |5.1332
7 225 Ak FZE X [ T 3L =4 11 | 5.24.43
8 280 BER BE BERE_F 20 | 5.34.07
9 225 =RER db L - 25 ] 6.00.75
10 1435 npE BE EMALPZER 22 | 54123
11 259 INR DD LEh=R 8 152098
12 1465 BH DD+ EIREAPER 7 152078
2 |13 429 N#T 3SR REfE It 14 | 5.26.92
14 1141 Iy b E-EPER 18 | 5.29.49
15 146 AAGZ FL EEAFHESR 15 | 5.27.06
16 342 . ¥ [if] 55 7Y 24 | 55321
17 341 IS S R 55 Y 12 | 5.25.29
18 351 htE. T RE ] 55 7Y 4 151241
19 352 Rk kS Rt 38 PY 1150359
20 355 oH A% RE ] 55 7Y 2 150410
21 166 WL (£5H% EOHI A PR 17 | 52817
22 465 =0 Ys 2E8/H 13 | 5.25.64
23 655 i HE g 3 | 51198
2417120 F=XA B By h R 0| 5.24.02
55 |94 TR £ 58 BF o AR 197 531,14




EH |~ | 2RES \B'c,% R b= R0 8%
1 223 i PE REE I S DNS
2 271 e A BRE_T 11..1.5:50.16
3 273 E§§ 24 ERE_T 8 |54380
4 1299 FE %ﬁl LLIKGRERER 4 153335
5 1248 BA E# EOEERARER 3 | 53142
6 69 I:Piq‘ iy T/NEgH 7 | 54134
; gg; BEiE'@ 7'3"% ?Tgiéﬁl N 12 | 553.38
9 614 E;JA ﬁé%r% %E?E%jz BEE
10 274 Ea ﬁﬁ‘ﬁ FERE_— 13 | 55531
} ; 54528 Ej’% 5-&:,& R fit] R 20 | 6.32.98
= INE ;
13 279 St E%Zz& %Zﬁgi }g g'fg'gé
1500 | 3 [7747[""153 i T B ESK 1071 5.48.09
1517744 INE 0 L EESR 5 [ "5.25.64
16 1461 1&;/:'7I< [5F0 IR R 14 | 5.56.50
}; 1447167 nﬁ? %g £EAH 16 | 6.13.33
%“ 3 & Ak
10711196 %2 Em llgj’;:z: 199 2323?
501556 i W e 1771761788
21 117 EEI{%? 2K Fi] 1= B eags 1 5.22.91
22 114 i _tiﬂri =By AR DNS
23 121 & '2;3[3&: 1= Bp s DNS
24 122 EJ?; A HE] BEE R 5 5.35.16
25 1263 175'5%% Eaj EEF PR 21 | 6.42.52
26 1264 BIE i EEF R 6 | 5.38.78
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EH #|v— | 2RES K4 e = i iy
1 215 &8k 0 db £ - R 2 |[10.21.97
2 52 Rl 558 EER 10.10.07
3 258 ILARSFA % [iE] Sl Ak DNS
4 224 B BERF R i8] v 3 = 452 5 |10.40.42
5 272 KiEH % [if] Ehl b 4 [10.34.76
6 200 Rk EA % ) T 3 = 4 8 |[10.49.20
7 257 FIHAEST % o] Ehl bk 9 |[1056.13
8 255 1R R R [i6] SRl bk 17 |11.07.24
9 72 5 £8 TEER 3 |10.31.59
10 76 215 Ex AR 7 |10.48.36
11 2 FrH I3EH TEEAC 6 |10.47.66
12 688 ik &7 REE—5 12 | 11.00.35
13 341 NI BBE R [if] 55 7Y DNS
14 351 H+E FIE % [if] 55 7Y 26 | 11.37.52
15 352 Rk k2 R 11 |11.00.16
16 23 ELIRCES AR AR (FREIE) DNS
17 74 SEH BUTE EER 10 | 10.59.75
18 3 RE = BRI A 16 | 11.05.23
19 633 ith BT EAEK 24 111.33.72

3000 1 20 25 =i 2 BEFKE 15 |11.03.96
21 215 2R 2E R i8] 1 3 = 43¢ 18 | 11.23.59
22 125 AR A IR DR ER 30 |11.5354
23 1004 KA F= AFRFEFE) 32 |13.21.60
24 477 SH FF AEA/H 21 | 11.25.19
25 225 Rt #wE R T 3 SR 27 |11.39.59
26 42 B8 #A % [ R 31 [13.18.59
27 434 HH AHE =230k DNS
28 19 IBE B LopYLT4—A 28 | 11.40.40
29 259 INE DD a5 denle ot 20 |11.23.70
30 165 JIIFT 22 ERBTIFE R PR 13 | 11.00.73
31 171 i NEE: ERETERPER 22 | 11.25.58
32 168 ERK EZB ERHETIFER PR 23 |11.26.99
33 177 B KF FERETFER PR 29 |11.52.13
34 176 =M DR TERBTIFER R 25 |11.35.42
35 614 FIA {EIS B[ T 3 &4 DNS
36 326 dtE /= REMEE = 33 | 14.13.24
37 113 it mRE 1= By s DNS
38 118 N RS =B AR 14 [11.02.74
39 125 HX [BE% =B R A 19 111.23.70
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BEH | 4| | znEs K% = B | S
1 104 gk %= TR 11.54.90
2 200 =ik BEA % [E] T 3 = 42 DNS
3000SC| 1 .
3 77 TE BE EAR 12.04.86
4 415 Bl FAIE S 13.22.42
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BE (@] .— | sass K4 iR = | =% | 2
1
2
1442 Bk i IR R DNS
1444 gk B FERE A DNS
3 1441 LIl ZEA IR PR DNS
483 =K GRE IR DNS
DNS
DNS
214 ERAR &3 R 8] /1 3 = 452 DNS
216 25 EAF R T 3L SR DNS
4 217 HO =7 % [ T 3 =4 DNS
221 B i R 8] T 3 = 43¢ DNS
222 FIER HEE B[ T 3 SR DNS
ax100 | 1 227 HhiE WX B R T 37 S 4 DNS
412 RE EE FRITE AR DNS
418 X8 a4 BRI R DNS
5 7 JIE ZETh RBP4 DNS
421 =7 i BRI R DNS
329 T ENF R = DNS
330 HA AT BEEE= DNS
6 331 R KB BRI = DNS
651 [RE X BRMEE = DNS
489 ERK FE REME= DNS
271 a5 KK FEIRE A 1 5427 3
270 THIE 1E@ FEIRE—hA 1 54.27 2
; 277 ik ERU= EIREZhA 1 54.27 4
277 kg & FEIRE A 1 54.27 1
282 EH 2B FEIRE—HC 2 57.14 4
1198 1k 7 KRR E= ERE_hC 2 57.14 1
g 281 Rt L4 FEREZHC 2 57.14 2
283 HE EEFE ERE=hC 2 57.14 3
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EH

BERES

K&

R

&

=4
1
285 M EIE FEIRE—0B 6 56.85 2
278 KR D& FERE—RB 6 56.85 3
9 1199 Pl RS EIRE—HB 6 56.85 1
1197 ErRRK 2 EIRE_hB 6 56.85 4
344 E7 HIV B2 [E) 55 7Y 1 52.52 2
345 H# HBE R [if] 55 7Y 1 52.52 3
3 347 M X B2 [E] 55 7Y 1 52.52 1
353 kg WKE B [if] 55 Y 1 52.52 4
143 hErRRK BEE B% i) KMt 8 =4 5 55.32 2
144 =5 Bt B[] K22 bt R = 4% 5 55.32 3
4 145 g 45 BE ] K Bt B = ¢ 5 55.32 1
147 INER {23 B ] K2 Mt 8 & 5 55.32 4
4100 43 kg B JKiR® 4 54.96 2
50 BH STt KR 4 54.96 3
5 1157 INEFF T JKiR & 4 54.96 4
1166 M E JKiR® 4 54.96 1
428 SR GES] REE L 3 54.12 2
430 INFR R B B2t 3 54.12 3
6 431 20 E5F BERE It 3 54.12 1
432 %2 BARE R 3 54.12
644 WA Ll 230kl 3 54.12 4
181 A BE BX [ = A 2 52.75 2
182 E HEx BE B B = AR 2 52.75 3
; 188 +XF 2 R [ B = 4K 2 52.75 4
189 i BMAE BE [ = A 2 52.75 1
577 Hep Z=F B B B = AR 2 52.75
807 i UE KGR B R A 7 57.87 4
810 FE &N JKIREE A 7 57.87 3
8 812 FIE FZFE TKIRE AR 7 57.87 1
813 aH ED JKGR B R A 7 57.87 2
1298 =iE BEE JKIREE A 7 57.87
1299 FE xH JKIRE R 7 57.87




e (4| | z2ass ;%3 R & | @28 | 2
1
2
1103 Fih I &g DNS 3
1104 =B FEE TE& AR DNS 4
2 1105 B hE 1&g DNS 1
1097 SHE O &g DNS 2
724 THy FuZs L HAPZERA 1 56.12 1
720 ek 1EF L HZERA 1 56.12 2
4 728 B pEE L AHPERA 1 56.12 3
727 NE BEIE LEHEPZERA 1 56.12 4
4%100 | 3 —
719 B T4 FADEEB 5 1.04.53 4
723 PRy B FHABEEB 5 1.04.53 3
5 1495 KA Bx RSB 5 1.04.53 1
726 L S L HPEREB 5 1.04.53 2
272 Hew Bt ERE D 4 | 1.00091 1
284 oIl ER FERE D 4 1.00.91 2
6 276 Bk % SRS —hD 4 1.00.91 4
279 Fih /K FEIRE—HD 4 1.00.91 3
506 k& INE TEEEEXESK 3 58.07 4
507 @it BAEE TEEBEETR 3 58.07 1
. 617 BEEH Z#RsE TEEEESK 3 58.07 2
618 PRE 2 EEEEXTR 3 58.07 3
104 i == TR 2 56.83
108 2 & FES 2 56.83 3
g 562 =5 uE sk F RS 2 56.83 2
101 il 1% TR 2 56.83 1
107 FFHLHH FES 2 56.83 4
105 £k B FEER 2 56.83
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#BEH |G| #8 | — | 2ass K% R = | =& | 2
100 1 2 5 559 INE B9 BEFKRE 1 1096 | -14
100 2 1 4 589 HOEE MEXZEGFA) 1 1098 | -1.2
100 3 1 3 267 MEE FNHEXZFE) 2 1113 | -1.2
100 4 1 5 283 B B XFFEE) 3 1115 | -1.2
100 5 2 8 17 WEH AKX EFXZEE) 2 1116 | -1.4
100 6 2 4 1332 EEEES ShEITHZFR(E %) 3 1117 | -1.4
100 7 1 8 11228 Ex 1*°$$ Loz (35 )I) 4 1121 | -1.2
100 8 2 7 575 B ZEh EFXE 4 1122 | -14
100 9 2 1 572 Ina% BiA BEFKE 5 1126 | -1.4
100 10 | 4 3 198 FJE Jt EGAC 1 11.26 0
100 11 1 6 269 ER KRR FNHEXZFEE) 5 1129 | -1.2
100 12 | 4 6 569 RiE MFE BEFKE 2 11.30 0
100 13 | 3 4 89 INER B TEER 1 11.33 | +0.8
100 14 [ 13 ] 2 456 HAE B PIRETL 1 11.33 | +1.1
100 15 1 7 91 HE A TEER 6 11.38 | -1.2
100 16 | 2 6 582 faft FiE BEFKE 6 1138 | -14
100 17 | 8 5 653 Bl BTN T EFARERE 1 11.38 | -1.2
100 18 7 1 727 BE M BE [ F = AR 1 11.40 | -0.7
100 19 | 7 2 717 HE BX MR ER 2 1141 | -07
100 20 | 2 2 1154 Fith BhETRZ(EFF) 7 1145 | 1.4
100 21 7 6 1324 XFE BIE W EEEUEMAERER | 3 11.47 | -0.7
100 22 | 5 6 276 LI B E R = AR 1 1149 | -1.2
100 23 3 3 584 FxME 08k EFXE 2 11.51 +0.8
100 24 | 3 5 160 EE B REE—S 3 1151 | +0.8
100 25 4 2 4 JIIX RF EFXZEE) 3 11.51 0
100 26 | 5 3 318 $H EZB RIS 2 1151 | -1.2
100 27 1 2 96 il E 1EER 7 1153 | -1.2
100 28 | 2 3 805 INE #E e K 8 1154 | -1.4
100 29 1 1 613 My Hat EFXE 8 11565 | -1.2
100 30 [ 14| 5 561 —% HIL BEFKRE 1 1155 | +0.1
100 31 3 2 331 mE Ei BEHIL SR 4 1156 | +0.8
100 32 | 6 7 693 ERK JTHk BEFKE 1 1156 | -0.9
100 33 4 4 562 X Ef EFXFE 4 11.57 0
100 34 | 3 1 101 % e TEER 5 11.60 | +0.8
100 35 | 6 2 626 BR B2 BEFRFCRH) 2 1163 | -09
100 36 | 5 5 583 WA REE BFXE 3 1164 | -1.2
100 37 7 5 507 28 M1 & 4 G BT FE 1) 4 1165 | -0.7
100 38 7 3 318 FH £ —BISEINCT 5 1167 | -0.7
100 39 | 3 6 570 =Lt Zl BEFKRE 7 11.71 +0.8
100 40 | 3 7 319 =R s EREHIL SR 6 11.71 | +0.8
100 41 [ 13| 6 941 MESEREDN EIREYL 2 11.73 | +1.1
100 42 | 4 1 411 EE & —BE— 5 11.74 0
100 43 | 5 4 97 ERK EE EER 4 1174 | -1.2
100 44 | 6 1 268 INE BE EE SR 3 11.74 | -0.9
100 45 | 3 8 592 #E = 15l 8 11.79 | +0.8
100 46 | 4 8 410 FE EBA —BE— 6 11.82 0
100 47 | 12| 5 332 W EX BRI S 1 11.82 | +1.3
100 48 | 11 ] 6 270 Fith BEX BX [E B = AR 1 1187 | +1.3
100 49 | 6 4 556 TH s 1t&m 4 1189 | -0.9
100 50 8 4 508 58 T B SR 2 1189 | -1.2
100 51 | 12| 6 794 [EEIEERS BEHIL SR 2 11.90 | +1.3
100 52 1 10| 6 85 R g — BERRIZESK 1 11.93 | -2.3
100 53 7 8 99 =48 E1T TEER 6 1194 | -0.7
100 54 | 12| 2 108 REFE HBE TEER 3 11.94 | +1.3
100 55 | 34| 5 517 =5 &8k =F B 1 1195 | -15
100 56 | 12| 4 327 =ik 3L BRI S 4 11.96 | +1.3
100 57 [ 11| 5 156 ERER EEE—5 2 11.97 | +1.3
100 58 | 9 7 229 TFHEZN bt L -mhER 1 1202 | +1.1
100 59 [ 18| 6 641 NER & LR FhER 1 1203 | -1.1
100 60 | 7 4 174 i ITEEZ PN FERAIERRER 7 1204 | -07
100 61 | 11 7 315 £H R EEHIL SR 3 1204 | +1.3
100 62 [ 19| 5 627 ki BE REEESEK 1 1204 | -0.8
100 63 | 8 8 580 BE BX EFKE 3 1205 | -1.2
100 64 | 8 1 1277 =i B3 LF o 4 1207 | -1.2
100 65 | 5 7 552 INE EAR 1EEm 5 1208 | -1.2




#BEH |G| #8 | — | 2ass K% R = | =& | 2
100 66 | 16 | 8 622 Al 3 EEEESK 1 1208 | -2.0
100 67 | 20| 5 616 BH XF EEEESK 1 1209 | -15
100 68 | 8 2 565 =i &2 EFXE 5 12.11 -1.2
100 69 [ 10| 3 307 Hit & EREZ 2 1214 | -23
100 70 | 15] 7 729 S H AR B E R S AR 1 1214 | -1.6
100 71 | 13 ] 5 937 FE RX PIREYL 3 1215 | +1.1
100 72 | 9 6 54 A T/ 2 1216 | +1.1
100 73 | 7 7 295 FE RE E5d 8 1218 | -07
100 74 | 11 2 316 {E& BER B S 4 1218 | +1.3
100 75 | 5 1 703 ERAR BX KRR 6 1219 | -1.2
100 76 | 11| 3 314 R —E BEHIL SR 5 1220 | +1.3
100 77 | 12 ] 1 413 = —BE— 5 1220 | +1.3
100 78 | 22| 8 837 BK B IR 1 1220 | -0.7
100 79 1 18] 1 225 B Jt b B 2 1221 | -1.1
100 80 [ 19| 6 619 =28 Bz R—LT/TC 2 12.21 -0.8
100 81 [ 15] 1 637 it RE ELXF 3 1222 | -1.6
100 82 [ 15| 2 281 =S K R E SR 2 1222 | -1.6
100 83 | 15] 4 618 Fith X FR—LIT/TC 4 1223 | -1.6
100 84 | 11 ] 4 159 Tl EA BREE—S 6 1224 | +1.3
100 85 | 14| 7 454 g EIRETE 2 12.24 | +0.1
100 86 | 16| 7 725 ¥EH {6 B[] F = AR 2 1224 | -2.0
100 87 | 18| 2 844 FH i KiRBEESK 3 1225 | -1.1
100 88 | 6 6 932 AH EHE KRB R 5 1226 | -0.9
100 89 [ 10| 5 506 g B B SR 3 12.26 | -2.3
100 90 | 9 5 948 NG BE —BT 3 1228 | +1.1
100 91 [ 14 ] 1 945 1t&E HE PIREYL 3 1229 | +0.1
100 92 | 10| 4 215 Wil B B[ KM E Sk 4 1232 | -2.3
100 93 |17 ] 4 271 HHEF #BE B E R = AR 1 1232 | -0.8
100 94 | 17| 5 621 =H 5 R—LII/TC 2 12.32 | -0.8
100 95 | 8 3 408 AREH EZ —BE— 6 1234 | -1.2
100 9% | 9 1 228 {ERKRERK b b B 4 12.34 | +1.1
100 97 [ 20| 6 617 FiE EH EEEESK 2 1234 | -15
100 98 | 6 5 894 AH BA 1EEm 6 1235 | -0.9
100 99 | 5 2 554 =45 BEKH 1E5m 7 1236 | -1.2
100 100 [ 11 ] 8 317 £ KE EEHIL SR 7 1238 | +1.3
100 101 | 17 ] 2 795 Al & BE IS 3 1238 | -0.8
100 102 | 10] 8 105 B = TEER 5 1239 | -2.3
100 103 | 9 4 239 =HFF L -BhER 5 1240 | +1.1
100 104 | 13| 3 943 IR GEK B [E 5P 4 12.41 +1.1
100 105 [ 17| 8 796 fERAR 3L EEHILSK 4 1241 | -08
100 106 | 19| 2 152 TE FX —BEJAC 3 12.41 -0.8
100 107 | 10| 7 59 WR & T/ 6 1243 | -2.3
100 108 | 13| 8 513 NI B EAEK 5 1243 | +1.1
100 109 | 12| 3 409 1k B— —BE— 7 1245 | +1.3
100 110 | 12 ] 8 568 He ZEH BEFKE 6 1245 | +1.3
100 111 [ 20 ] 2 176 =F R ERELERRER 3 1245 | -15
100 112 | 20| 4 267 REE s B2 [ B = 4% 4 1245 | -15
100 113 ] 27| 3 841 Al KE R—LIT/TC 1 1245 [ -1.3
100 114 | 10] 2 62 N E 2 T/ 7 1246 | 23
100 115 | 18| 7 779 Al HOF LEREER 4 1247 | 1.1
100 116 | 11| 1 321 fHsE: BHiE BEHIL SR 8 1250 | +1.3
100 117 | 20| 8 1268 ZKA EHIL EE PR 5 1250 | -1.5
100 118 | 23] 7 640 JNERZ Hth SIHF PR 1 12.51 -15
100 119 [ 17| 7 326 ER $HF BEHIL SR 5 1255 | -0.8
100 120 | 22| 2 615 kg K EEEESK 2 1255 | -0.7
100 121 | 18] 5 721 falEl K= & 4 I BT [ 175 5 1256 | -1.1
100 122 ] 15| 5 103 NI B TEER 5 1259 | -1.6
100 123 | 16 | 3 48 fift — & T/higd 3 1259 | -2.0
100 124 | 13 ] 4 935 FR EE R [E 5P 6 12.61 +1.1
100 125 | 25| 5 809 &I &R EEEESK 1 1261 | -2.1
100 126 | 15| 3 179 =H RE EREERPRER 6 1262 | -1.6
100 127 [ 13 ] 1 891 =2 158 BREE—S 7 1263 | +1.1
100 128 ] 14| 6 1278 =@ =3 LB 4 12.63 | +0.1
100 129 | 16 | 5 591 KRIE BEA Jiz-F|4 4 1264 | -2.0
100 130 | 22| 3 177 B 3t FERAMERFER 3 1264 | -0.7




#BEH |G| #8 | — | 2ass K% R = | =& | 2
100 131 | 23] 4 674 it Thx =FRIESE 2 12.65 | -1.5
100 132 ] 19| 3 711 INEFSE 2 FESK 4 1266 | -0.8
100 133 | 24| 5 871 INEIR A EIFRIES R 1 1266 | -1.2
100 134 | 25 | 7 269 g mth B [t B i AR 2 1266 | -2.1
100 135 | 30 | 4 695 TR ST IBER 1 1269 | -1.2
100 136 | 12| 7 51 WA HEEF T/ 8 1270 | +1.3
100 137 [ 19] 4 235 FRABK b E-BEhER 5 1270 | -0.8
100 138 | 21 2 952 {EBk RRER —BET 2 12.70 | -2.0
100 139 | 21 4 1644 =R A e[z 1 1270 | -2.0
100 140 | 22| 7 924 A4t it EEAI—L 4 1270 | -0.7
100 141 | 23| 3 926 ERK BX B RI—L 3 1270 | -15
100 142 | 25 | 3 812 AR EEEESK 3 1270 | -2.1
100 143 ] 16 | 6 371 F PN Jt b 5 1273 | -2.0
100 144 [ 17| 3 290 =H ="H# LB 6 1274 | -08
100 | 145 [ 15[ 8 639 NEE EA TR F PR 7 1275 | -16
100 | 146 | 21| 8 609 BiE hE BRBEEK 3 | 1277 | -20
100 147 [ 22| 5 50 MHE At T/ 5 1277 | -07
100 148 | 23] 5 524 SRS EE548H 4 1278 | -1.5
100 149 | 19 ] 7 739 T X BERE 6 1279 | -0.8
100 150 | 18 | 3 820 EXR _FA 1E5dt 6 1280 | -1.1
100 151 | 21 6 38 Al £ KR 4 12.80 | -2.0
100 152 | 18| 8 960 % fngE KIRE P ER 7 12.81 -1.1
100 153 | 20 | 1 1572 =218 =R I F R 6 1282 | -15
100 154 | 17 ] 1 1269 INEE)IL SR EEPER 7 1283 | -0.8
100 155 | 22| 6 826 IN=EEESS ZEREK 6 1283 | -0.7
100 156 | 16 | 2 222 MEREE bt £ -mhER 6 1284 | -2.0
100 157 | 28 | 8 764 B X £ ERRAIESK 1 1287 | -1.5
100 158 | 14| 3 947 =5 # EIEETL 5 12.88 | +0.1
100 159 | 19| 8 306 g & ERE_Th 7 1288 | -0.8
100 160 | 21 3 949 INEFE BE —BT 5 1290 | -2.0
100 161 | 13 ] 7 946 PEE RS EIGETL 8 12.91 +1.1
100 162 | 14| 4 176 R Kih FEE&R 6 12.91 +0.1
100 163 | 18] 4 80401 g B S h R (ELE) 8 1294 | -1.1
100 164 | 14 ] 2 936 FE ZBA EIGETL 7 1295 | +0.1
100 165 | 32 | 1 971 FH BA TIEESK 1 1296 | -1.2
100 166 | 19 | 1 63 ERK EBEX T/higeh 8 1297 | -0.8
100 167 | 20 | 7 946 B B KRB E 7 1298 | -15
100 168 | 23 | 1 1271 BH Z=XE EE PR 5 1298 | -15
100 169 | 26 | 5 64 2R WE T/hige 1 1299 | -2.2
100 170 [ 30 | 6 696 I\NER ST IBER 2 1299 | -1.2
100 171 | 23| 2 649 Pt LR FhER 6 1300 | -1.5
100 172 | 24 | 8 734 ERKX B R XEMESK 2 1300 | -1.2
100 173 [ 30| 2 718 gk ITs R E R SR 3 1303 | -1.2
100 174 | 24| 4 953 B B —BT 3 13.04 | -1.2
100 175 | 28 | 3 369 ERK #E Jt k£ 2 1304 | -15
100 176 | 28 | 4 827 2H S AR TEAM BRIE 3 1307 | -1.5
100 177 | 29| 3 976 T8 ,U—L EEEFTEESK 1 1309 | -0.8
100 178 | 27| 4 107 255 RE TEER 2 1310 | -1.3
100 179 | 30| 5 722 =28 AW MR ER 4 1310 | -1.2
100 180 | 17 ] 6 453 i (e RATR PR 8 1311 | -0.8
100 181 | 21| 7 950 EEVITIE: —BET 6 1312 | -2.0
100 182 | 25 | 8 945 ¥ EKF JKIRE R 4 13.17 | -2.1
100 183 | 26 | 3 186 Bk £ FERBMLERFER 2 1319 | -2.2
100 184 | 31| 7 1308 INEBKE £58% 1 1320 | -1.4
100 185 [ 25 | 6 810 A R EEEESR 5 1323 | -2.1
100 186 | 29 | 6 1305 EEI 5E48H 2 1323 | -0.8
100 187 | 30 | 8 182 FHE MEA *EBT_LEEEEP%‘“-*& 5 1323 | -1.2
100 188 | 24| 6 857 TE #EE —PBiEE 4 1327 | -1.2
100 189 | 24 | 3 66 il ER ‘F/J\E%EP 5 1328 | -1.2
100 190 | 29 | 2 1290 madts b b B 3 1328 | -0.8
100 191 [ 29 ] 4 521 &ith K BEEAT 4 1329 | -08
100 192 | 33| 8 970 HE BLH EEEETEESK 1 1329 | -05
100 193 | 34| 6 190 ENNE ERENERRER 2 1334 | -15
100 194 | 15] 6 226 ER KR\ bt L -mhER 8 1335 | -1.6
100 195 | 27 | 1 826 FHih HR TEAM BRI 3 1335 | -1.3




#BEH |G| #8 | — | 2ass K% R = | =& | 2
100 196 | 31 6 1396 JI =SB %EET_LEEEEP%& 2 1335 | -1.4
100 197 | 33| 6 780 JEPEHE ARA LREBREAER 2 1335 | -05
100 198 | 25 | 4 925 Ik EA BEEAI—L 6 13.36 | -2.1
100 199 | 27| 8 825 INEFE W8E TEAM BRI 4 1336 | -1.3
100 200 [ 33 ] 7 842 it F KIREESRK 3 13.36 | -05
100 201 | 31 5 1522 BR $E T/higd 3 1337 | -1.4
100 202 | 22 [ 1 1285 h¥ H£EX faf h R 7 1339 | -0.7
100 203 [ 26 | 1 534 21 3l £58% 3 1341 | -2.2
100 204 | 31 4 507 HiE&E R FAIE SR 4 13.41 -14
100 205 | 22 | 4 931 R E# 7J<,Rﬁ=l=%$s*c 8 1342 | -0.7
100 206 | 26 | 7 841 Fith R FHFBER 4 1342 | -2.2
100 207 | 35 [ 1 1568 IR B LR FhER 1 1344 | -0.8
100 | 208 | 26 | 8 35 NEH XE JKiR e 5 1345 | -2.2
100 209 [ 27 2 140 E R A B4R (RLE) 5 1345 | -1.3
100 210 | 28 | 6 632 R &ER= LR FhER 4 1345 | -15
100 211 | 31 1 634 INE HAE I FhER 5 1348 | -1.4
100 212 [ 24 | 7 231 THHH Jt £ B 6 1349 | -1.2
100 213 | 28 [ 1 765 B ERRIESK 5 1350 | -1.5
100 214 [ 27 7 1299 lig mA EEFER 6 13.51 -1.3
100 215 [ 33 [ 5 1564 L8 XZEH L F R 4 1354 | -05
100 216 | 34 | 7 187 T #Hi5 EORLERRER 3 1354 | -1.5
100 217 [ 30| 3 952 fEk e KRB R 6 1355 | -1.2
100 218 [ 33 [ 3 978 EARK BK LEREAER 5 1355 | -0.5
100 [ 219 [ 23] 6 184 R¥t R FERBRIILER PR 7 1357 | -15
100 220 | 32 | 2 1523 B K& T/ 2 1357 | -1.2
100 221 [ 20| 3 1279 HiE T L FhER 8 1359 | -15
100 222 | 30| 7 953 1EBE MEA KRB E 7 13.60 | -1.2
100 223 | 33 [ 2 535 *E Ei 5585 6 1360 | -0.5
100 224 | 26 | 4 950 ERK BiE KRB ERR 6 1362 | -2.2
100 225 | 25 | 2 937 B = KR EE 7 13.68 | -2.1
100 226 | 32| 5 9 FHith IEAT BMNFTRY—=r95T 3 13.68 | -1.2
100 227 | 32| 8 754 B e FIE S 4 1368 | -1.2
100 228 | 31| 2 1702 BE B KR EE 6 1369 | -1.4
100 229 | 36 [ 4 828 £k Gt TEAM BRIE 1 1369 | -1.1
100 230 | 28 [ 7 370 =8 &®M dt Eob 6 13.70 | -1.5
100 231 | 35| 7 1580 THRE BXAMESE 2 13.78 | -0.8
100 232 [ 31 ] 8 947 Lﬁ% ERS KRB E 7 1380 | -1.4
100 233 | 29 [ 1 710 T 1EE FEE&R 5 13.83 | -0.8
100 234 | 10| 1 688 =5 Rl b EHkER 8 1390 | -2.3
100 235 [ 30 | 1 955 BK B KRB E 8 1395 | -1.2
100 236 | 32 | 4 1535 AR uE st LF o 5 1398 | -1.2
100 237 [ 32 ] 7 58 g F{Z T/ 6 1400 | -1.2
100 238 | 28| 5 829 FL N TEAM BRIE 7 14.01 -15
100 239 [ 32 [ 3 1427 &k B KIRE P ZE 7 14.01 -1.2
100 240 | 26 | 6 238 EBRRHE db b -FE R 7 1406 | -2.2
100 241 [ 35| 6 648 BiE & I F R 3 1412 | -0.8
100 242 | 33 [ 1 1272 INE R EEPER 7 1437 | -05
100 243 | 24| 2 230 FH £ db b - R 7 1440 | -1.2
100 244 | 27| 6 716 2l K& TFESK 7 1442 | -1.3
100 245 [ 36 | 5 830 BH Bz TEAM BRIE 2 14.61 —1.1
100 246 [ 36 [ 7 689 FIERME= dEmh 3 14.68 | -1.1
100 | 24727 5 172 a3 FIR TFESK 8 1473 | -1.3
100 248 [ 35 [ 8 1566 INE EE LR FhER 4 1488 | -0.8
100 249 | 36 | 2 1401 E —&# EREGERRER 4 1488 | -1.1
100 250 | 33 | 4 645 1k 1B LR F R 8 1493 | -05
100 251 [ 35 [ 5 1297 EH B EE PR 5 1495 | -0.8
100 252 | 36 [ 3 755 T B FAIE S 5 1497 | -1.1
100 253 | 35 [ 2 646 B —th LR F R 6 1498 | -0.8
100 254 | 34| 2 1400 H —F EREERPER 4 1505 | -1.5
100 255 [ 36 [ 8 1298 hAt BT EEFER 6 1506 | -1.1
100 256 [ 35 | 4 1295 BE 5 TEEPER 7 1524 | -0.8
100 257 | 36 [ 1 1569 Eik Pt LR FhER 7 1542 | -1.1
100 258 [ 25 | 1 1407 FE KA 3= EF AR 8 1571 | -2.1
100 259 [ 36 [ 6 1292 i 2 I D2 bt L -mhER 8 16.89 | -1.1
100 4 5 564 Sl HA BEFKRE DNS




#BEH |G| #8 | — | 2ass K% R = | =& | 2
100 4 7 811 ]}/ BEFE BiiZERXE DNS
100 5 8 555 FTH X 1EEm DNS
100 6 3 132 EE 83t 1E&dL it DNS
100 6 8 1270 ERK XH EERER DNS
100 8 6 406 Bk 58 — B — DNS
100 8 7 104 ERK & TEER DNS
100 9 2 574 EO HIK BEFKRE DNS
100 9 3 56 Hi K5 T/ DNS
100 9 8 525 Bl £= PAmER DNS
100 14| 8 940 I B B [E 55 P DNS
100 16 | 1 136 ®HE sk A PR DNS
100 16| 4 147 WA 55 e s DNS
100 21| 1 766 BB E & ERRAIZESK DNS
100 24 | 1 1406 {EBR 1B m%dtqﬂ—ﬂ DNS
100 26 | 2 713 +H & FEE&R DNS
100 28| 2 602 EH B BX [ BB DNS
100 29| 5 531 NS B 558 DNS
100 29 | 7 301 /INEAR 2t ERE_ DNS
100 29| 8 918 R RE BREEESR DNS
100 31 3 377 5H BE it Eob DNS
100 32| 6 738 ML HRFE BERE DNS
100 34| 1 528 i Rk EEAS DNS
100 34| 3 46 ME BE KR DNS
100 34| 4 1291 XiB#EA bt L -mhER DNS
100 34| 8 1581 EHZC =Nk DNS
100 35| 3 1646 &£F 5 L HPER DNS
100 21 5 633 BRIl EREN LR FhER DQ
100 23] 8 720 A BE B E R = AR DQ
200 1 1 3 559 NG 1%? BEFKE 1 21.88 | -04
200 2 1 6 590 REE A MEXZEE) 2 2233 | -04
200 3 2 4 572 Tk it EFXE 1 2235 | -05
200 4 2 3 17 WEH AKX EFXZFFE) 2 22.36 | -05
200 5 2 6 805 INE #E RE [ K 3 2248 | -05
200 6 2 5 575 B ZEH EFXE 4 2252 | -05
200 7 5 4 569 %% M EFXE 1 2258 | -1.8
200 8 1 8 11228 EX B P ES JII) 3 2269 | -04
200 9 1 7 653 Bl BTN Tt EFARERE 4 2272 | -04
200 10 | 4 2 456 HAR EF B2 [E 55 Y 1 2279 | -08
200 11 1 1 563 EO #H#X BEFKRE 5 2285 | -04
200 12 | 2 1 727 E IZM R E R =R 5 2285 | -05
200 13 | 2 2 582 far FiE BEFXE 6 23.01 -0.5
200 14 | 4 8 457 fE BEF B [E 5 2 23.08 | -0.8
200 15 6 5 693 ERK JTHk EFXE 1 23.08 0
200 16 1 2 318 TH & —BEEEINCT 6 2317 | -0.4
200 17 1 5 822 a5H B3} BEFEIKXE 7 2317 | -04
200 18 5 3 720 WA ARER JAEFEG RS 2 2324 | -18
200 19 | 5 7 717 HE BA B[ F = AR 3 2326 | -1.8
200 20 | 3 2 268 INR BIE BX [E B = AR 1 2327 | -0.9
200 21 6 4 276 = P2 R E SR 2 23.30 0
200 22 | 5 5 583 WA FREE BEFKRE 4 2338 | -1.8
200 23 | 5 6 626 #BAR Ht BFRECRH) 5 2344 | -18
200 24 3 5 570 =Lt 3 EFXE 2 2345 | -0.9
200 25 | 3 6 160 EE B REE—S 3 2368 | -0.9
200 26 | 4 7 455 Fik B2 EIEETL 3 2369 | -0.8
200 27 6 7 410 FE EBA —BEE— 3 23.70 0
200 28 | 2 7 590 FiE Bt & 7 23.87 | -05
200 29 | 5 8 592 FBE = 151t 6 23.88 | -1.8
200 30 7 8 580 B BX BEFKE 1 2400 | -1.7
200 31 6 6 295 FiE FE 15l 4 24.09 0
200 32 | 9 4 229 FHEN db - 1 2417 | -14
200 33 | 8 1 725 ¥R M ﬁlﬁlﬁ.—ﬁi 1 2423 | -1
200 34 | 6 2 408 AREH EE —B%E 5 24.31 0
200 35 9 7 508 £ T E*ﬂ”ﬁ'% X 2 2432 | -14
200 36 | 11 5 641 INER & LR F R 1 2438 | -1.1
200 37 | 8 7 948 N BE —BET 2 2442 | -141




#BEH |G| #8 | — | 2ass K% R = | =& | 2
200 38 | 8 3 174 I FK EREERPER 3 2459 | -1.1
200 39 | 5 1 637 it RE ELXFE 7 24.61 -1.8
200 40 3 7 418 BE E/4 —BEE— 4 2462 | -09
200 41 6 8 179 =l RE FERAMLERFER 6 24.62 0
200 42 | 4 3 945 iEge HE EIEETL 4 2465 | -0.8
200 43 7 7 228 1 "R KERK bt E-BhER 2 2472 | -17
200 44 | 10] 3 619 =B M= "—LTa/TC 1 2476 | -0.8
200 45 | 7 6 506 g Bo AME K 3 2479 | -1.7
200 46 | 11 2 839 +i0H #HE I 2 2487 | -1.1
200 47 | 8 2 889 =48 &% REE—S 4 2493 | -1.1
200 48 | 4 4 937 Ea VN EIRETE 5 2495 | -0.8
200 49 [ 9 5 48 Ext — &5 T/hige 3 2509 | -1.4
200 50 | 14| 3 621 =H ¥ FR—LTI/TC 1 2509 | -2.0
200 51 7 3 413 = XK —BEE— 4 2512 | -17
200 52 | 8 5 226 ERr KB L -BhER 5 2514 | -1.1
200 53 | 12| 4 230 FH £ b E-BEhER 1 2518 | -3.2
200 54 | 4 6 943 IR REA PIRETL 6 2524 | -08
200 55 [ 10| 6 235 AAAKR L -BhER 2 2526 | -0.8
200 56 | 9 6 618 E RPN "—LIO/TC 4 2527 | -14
200 57 | 7 4 554 =i BAE 1E5m 5 2531 | -1.7
200 58 [ 10| 8 721 falE K= £ 47 I BT [ 175 3 25.35 | -0.8
200 59 [ 10| 7 371 s X Jt ks 4 2540 | -0.8
200 60 | 13| 6 176 =F BHR FERENLERPRER 1 2550 | -1.1
200 61 | 10] 2 177 B 3t FERBMLERFER 5 2554 | -0.8
200 62 | 8 8 890 o ERA BEE—S 6 2558 | -1.1
200 63 | 12| 8 720 A BE MR ER 2 2561 | -3.2
200 64 | 7 2 239 =HFF bt L -mhER 6 25.66 | -1.7
200 65 | 9 2 47 O X KR 5 2579 | -1.4
200 66 | 8 4 593 ERK X fix-Fl4 7 25.80 | -1.1
200 67 | 10] 4 952 £ BRER —BT 6 2582 | -08
200 68 | 11| 4 674 it whR RHFRIESEK 3 2619 | -1.1
200 69 | 12 ] 1 721 BE XK R E SR 3 2623 | -3.2
200 70 [ 15] 2 1396 I SEE FREIFEAEFER 1 26.31 | -06
200 71 |13 ] 1 64 B HE T/NE&Th 2 2644 | -1.1
200 72 | 11 7 826 /NHE 5P ZRaR 4 2646 | -1.1
200 73 [ 14] 5 841 it e L HPZER 2 26.51 -2.0
200 74 1 14| 2 186 Bk £ FERAMERFER 3 2670 | -2.0
200 75 | 13 ] 2 1290 itk L -BhER 3 2679 | -1.1
200 76 | 12| 5 734 ERA i B KEMESK 4 26.84 | -3.2
200 77 1 13| 8 948 g ER KRB E 4 2684 | -1.1
200 78 | 10] 5 953 B B —BT 7 26.88 | -0.8
200 79 [ 14| 6 1285 h¥ £EK fa R 4 26.90 [ -2.0
200 80 [ 11| 8 141 FE FE A B R (RLE) 5 2692 | -1.1
200 81 | 11 1 38 Al £ KR 6 2694 | -1.1
200 82 | 9 1 950 EEES —BET 6 2697 | -14
200 83 4 1 936 H_E EER PIRETL 7 2710 | -08
200 84 [ 15| 3 184 A¥ F® EREERPER 2 2736 | -06
200 85 [ 14| 7 754 Biz e ARE SR 5 2738 | 20
200 86 | 12| 6 80401 g EE SR (FEA) 5 27.41 -3.2
200 87 | 16| 7 1568 IR FESR L F R 1 2749 | +05
200 88 | 11| 6 63 fERKX B T/ 7 2752 | -1
200 89 [ 16| 6 634 INE FHAK I F R 2 2756 | +0.5
200 90 [ 13| 5 66 B iR T/high 5 2770 | -11
200 91 | 16| 4 190 ENNE FERAMERFER 3 2791 | +05
200 92 [ 14| 8 973 NN~ TIEESK 6 2797 | -20
200 93 | 13] 4 231 THHH b E-EhER 6 2810 | -1.1
200 94 | 15| 8 952 EBE e KRB R 3 28.18 | -06
200 95 | 14| 1 9 FHith E1T BMNFTRAY—ko5T 7 2844 | -20
200 9 | 15| 4 58 Xz 8z T/NE&h 4 28.51 -0.6
200 97 | 14| 4 923 RiZE BX REEESK 8 2870 | -2.0
200 98 [ 15| 6 1525 WA 38X T/ 5 2924 | -06
200 99 | 16| 5 1311 TR KK KR e 4 2932 | +05
200 100 | 16 | 3 955 BK B KRB E 5 2941 | +05
200 101 | 15 7 1400 H —F EREMERPRER 6 3117 | -06
200 102 | 16 | 2 1569 Eigk Pt IR FhER 6 31.40 | +05
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200 103 | 16 | 8 1292 KRB bt -mhER 7 38.18 | +0.5
200 1 4 144 e MEXZEGFA) DNS
200 2 8 584 M EnEk EFXE DNS
200 3 1 564 Sl HA BEFKRE DNS
200 3 3 1332 28 RE shaThm IR %) DNS
200 3 4 811 ]BRK B’E HibFRKE DNS
200 3 8 561 —%& B EFKRE DNS
200 4 5 940 JIE Ef EIGETL DNS
200 5 2 1324 XFE BIE EEEREIEMERER) DNS
200 6 1 552 INE ER 1E5m DNS
200 6 3 406 Fk 28 —BE— DNS
200 7 1 1277 =# =3 L F o DNS
200 7 5 894 AH BA 1EEm DNS
200 8 6 56 H# K5 T/ DNS
200 9 3 1270 ERK XH EEPER DNS
200 9 8 949 INGFEF B —BT DNS
200 11| 3 271 HEF BE EEESR DNS
200 12] 2 776 By R =3k LEREREER DNS
200 12] 3 1644 = EEEI it 5 DNS
200 12] 7 639 INER ¥ L F R DNS
200 13] 3 1406 ik iam EELhER DNS
200 13| 7 622 Al # BREEESRK DNS
200 15 [ 1 1572 =218 =R L FHER DNS
200 15] 5 645 E% B LR FhER DNS
400 1 1 6 822 a5H B3} BFRIXF 1 49.72
400 2 1 4 318 FH £ —BSEINCT 2 49.74
400 3 1 5 91 HRE SHAH 1EER 3 50.41
400 4 1 3 720 WA #EKER JAEFEdhx 4 51.14
400 5 2 7 507 VR T 7 IGETEER 1 51.38
400 6 2 4 455 FiE 182 B [E 5P 2 51.66
400 7 3 5 419 =H BE —BE— 1 52.47
400 8 2 5 456 HAE B EIRETL 3 52.49
400 9 1 7 26 a0 & BEFREQLR) 5 52.50
400 10 | 3 8 411 EE & —BE— 2 53.43
400 11 2 3 97 ERK EE TEER 4 53.47
400 12 1 12] 8 694 L[5 ETIBER 1 53.57
400 13 | 3 6 319 2R AE BT I 58 3 53.65
400 14 | 3 2 196 Fith X KRB ESRK 4 53.99
400 15 | 3 3 332 I N BRI S 5 54.00
400 16 | 9 4 281 S K R E R =R 1 54.04
400 17 | 4 4 316 {E8 BEWR BRI S 1 54.08
400 18 | 1 1 590 Rk Bath iE-F[R 6 54.12
400 19 3 7 607 JIF BEER ez 6 54.14
400 20 | 4 1 521 AH B I 2 54.19
400 21 5 4 935 FE FEE R[] 55 7Y 1 54.27
400 22 | 3 1 85 mE % - BERRIZEESR 7 54.28
400 23 7 2 418 BE E/N —BE— 1 54.34
400 24 | 3 4 414 INEFF FIJ/E —BEE— 8 54.57
400 25 | 6 3 99 =5 1T TEER 1 54.72
400 26 | 9 5 103 /J\,iEJII & TEER 2 54.86
400 27 1 10| 6 269 gk =t R =R 1 55.19
400 28 | 6 1 270 Fith BEX MR ER 2 55.41
400 29 | 2 8 596 B e REE= 5 55.43
400 30 | 5 5 314 R —E BT S 2 55.43
400 31 4 6 856 EZ B ENEAET S 3 55.50
400 32 | 11 6 729 HH AR RE [ F = AR 1 55.50
400 33 | 4 2 156 ERER RAE 4 55.75
400 34 | 7 5 839 +i0H #HE IR 2 56.16
400 35 | 8 6 693 INE B4 ETIBER 1 56.21
400 36 | 7 6 854 *E 7R EERS R (RN E) 3 56.34
400 37 | 4 3 302 Fih 51 ERE_H 5 56.48
400 38 | 8 7 794 [DEEERS BRI S 2 56.77
400 39 6 4 591 KR BEA Jiz- =4 3 57.02
400 40 5 7 326 R HF BEHIL SR 3 57.05
400 41 8 3 327 Eik X BRI ER 3 57.16
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400 42 | 4 7 409 1k 12— —BE— 6 57.18
400 43 | 9 2 182 FHE MEA ERAIERRER 3 57.20
400 44 | 11 3 649 et SIRIFHRER 2 57.28
400 45 [ 11| 4 315 +H EE BT SR 3 57.38
400 46 | 7 4 585 B B EREd 4 57.39
400 47 | 4 5 739 S8 X =ERE 7 57.52
400 48 | 5 3 321 fHix EiE B[ th 3L 5% 4 57.55
400 49 | 8 2 795 ok % BE [ T 3 S AR 4 57.58
400 50 | 8 8 796 ErRA #L3} B S 5 57.62
400 51 | 10] 1 703 ERR BX KRR 2 57.66
400 52 | 5 8 633 BRIl REN IR FHRER 5 57.70
400 53 | 2 1 513 NI & ZEEK 6 57.73
400 54 | 9 6 105 B3 1‘ 1EER 4 57.78
400 55 | 7 8 212 =8 — BE [ K MR S 5 57.85
400 56 | 6 2 593 ERK X &4 4 57.88
400 57 | 9 8 47 PO X KR 5 57.98
400 58 | 8 4 640 NER Hth I FHER 6 58.15
400 59 | 8 1 843 AN KRB ESK 7 58.68
400 60 | 10| 8 718 g ITs ﬁl‘lﬁﬁ.—ﬁf‘ 3 58.90
400 61 6 7 891 =2 %5 EIRES 5 59.16
400 62 7 1 1278 =8 &3 J:E%EIJ$$§ 6 59.26
400 63 | 9 7 108 REF HBE TEER 6 59.37
400 64 | 10] 2 926 ERAR BXR B RAa—L 4 59.76
400 65 | 9 3 107 BEiE RE TEER 7 59.96
400 66 | 8 5 225 B db - 8 59.99
400 67 [ 10| 5 765 A BRREIZEESK 5 1.00.81
400 68 | 9 1 632 BRI _E% LR FhER 8 1.00.91
400 69 | 12| 7 692 Al LE ETIBER 2 | 1.01.57
400 70 [ 10] 4 764 B X 8 BERRERIZEESR 6 1.02.09
400 71 | 12| 3 960 B fngE K KR E AR 3 1.02.78
400 72 112 ] 4 953 £k MEA KRB R 4 | 10417
400 73 [ 10| 3 227 & 7 KEKER bt £ -BhER 7 1.04.55
400 74 1 12 ] 6 1424 ITES KRB A 5 1.05.39
400 75 | 11| 8 187 TE Bil5 ERERFER 4 | 1.05.40
400 76 | 12| 5 238 FRRAM bt £ -BhER 6 1.05.49
400 77 [ 11| 7 1401 iE —# FERENFERERER 5 | 1.11.62
400 1 2 323 LS I:-WN BRI SR DNS
400 1 8 319 T ES — S ZEINCT DNS
400 2 2 318 5H EB BRI S DNS
400 2 6 96 il E EER DNS
400 4 8 222 NEREE db £ -Bh R DNS
400 5 2 331 EEEEEES B[ th 3L 4% DNS
400 5 6 317 k% XH =% [ th 3 & DNS
400 6 6 56 HE KB T/higeh DNS
400 6 8 819 ERKR BA &4t DNS
400 7 3 84 T E & BRREIESK DNS
400 7 7 766 BEEE & BERRAIESKR DNS
400 10| 7 624 BEH 5 REEESR DNS
400 11| 5 738 INL ERFE ERE DNS
400 6 5 197 £k T KiREESK DQ
800 1 1 5 419 &= H ,’eEE —BE— 1 1.59.90
800 2 1 6 704 EXR th— EFXE 2 2.00.02
800 3 1 4 504 55 BE BEFKRE 3 | 2.0055
800 4 1 3 323 M BmX B[ 3 &8 4 | 2.01.04
800 5 2 5 196 FH EBX KRB EESK 1 2.03.88
800 6 1 2 596 B e EEE= 5 | 2.04.09
800 7 1 8 224 BER BE b b B 6 | 2.06.22
800 8 3 5 346 % L BT 1 2.06.48
800 9 2 7 84 F E & oA ERRIESK 2 | 207.02
800 10 | 2 3 585 R EREI 3 | 2.07.31
800 11 2 6 219 ik E B [ K MR S 4 | 20793
800 12 | 1 1 177 =i BX TFEE&R 7] 2.09.23
800 13 | 3 4 87 RS EFEHEK 2 | 21113
800 14 | 7 6 939 gk B2 EIREYL 1 2.11.33
800 15 | 3 2 626 ik EEqt EREEESR 3 | 2.11.89
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800 16 | 2 4 819 ERK EBEA &4t 5 | 2.12.44
800 17 | 2 8 895 % BE 1EEm 6 | 2.12.82
800 18 | 3 1 234 e BEE — F BT 4 | 21347
800 19 | 3 8 835 EH K2 B 5 | 2.14.01
800 20 | 2 1 737 INE BN BERE 7 | 21434
800 21 4 4 723 FE & R E SR 1 2.14.37
800 22 | 3 6 300 HiR —%F EREZ 6 | 2.15.65
800 23 | 5 2 921 EAR —K BREEESK 1 2.16.84
800 24 7 8 944 Hef Bff PIREYL 2 2.17.79
800 25 4 3 530 FHih &4 EERT 2 2.18.22
800 26 | 5 4 948 g ER KRB R 2 | 2.18.25
800 27 | 5 8 612 MR- EEEESK 3 | 2.19.04
800 28 | 5 6 761 Heh G35 L E PR 4 | 21955
800 29 | 4 8 515 Bl BE BFPER 3 | 2.19.92
800 30 | 4 7 975 21U RS EEEFTESK 4 | 22090
800 31 3 7 515 B £E ZEEEK 7 | 2.21.40
800 32 | 4 5 57 T =R T/NE& 5 | 2.23.48
800 33 | 6 4 690 TR HE ETIBSE 1 2.24.19
800 34 | 6 6 221 INEFIEAN b £ -E R 2| 2.25.80
800 35 | 4 1 785 ®BEk = EEITASI—X 6 | 2.26.71
800 36 | 5 3 45 =1 JKiR s 5 | 2.29.12
800 37 | 6 7 1702 BE MBI KRB R 3 | 2.32.12
800 38 | 5 7 227 1 R KEKER bt £ -mhER 6 | 2.33.16
800 39 | 5 5 458 MR EE REFEDER 7 | 2.33.76
800 40 | 6 5 958 FE #X KRB ER 4 | 2.3855
800 41 6 8 957 TE —® KRB R 5 2.39.78
800 42 7 3 689 FIEREZ dEtmh 3 | 251.16
800 43 | 7 4 959 EZE g KRB R 4 | 25338
800 44 | 7 5 1399 BE EBEE EREERPRER 5 | 3.18.35
800 1 7 523 PN B b DNS
800 2 2 636 =B BEi} I FHER DNS
800 3 3 240 IR bt £ -BhER DNS
800 4 2 628 i ) PPN REEESEK DNS
800 4 6 400 ER K IHEE & O P2 DNS
800 6 3 220 FEEF bt £ -BhER DNS
800 7 7 942 ARA = RAEYL DNS
1500 1 1 1 303 fERAR AR B Hh 3L &4 1 4.04.40
1500 2 1 4 155 ZH hE BREE—S 2 | 40571
1500 3 1 18 86 B R EFEEK 3 | 40754
1500 4 1 5 278 Ll FEKZEGFA) 4 | 40787
1500 5 1 13 336 af K— BET 5 | 411.38
1500 6 1 19 315 2l BZE BE [ K= 6 | 4.11.46
1500 7 1 11 116 Bl #= BRI £ 7 | 412.46
1500 8 1 8 114 FHE R BRI £ 8 | 41251
1500 9 1 | 20 149 Zih SCTER —BIAC 9 | 41368
1500 10 1 21 216 e O FXEH B & (FA) 10 | 4.14.59
1500 11 1 10 112 BiE B EiEXILE 11 | 414.90
1500 12 1 6 121 +XF BE— B2t E 12 | 4.15.37
1500 13 | 1 14 115 Rix BHE HigERd b 13 | 4.15.97
1500 14 | 2 6 346 k% Rt RE[E T 1 4.16.65
1500 15 | 2 4 87 Rl &5 = EFEEEK 2 | 416.70
1500 16 1 7 110 I TR BHiEXRI £ 14 | 416.77
1500 17 1 17 330 25 &3 B E T M S A 15 | 4.17.36
1500 18 | 2 1 14 HINEAA TE&AC 3 | 41793
1500 19 | 2 3 224 A B Jt £ - B AR 4 | 41868
1500 20 | 1 3 79 X & B & ERRIESK 16 | 4.18.75
1500 21 2 8 218 kg 2 B K EF MRS 5 | 41891
1500 22 | 2 9 325 FE EE B[ T L SR 6 | 42034
1500 23 | 1 16 320 BER K— B h 3L &4 17 | 4.21.11
1500 24 1 12 106 BiE BEKER TEER 18 | 4.21.85
1500 | 25 | 2 7 382 St A2 B[ T 7 | 42209
1500 | 26 [ 2 2 264 FE % EEEER 8 | 4.22.69
1500 27 | 2 | 11 81 AT N BERRIZER 9 | 42298
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1500 28 2 5 338 ! BT 10 | 4.24.18
1500 | 29 [ 2 | 22 272 fERKR BER EEEER 11 | 4.24.32
1500 30 | 4 4 152 FE EK —BHAC 1 4.26.37
1500 31 2 | 19 265 a5 sk EEE SR 12 | 4.27.25
1500 | 32 | 1 9 124 FH BE EEXIEE 19 | 4.27.62
1500 33 [ 2] 10 329 IS B IS 13 | 4.28.25
1500 34 | 3| 19 317 il B FAE B #BEEE) 1 4.28.32
1500 | 35 [ 2 | 21 312 ok B3l BT SR 14 | 4.2857
1500 | 36 [ 2 | 23 821 BiE A 5l 15 | 4.29.10
1500 37 | 3 6 53 EiF EX T/ 2 | 42962
1500 38 | 4| 14 675 fERAX ZE3t EHFRIESE 2 | 42981
1500 | 39 [ 4| 10 635 B & LR F R 3 | 4.30.09
1500 | 40 [ 2 | 15 123 =R #L5 EiEXILE 16 | 4.30.26
1500 | 41 3 | 20 83 = B E R ERREIESK 3 | 43048
1500 | 42 [ 3| 14 798 f=H BEE ISR 4 | 43076
1500 43 | 2 | 12 82 2 # i BRAIESK 17 | 4.30.97
1500 44 3| 17 299 JNEE i &1 5 | 4.31.16
1500 45 | 3 8 234 FiE B — P BTRE R 6 | 43211
1500 46 | 2 | 16 125 JNERE BX FEXRILE 18 | 4.33.18
1500 47 | 3| 12 328 fERAR EXHE B 3 &4 7 | 43338
1500 48 | 2 | 17 127 kK IBZE BHiEXRI £ 19 | 4.33.61
1500 49 | 3 | 13 797 ) O82 BERE T M S 8 | 43378
1500 50 3| 10 530 i 184 5E8H 9 4.34.04
1500 | 51 3 | 21 762 = %k & BERRIESR 10 | 4.34.36
1500 52 | 4 8 310 N F= EREZ 4 | 4.35.09
1500 53 | 4 | 13 185 =8 IDAER FERENERPER 5 | 435.31
1500 54 | 4 3 437 FE =8| TAHAHIRO RC 6 | 4.35.61
1500 | 55 | 4 [ 12 417 KLU BTZE —BEE— 7 | 43617
1500 56 [ 3 | 11 895 +8 BE &M 11 | 4.36.23
1500 | 57 [ 3 | 15 277 I\EE HE R E SR 12 | 4.38.20
1500 58 | 4 | 19 972 Fith JBA EELFEESK 8 | 4.38.35
1500 59 4 2 435 FIE EX TAHAHIRO RC 9 4.39.10
1500 | 60 [ 5 7 221 INEFIE N Jt £ - B A 1 4.39.11
1500 | 61 4 5 407 aE BA —BEE— 10 | 4.40.04
1500 62 1 15 117 R =EX BRI £ 20 | 4.40.31
1500 63 [ 2 | 14 120 ki B BHigEXRI £ 20 | 4.41.23
1500 | 64 | 4 6 919 Ek B BREEESR 11 | 4.41.68
1500 65 2 | 24 350 PN BT 21 | 4.41.97
1500 66 [ 2 | 18 557 HiT # FEXILE 22 | 44293
1500 67 | 3 5 361 XH & BEfE T 13 | 4.43.55
1500 68 | 5 3 623 —52 XiE REEESK 2 | 44491
1500 69 | 6 [ 11 807 ERXK BE EEEESK 1 4.46.32
1500 | 70 [ 4 | 20 405 =ik A3k —BEE— 12 | 4.47.18
1500 71 5 6 100 2t Ei# TEER 3 | 44726
1500 72 | 4| 22 57 T8 ERE TN 13 | 4.48.18
1500 73 | 4] 23 515 #}RK £5 EEEK 14 | 4.48.41
1500 74 | 4| 16 126 &ith RE EHiEXIE 15 | 4.48.47
1500 75 | 4 1 769 ¥ H ) BRAIESK 16 | 4.48.69
1500 | 76 [ 4 | 15 515 I BE BFFER 17 | 4.48.74
1500 77 4 | 18 372 W Ak Jt_Edh 18 | 4.49.69
1500 78 4 | 21 415 A BaR — R — 19 | 449.74
1500 | 79 [ 5 | 10 761 He (G55 L E PR 4 | 45085
1500 | 80 [ 3 | 23 768 + H & 3 BERRIESRK 14 | 451.20
1500 81 5 1 735 ml EA B K EF MRS 5 | 45224
1500 | 82 [ 5 4 726 EE B R E SR 6 | 45224
1500 | 83 | 6 6 931 fERK &R KIREESK 2 | 45253
1500 84 | 3 | 22 763 & B i BRAIESK 15 | 4.53.00
1500 | 85 [ 5 2 624 BEH 15 BREEESRK 7 | 453.00
1500 86 [ 4 | 17 593 ILEAFEH FEKZEGFA) 20 | 4.53.99
1500 87 | 3 7 972 fR P Sn THREER 16 | 4.55.02
1500 88 | 6 | 12 811 =i —H EEEESK 3 | 45755
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1500 89 | 5 5 527 AE Eil5 5E8H 8 | 457.86
1500 90 [ 5 | 18 836 Thk %% REf 4L 9 | 45818
1500 91 5 | 11 281 LA BRARER = 5 B R 10 [ 4.58.59
1500 92 [ 6 | 17 1304 Il 3R 558 4 | 45911
1500 | 93 [ 6 5 191 FE FA FEREMLFEREFER 5 | 459.83
1500 94 | 6 2 189 BE RFE FEREILFERRER 6 | 5.00.69
1500 95 5 | 23 1524 HEE &R T/ 11 | 5.01.20
1500 | 96 | 5 8 213 NE =5 B K EFME S 12 | 5.01.85
1500 97 [ 5 | 19 45 B EH JKiR & 13 | 5.02.28
1500 98 | 6 9 922 HFT Kih BREEESRK 7 | 50278
1500 99 6 | 19 938 XAEE X2 B FE 55 Y 8 5.03.72
1500 | 100 [ 6 3 637 ZH 4 LR F R 9 | 50444
1500 | 101 | 5 | 20 777 FH BER LEREER 14 | 5.04.57
1500 | 102 [ 3 | 16 1267 B & TEEPER 17 | 5.04.65
1500 | 103 [ 4 | 11 416 %k Ei —BEE— 21 | 5.07.45
1500 | 104 | 5 [ 21 778 A &3 LEREER 15 | 5.07.64
1500 | 105 [ 5 9 458 R EE RATR 2R 16 | 5.08.73
1500 | 106 | 6 [ 10 1650 i Bt L HEPER 10 | 5.08.73
1500 | 107 | 6 | 14 1306 Sl GBS BEAT 11 | 5.09.77
1500 | 108 | 5 | 17 526 FHith J|A ERE 17 | 5.10.23
1500 | 109 [ 6 | 16 808 BiE FEn EEEESK 12 | 5.11.22
1500 | 110 | 6 | 13 1398 =ta s EEEERPER 13 | 5.11.77
1500 | 111 [ 5 | 13 974 e @ EEFESK 18 | 5.14.32
1500 | 112 [ 5 | 16 958 FIE HX KR R 19 | 5.15.13
1500 | 113 | 5 | 14 49 I BE T/ 20 | 5.15.75
1500 | 114 | 6 8 920 ZH &8 BE X S 14 | 5.16.13
1500 | 115 [ 5 | 22 536 i ERE 55485 21 | 5.18.08
1500 | 116 | 6 7 1526 EE Ut T/higeh 15 | 5.21.94
1500 | 117 | 6 1 1296 Biz BE TEEPFR 16 | 5.23.63
1500 | 118 [ 6 | 15 1682 hE EA dt Eh 17 | 5.40.01
1500 [ 119 | 6 [ 18 1399 BE BEFE FREILFERFER 18 | 6.32.84
1500 1 2 109 =EH ME HEgXdEE DNS

1500 1| 22 257 FIER H ik TEAMZ T )L/ DNS

1500 2 | 13 210 KE Ki5 B [ KE MR Sk DNS

1500 2 | 20 564 &I EER BREEESK DNS

1500 3 9 240 HZARER Jt £ - i DNS

1500 3| 18 823 A HE eI DNS

1500 4 7 192 FHE b EREMERPER DNS

1500 4 9 1284 BFA HiX 13 [ AR DNS

1500 5 | 12 259 INEES: TEAM7 T ILA DNS

1500 5 | 15 220 FEEF Jt - R DNS

1500 6 4 1291 XiBEAR Jt £ - A DNS

3000 1 1 2 361 REEREF H 748+ 37 Fp 4l 22 AR 1 9.39.15
3000 2 1 1 181 =H B FERATIFER R 2 | 94166
3000 3 1| 10 53 EiF = TN 3 | 9.48.03
3000 4 [ 1] 25 122 EN 3 PN daak o 54 4 | 95554
3000 5 1 6 175 Il iR FERELFERRER 5 | 956.19
3000 6 1 5 173 HE Bt FERENLERPER 6 | 9.56.44
3000 7 1 | 11 185 =45 IDAER FRETFEGFER 7 | 9.56.70
3000 8 1 3 172 Fi¥ BHA FERELFERRER 8 | 95855
3000 9 1 9 310 XN T= EIREZ 9 |10.06.52
3000 10 1 12 303 AR w3 ERE_h 10 [ 10.10.65
3000 [ 11 | 1| 26 123 WHE B3 = B 11 |10.23.87
3000 121 1] 14 1267 EH &K TEEPER 12 |10.48.22
3000 [ 13 | 1 | 27 121 2R BEX = B 13 |10.49.50
3000 14 | 1] 21 189 BE RFE FREMFERFER 14 |10.51.50
3000 15 1] 20 1524 HEE T/hEge 15 | 10.56.87
3000 16 1 17 1310 INE SR 7KiR e 16 | 11.10.93
3000 17 | 1 19 49 &) BE T/NEg 17 [ 11.17.95
3000 18 1 18 944 £H HA JKIREE R FER 18 | 11.18.45
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3000 19 1 23 1307 BHir &3t 5548 19 [11.32.75
3000 20 | 1 13 306 ki & ERE_h 20 |11.43.26
3000 1 4 130 B ERi KE 2 (EE) DNS

3000 1 7 400 ERK BEE %0 R DNS

3000 1 8 588 P B RER FhZEgR DNS

3000 1 15 192 A B FEREGFERERER DNS

3000 1 16 1309 INEFIFERE KR DNS

3000 1 22 1398 =t sk EREERPER DNS

3000 1] 24 116 ¥ ZE =R DNS

5000 1 2 9 375 =2 EtH LIRERER 1 ]14.58.99
5000 2 2 2 95 Wl HE TEE® 2 |15.17.66
5000 3 2 7 209 EIP.N) R KEMESK 3 |15.26.56
5000 4 2 | 11 124 ¥TH = Jt EHkER 4 |1527.45
5000 5 2 4 256 EK H—HA TEAM7TI)LA 5 |15.29.95
5000 6 2 1 86 IS EFBEEK 6 |15.31.00
5000 7 2 6 145 mIIEX FEXZEGFE) 7 [15.33.75
5000 8 2 3 303 ER”RK AR BRI S 8 |15.36.71
5000 9 2 8 155 ZH A BREE—S 9 |15.38.24
5000 10 2 5 12 i & fEEAC 10 | 15.39.24
5000 11 2 | 16 616 = H IRER BEFKRE 11 | 15.39.62
5000 12 | 2] 17 377 KalE R AR RE R 12 [15.42.17
5000 13 ] 2] 13 6714 —/ZF B E& EEROUT) 13 [ 15.49.39
5000 14 2 | 21 14 EAERRS TE&EAC 14 | 15.51.77
5000 15 | 2] 12 315 A EEXE 15 | 15.58.24
5000 16 | 1 2 712 INITEEPS TESK 6 |16.58.36
5000 17 | 2 | 36 213 #E B TryAgainRC 16 | 16.05.81
5000 18 21 15 2445 3R M SLBER(EH) 17 |16.07.08
5000 19 | 2] 33 325 FE EE EEHIL SR 18 | 16.07.49
5000 20 | 2 | 25 220 RE HE EEXFEHESER 19 | 16.08.14
5000 21 2 | 26 222 K 1B R XFHESK 20 [16.18.83
5000 22 | 2 | 24 219 JEKME JkFD BE [ K MR S A 21 |16.21.55
5000 23 | 2 | 39 32 HE Tt TSt 22 |16.21.86
5000 24 | 2 | 38 386 i E— & i BT [ 173 23 | 16.22.97
5000 25 | 2 | 32 163 &5 EE FEER 24 |16.25.85
5000 26 | 2 | 19 51 WA EF BE[E R 25 |16.27.37
5000 27 | 2 | 27 320 2R K— BEHIL SR 26 |16.31.78
5000 28 1 6 272 ERK BERE B[ F = AR 1 ]16.33.07
5000 29 | 2 | 43 442 B tha REE= 27 |16.33.89
5000 30 [ 2 | 34 330 B &3 EEH IS 28 |16.37.28
5000 31 2 | 40 312 %ok B3l BT I S 29 |[16.38.48
5000 32 | 2 | 44 389 I HFE & BT EE R 30 | 16.39.40
5000 33 1 8 744 e fEAh TEAM7TI)LA 2 |16.39.73
5000 34 1 9 216 =2l [FE B i) KM E Sk 3 |16.45.19
5000 35 | 2| 14 3071 INFF TR SALEBER(E D 31 | 16.46.28
5000 36 | 2 | 41 374 RS =F B EKx 32 |16.46.70
5000 37 1 27 625 IME BXR REEESEK 4 |16.50.81
5000 | 38 | 1 | 14 270 INIE S TEAMZ T)LA 5 |16.54.64
5000 39 [ 2 | 20 16 TEEZH TE&EAC 33 | 16.56.50
5000 40 1 13 298 =H At &4 7 |17.01.00
5000 | 41 2 | 46 329 B BRI S 34 [17.06.75
5000 42 1 7 314 SR HA b 8 [17.07.78
5000 43 1 26 798 f2H # BRI S 9 |17.09.29
5000 | 44 | 2 [ 37 724 PFH Bk BX [E B = AR 35 [17.10.06
5000 45 1 4 380 it 8 LR EBRERR 10 [17.14.86
5000 | 46 | 1 [ 31 376 iR HE— LR EBER 11_117.16.23
5000 47 1 35 437 FE =H| TAHAHIRO RC 12 [17.17.08
5000 48 | 2 | 45 328 EARK BBXH EEHIL SR 36 |17.17.40
5000 49 1 23 265 a5 sk RE [ F = AR 13 [17.18.79
5000 50 1 5 114 Fith ERAY 4t _E HRER 14 [17.21.54
5000 51 1 11 48 A BEK RE [ h 15 | 17.26.48
5000 52 | 1| 22 264 FHE % RE [ F = AR 16 _|17.29.91
5000 53 | 1 3 715 FE —Ht FESK 17 | 17.35.60
5000 54 1 20 84 — B F aF B EK 18 [17.37.16
5000 55 | 2 | 47 797 E AT BT M S 37 |17.39.07
5000 56 | 1 | 46 524 EH ER EAmElR 19 |17.43.33




#BEH |G| #8 | — | 2ass K% R = | =& | 2
5000 57 | 1| 44 977 =H B EELEESK 20 | 17.46.07
5000 58 | 1 1 174 INGFFRE FESK 21 | 17.46.11
5000 59 1 32 120 =8 A Jt EHEER 22 |17.47.76
5000 60 | 1 15 417 KL BTZE —BEE— 23 | 17.51.43
5000 61 1 | 30 333 fitits e BE [ h 24 |18.08.85
5000 62 1 36 117 e & N . b EHEER 25 |18.17.91
5000 63 | 1 | 39 415 RISEEE —BE— 26 | 18.22.11
5000 64 | 1 | 29 714 Fih FE FESK 27 |18.31.50
5000 | 65 | 1 [ 33 405 Rk A3t —BE— 28 | 18.48.99
5000 66 | 1 | 42 98 {ERbESE EF 8K 29 |19.04.78
5000 67 1 34 821 EE i EFREIKRE 30 | 19.04.95
5000 68 1 | 45 416 %k B —BE— 31 | 20.00.25
5000 69 1 28 173 AHE EKF TFEER 32 |20.54.84
5000 70 | 1 10 153 INE R BREE—5 33 [21.27.22
5000 1 12 50 i BX EIRLEES DNS
5000 1 16 707 A B3l R R DNS
5000 1 17 514 fERK KZE EEEK DNS
5000 1 18 93 At+ER— aF B EEK DNS
5000 1 19 747 [ickishintl E2FBEK DNS
5000 1 21 711 =2 =F B EEKx DNS
5000 1 24 407 E=NiPN aF BEK DNS
5000 1 25 737 INE EA BERE DNS
5000 1 | 37 259 INE 5P TEAMZ TI)LA DNS
5000 1 38 686 HE SX R EER DNS
5000 1 | 40 819 HHE f&EKER EFREIKRE DNS
5000 1| 41 406 INEF RS =F B EKx DNS
5000 1 | 43 95 BREBA =FBEK DNS
5000 2 | 10 257 &R B &k TEAMZ T)LA DNS
5000 2 | 18 255 o N TEAM7TI)LA DNS
5000 2 | 22 26 hly B TEEAC DNS
5000 2 | 23 594 BiE BA REE= DNS
5000 2 | 28 6087 25 ¥ HRFIAREICA FEERGEA) DNS
5000 2 | 29 296 ith HEST Jiz=F|8 DNS
5000 2 | 30 263 EF BE TEAMZ T)LA DNS
5000 2 | 31 118 ik Bk b EHEER DNS
5000 2 | 35 98 TP #fR TEER DNS
5000 2 | 42 271 [DEE TEAMZ 7L A DNS
3000SC| 1 1 6 854 FRE fin 5 FUIHE R B2 1 (R EH) 1 9.56.72
3000SC| 2 1 8 16 FTEERH TEEAC 2 |10.07.10
3000SC| 3 1 5 175 kB Fit FESK 3 |10.09.44
3000SC| 4 1 4 594 B BA EEE= 4 [10.25.34
3000SC| 5 1 3 296 3ith HEST &4t 5 [10.33.72
3000SC| 6 1 10 3 {EBRIFAER FEE2EBERAK 6 |10.34.32
3000SC| 7 1 11 298 =H Ft Jiz-F|4 7 ]10.35.64
3000SC| 8 1 1 504 BEi5 BAE BEFKE 8 [10.36.92
3000SC| 9 1 9 277 INER HE BEFE SR 9 |[10.44.77
3000sCc| 10 | 1 15 887 Bl BGR REE—S 10_|11.00.42
3000SC| 11 1 7 371 XE EH N B #BEEE) 11 [ 11.02.60
3000sC| 12 | 1 19 226 INER BT ETEEEESK 12 [11.33.35
3000SC| 13 1 13 210 KE KB5 B[ KM E Sk 13 | 11.38.19
3000SC| 14 | 1 14 221 =i BE R XEMESK 14 | 11.51.54
3000SC| 15 1 18 445 KA _&Eth BEE= 15 [11.53.34
3000sC| 16 | 1 12 407 a2l BA —BE— 12| 12.28.84
3000SC| 17 | 1 17 214 H ZEX BE [ K M S A 17 | 12.33.57
3000SC 1 2 627 =28 2 BFXE DNS
3000SC 1 16 150 IUEHEEH MEAXZEFE) DNS
4%100 1 1 4 290 R EE A MEXZF@EE) 1 4157 2
4%100 1 1 4 790 HOEE A XZFGFA) 1 4157 4
4%100 1 1 4 456 EZE FERZFFA) 1 4157 3
4%100 1 1 4 145 a2 A KFGEA) 1 4157
4%100 1 1 4 795 R KRR A XZFGFA) 1 4157 1
4%100 2 1 6 559 INE B EFXE 2 41.79 3
4%100 2 1 6 4 NX RE BF REGFA) 2 41.79 4
4%100 2 1 6 17 WEH AKX EFREGFA) 2 41.79 1
4%100 2 1 6 572 Tk it EFXE 2 41.79 2




#BEH |G| #8 | — | 2ass K% R = | =& | 2
4%100 3 1 8 456 MR B R[] 55 7Y 3 43.21 1
4%100 3 1 8 455 Fik B2 B [E 55 P 3 43.21 2
4%100 3 1 8 457 fE BEFE R%[if] 55 7Y 3 43.21 4
4%100 3 1 8 454 g & B[] 55 7Y 3 43.21

4%100 3 1 8 937 FE OREK % [ 55 0 3 43.21

4%100 3 1 8 941 IESERETN RE i) 55 7Y 3 43.21 3
4%100 | 4 1 7 268 INE BE EE SR 4 43.30 3
4x100 | 4 1 7 276 = P2 R E SR 4 43.30 2
4%100 | 4 1 7 717 HE BA B E R 4 43.30 1
4x100 | 4 1 7 727 RE I EE SR 4 43.30 4
4%100 5 1 5 96 il E TEEHA 5 43.60 1
4%100 5 1 5 97 ErRK EE TEERA 5 43.60 2
4%100 5 1 5 99 =5 E1T TEEHRA 5 43.60 4
4%100 5 1 5 100 i BiE TEEHA 5 43.60 3
4%100 5 1 5 102 iz B3 TEERA 5 43.60

4%100 6 1 3 318 58 EZB B IS4 6 44.80

4%100 6 1 3 319 ER EE EEH IS 6 44.80 4
4%100 6 1 3 327 Eik L BRI &4 6 44.80

4%100 6 1 3 331 DEEEEES B [E T 3 S A 6 44.80 2
4%100 6 1 3 332 W EX % [ Th 3L &4 6 44.80 3
4%100 6 1 3 794 FAIER 3K B H 3L &4 6 44.80 1
4%100 7 2 6 617 BAF Fif R—LT3/TC 1 4517

4%100 7 2 6 618 FHih K R—LII/TC 1 4517 2
4%100 | 7 2 6 619 =iE M= HR—LI/TC 1 45.17 1
4%100 7 2 6 620 21 #=F R—LI3/TC 1 4517

4%100 7 2 6 621 =H 1§ R—LITI/TC 1 4517 4
4%100 7 2 6 692 e SR R—LT/TC 1 45.17

4%100 7 2 6 653 GO PN HR—LII/TC 1 4517 3
4x100 | 8 2 1 590 Rk Iath 1E5d 2 4557 1
4%100 8 2 1 592 HE H 1EEd 2 4557 2
4%100 8 2 1 295 Fik FE 1EEd 2 4557 3
4%100 8 2 1 593 ERKR HFE &4 2 4557

4%100 8 2 1 591 KE EA &4 2 4557 4
4%100 9 2 5 225 AN Jt £ - B R 3 45.78

4%100 9 2 5 228 {ERKRERK Jt - R 3 45.78 2
4%100 9 2 5 226 k=R KiE3t Jt £ - i 3 45.78 1
4%100 9 2 5 229 FHEN db £ - R 3 45.78 4
4%100 9 2 5 239 —HFF Jt - R 3 45.78 3
4x100 | 10 | 2 3 552 INE EB 1EEME 4 4598 2
4100 [ 10 | 2 3 556 EH 1EEm 4 45.98 3
4%100 | 10 | 2 3 554 =5 B 1E5m 4 45.98 1
4100 | 10 | 2 3 555 FH X 1EEME 4 4598 4
4x100 | 10 | 2 3 894 AH BEA & 4 45.98

4x100 | 10 | 2 3 895 £H BHE 1EEM 4 45.98

4%100 | 11 1 2 449 AER #E RAERER 7 46.01 2
4x100 | 11 1 2 450 ki —F RETE PR 7 46.01 4
4x100 | 11 1 2 452 iR [EFE KA DER 7 46.01 1
4%100 | 11 1 2 454 BB & KA ER 7 46.01 3
4x100 | 12 | 2 7 156 ERER EEE—5 5 46.13 3
4x100 | 12 | 2 7 159 HH EA BREE—S 5 46.13 1
4x100 | 12 | 2 7 160 JEER B EEE—5 5 46.13

4x100 | 12 | 2 7 889 =iE BEE—5 5 46.13 2
4100 | 12 | 2 7 890 EREHEON REE—S 5 46.13 4
4x100 | 12 | 2 7 891 =& 125 BREE—5 5 46.13

4x100 | 13 | 2 8 196 it BX KREESRK 6 46.29 2
4100 | 13 | 2 8 197 k& R KIREESK 6 46.29 4
4x100 | 13 | 2 8 844 FH s KRB E S 6 46.29 1
4x100 | 13 | 2 8 843 B PN KRS 6 46.29 3
4x100 | 13 | 2 8 842 it E KRB XS 6 46.29

4100 | 13 | 2 8 931 ERrRK 1&A KiREESK 6 46.29

4%100 | 14 | 3 6 616 BH £5 EEEESK 1 46.46 3




#BEH |G| #8 | — | 2ass K% R = | =& | 2
4x100 | 14 | 3 6 615 ki Bk EEEESK 1 46.46 1
4100 | 14 | 3 6 611 AtE A EEEESK 1 46.46 2
4x100 | 14 | 3 6 617 FEE 14 EEEXSK 1 46.46 4
4x100 | 15 | 2 4 103 INEED B 1EEHEB 7 46.95 2
4x100 | 15 | 2 4 104 kRK & LA RB 7 46.95

4100 | 15 | 2 4 105 B = TEEHEB 7 46.95 1
4x100 | 15 | 2 4 107 BiE e 1E&HB 7 46.95 4
4100 | 15 | 2 4 108 REFE BE 1E&£HB 7 46.95 3
4x100 | 16 | 3 2 690 BR ME SRS 2 4754 3
4x100 | 16 | 3 2 692 Al LiE SRS 2 47.54

4%x100 | 16 3 2 693 MR B &R SR 2 4754

4100 | 16 | 3 2 694 L 5 IR SRR 2 47.54 1
4100 | 16 | 3 2 695 T 5 ETIBER 2 4754 2
4x100 | 16 | 3 2 696 J\ER& the & IR SR 2 47.54 4
4x100 | 17 | 3 8 302 Fih HE ERE_H 3 47.56 2
4x100 | 17 | 3 8 307 Hit & ERE_H 3 47.56 3
4x100 | 17 | 3 8 306 hik & ERE T 3 47.56 4
4100 | 17 | 3 8 301 NERE Eth ERE_ 3 47.56

4x100 | 17 | 3 8 300 HiR —%& ERE_h 3 47.56 1
4x100 | 18 | 3 3 924 A w3 BERI—L(#FH—T) 4 48.25 4
4%x100 | 18 3 3 925 Tk EA BEARAA—L(F—T) 4 48.25 3
4x100 | 18 | 3 3 926 ERKR RBRR BEAa—L(F—T) 4 48.25 2
4100 | 18 | 3 3 679 FH #F TEEMERRI-LE) 4 48.25 1
4100 | 19 | 4 1 177 =i BX FEER 1 48.99 3
4100 | 19 | 4 1 710 3T 15% FEER 1 48.99 4
4100 | 19 | 4 1 713 £H BE TESK 1 48.99

4x100 | 19 | 4 1 711 INEPE ;E TFESK 1 48.99 2
4100 | 19 | 4 1 176 BRE Kih FEER 1 48.99 1
4x100 | 20 | 3 4 609 BiE hER LRBEER 5 49.17 2
4x100 | 20 | 3 4 776 FIER M LRREER 5 49.17

4x100 | 20 | 3 4 777 LA BER REHREER 5 49.17

4100 [ 20 | 3 4 779 A HDOF LEREER 5 49.17 3
4100 | 20 | 3 4 780 JEPEHE ARA REHREER 5 49.17 1
4x100 | 20 | 3 4 978 fERAR KK BIRBREER 5 49.17 4
4%100 | 21 3 7 674 it ThR EHRIESE 6 4954 2
4%100 | 21 3 7 872 IZNE BEAR EHFRIESE 6 49.54 3
4%100 | 21 3 7 871 INEETR A EHFRIESEK 6 49.54 1
4%100 | 21 3 7 873 HEE 3 EHRIESE 6 4954 3
4x100 | 22 | 4 2 960 B fngE KRB 2 49.71 1
4100 | 22 | 4 2 946 AN B JKIRE B 2 49.71 3
4100 | 22 | 4 2 945 BH KF KR EKB 2 49.71 2
4x100 | 22 | 4 2 948 HE ER KR E4B 2 49.71 4
4%x100 | 23 4 3 371 g R Jt EhA 3 49.74 3
4100 | 23 | 4 3 369 ERK #BE Jt_EhA 3 49.74 1
4%x100 | 23 4 3 372 WH A Jt EhA 3 49.74 4
4100 | 23 | 4 3 370 =i &/ Jt EdhA 3 49.74 2
4x100 | 24 | 3 1 931 Rl BB KRR ERA 7 49.80 4
4100 | 24 | 3 1 932 AH EE KIREHERA 7 49.80 2
4x100 | 24 | 3 1 937 =i 2 KRB FERA 7 49.80 1
4x100 | 24 | 3 1 1702 BE WF JKIRFE P ERA 7 49.80 3
4100 | 25 | 4 6 825 INEFSF fBiE TEAM BRIE 4 52.23 4
4%x100 | 25 4 6 827 BH EKXE TEAM BRIZ 4 52.23 3
4%100 | 25 4 6 828 ek EhtH TEAM BRI& 4 52.23 2
4x100 | 25 | 4 6 830 BmH Bz TEAM BRIE 4 52.23 1
4%100 4 5 953 1EBE MEA KREE 24D 5 52.59 1
4%100 | 26 | 4 5 947 =ik EX JKIRE R ERD 5 52.59 2
4x100 | 26 | 4 5 1427 &k B KR ERD 5 52.59 3
4100 | 26 | 4 5 1424 R X KRB 24D 5 52.59 4
4100 | 26 | 4 | 4 955 AK B KR ERC 6 53.60 1
4%x100 | 26 | 4 4 952 gk e KRB ERC 6 53.60 3
4x100 | 26 | 4 4 950 ERK BiE KRB ERC 6 53.60 2




#BEH |G| #8 | — | 2ass K% R = | =& | 2
4x100 | 26 | 4 4 957 FE —® KIREHERC 6 53.60 4
4%100 2 2 521 HH Bk REf 4L DNS

4%100 2 2 525 1l E= 2 drikle DNS

4%100 2 2 835 EH RE REfE b DNS

4%100 2 2 837 SRk B B L DNS

4%100 2 2 839 +iHE HE 24nikle DNS

4%100 3 5 622 alll # BREEESRK DNS

4%100 3 5 627 kg BE B ESR DNS

4%100 3 5 628 BAR BK BREEESEK DNS

4%100 3 5 918 R IRE BREEESRK DNS

4%100 4 7 377 5H BE Jt E4B DNS

4%100 4 7 378 B A Jt 4B DNS

4%100 4 7 373 fTER Zhi Jt EB DNS

4%100 4 7 374 faTER A it E&B DNS

4%100 4 8 1269 INE)IL SR L& hER DNS

4%100 4 8 1270 ERrRAKR XKH EEDER DNS

4%100 4 8 1268 ZKE AL & PR DNS

4%100 4 8 1387 g SR TEEPFER DNS

100 1 1 4 1091 2IL8F MEXZEE) 1 1248 | +0.3
100 2 1 5 73 ¥H BX EFXE 2 1278 | +0.3
100 3 1 3 77 £ EA8 BEFKRE 3 12.87 | +0.3
100 4 1 6 428 K BEE EHEG 4 1289 | +0.3
100 5 1 2 216 BiE ERF EE™H IS’ 5 1308 | +0.3
100 6 1 1 221 B A BRI S 6 13.12 | +0.3
100 6 3 4 140 BEN R EETELHRERE 1 1312 | -06
100 8 1 7 564 ERK B¥ L F R 7 13.16 | +0.3
100 9 2 1 170 EH EIF FERBILERREER 1 13.37 | +0.6
100 10 | 4 4 405 ERKR B b £ 1 1338 | -1.8
100 10 | 9 6 416 A %#“' FEIE S 1 13.38 | -0.1
100 12 | 7 8 189 i Fli RE [ F = AR 1 1343 | -1.8
100 13 | 1 8 217 mHO %EPJ E&I‘JFE_L.—,& 8 1350 | +0.3
100 14 | 3 2 309 ik EBF —EE 2 13.51 —0.6
100 15 | 3 5 314 wh)Il —F;E]’;fﬁ— 3 1363 | -0.6
100 16 | 2 8 55 XE BEF T/ 2 1368 | +0.6
100 17 | 5 8 214 ERK BE En‘?ﬂﬁi_f.—]ffi 1 1368 | -1.6
100 18 | 3 1 563 HE ¥4 REE—5 4 1376 | -0.6
100 19 | 7 2 182 T #£3% B E R = AR 2 1379 | -1.8
100 20 | 2 2 1204 AE T FEARXZEE) 3 1381 | +0.6
100 21 6 5 226 =S B[ T 3L &A% 1 1382 | -1.9
100 22 | 6 6 227 Wiz #E RE AT 3L S 4 2 1382 | -1.9
100 23 | 4 5 181 A HE BE [ F = AR 2 13.83 | -1.8
100 24 [ 13 ] 6 660 J‘!:?E wiE —BEE— 1 13.83 | +0.1
100 25 | 2 6 455 FH EZH 1t&m 4 1384 | +0.6
100 26 | 4 2 471 X B¥ EE548H 3 13.91 -1.8
100 27 | 7 3 46 BE ¥ /KR 3 1391 | -1.8
100 28 | 9 5 1166 ZE 2 JKiR 2 13.92 | -0.1
100 29 | 4 6 635 A IR S ZEEEK 4 1393 | -1.8
100 30 [ 5] 5 418 RB 8% RAIE 2R 2 1395 | -1.6
100 31 9 1 406 B4 BIEE Jt E5im 3 1395 | -0.1
100 32 | 3 7 270 RE ftFE ERE 5 1396 | -0.6
100 33 ] 4| 3 277 k- £ ERE = 5 1396 | -1.8
100 34 | 2 3 695 INER EK 1t&m 5 13.98 | +0.6
100 35 | 9 4 431 EO EE anik| 4 14.01 -0.1
100 36 | 6 4 222 FFIER HEE BEHIL SR 3 1403 | -1.9
100 37 7 7 58 dtE M= T/higd 4 1404 | -1.8
100 38 | 5 3 344 E& Hs0 EAGRE AL 3 1406 | -1.6
100 39 7 6 1157 INEFFRN KR 5 1407 | -1.8
100 40 | 8 8 167 HhE ThE EREERPRER 1 1409 | -0.3
100 41 8 7 1124 INEFFE BTE FaET R 2 1410 | -0.3
100 42 | 9 8 727 fE 2T LHPZER 5 1412 | -0.1
100 43 | 4 7 51 [N = JKiR s 6 1413 | -1.8
100 4 | 16| 7 651 [FH XR REE= 1 1414 | -11
100 45 | 5 7 345 Hf @A PIREYL 4 1416 | -1.6
100 46 | 6 8 220 [EIE S bt L -mhER 4 1416 | -1.9




#BEH |G| #8 | — | 2ass K% R = | =& | 2
100 47 [ 10| 4 1098 BAR BRR EE PR 1 1416 | -2.1
100 48 [ 13 [ 1 812 FIE FF KIRE P ER 2 1416 | +0.1
100 49 | 6 7 1091 EARXK ImF Kb g 5 1417 | -1.9
100 50 | 12| 8 173 Hi &2 EREAFERERER 1 1417 | -1.2
100 51 2 7 1147 A B TEEPER 6 1418 | +0.6
100 52 | 6 1 424 ﬁ'#n =R EEER 6 1418 | -1.9
100 53 | 13| 7 348 =EE & 4t _E b 3 1420 | +0.1
100 54 | 3 6 215 Enas %u b b B 6 1421 | -06
100 55 | 4 | 8 329 T8 =EnF EEE= 7 1422 | -1.8
100 56 | 8 5 34 Rl DEH JKiR & 3 1423 | -0.3
100 57 | 11 7 347 NS FET bk 1 1424 | -2.3
100 58 | 12| 2 634 ERK ER ZEEK 2 1424 | -1.2
100 59 | 6 2 1379 AR HhE T/hE&dh 8 1426 | -1.9
100 60 | 6 3 228 BiR XK EEH IS 7 1426 | -1.9
100 61 4 1 60 NiE kE T/ 8 1427 | -1.8
100 62 | 8 4 1104 ZE HiEE EEFER 4 1427 | -0.3
100 63 | 9 2 66 =g S T/NE& 6 1431 | -0.1
100 64 | 11 8 468 e BT EE548H 2 1434 | -2.3
100 65 | 14| 7 560 ®EE A I FhER 1 1434 | -0.7
100 66 | 21 6 592 éﬁ];ﬂz BEE FAIE S 1 1435 | 05
100 67 | 17 ] 2 1484 IVEE it £k 1 1441 | -14
100 68 | 19| 1 1199 ﬁﬁ%(ié% ERE—F 1 1441 | -1.0
100 69 7 5 223 SREAAME bt £ -mhER 6 1442 | -1.8
100 70 | 13| 8 813 H5H _#b KRB 2 4 1442 | +0.1
100 71 3 8 143 k2K BEE R XEMESK 7 1443 | -06
100 72 | 5 2 353 g £BE PIREYL 5 1443 | -1.6
100 73 | 8 3 653 XA Ei& —BE— 5 1443 | -0.3
100 74 [ 20| 2 313 FE &N —BEE— 1 1443 | -1.2
100 75 [ 16 ] 1 687 FEK BT BREE—5 2 1444 | 1.1
100 76 | 8 6 131 &I */z KREESK 6 1446 | -0.3
100 77 1 11| 5 101 2 1% FESK 3 1446 | -2.3
100 78 | 23] 6 1162 FE ZXK KR 1 1446 | +0.4
100 79 | 5 6 419 ] BB B AR R 6 1447 | -1.6
100 80 | 9 3 559 = tF SIEF R 7 1447 | -0.1
100 81 [ 10| 8 616 REH X EEHIL SR 2 14.51 -2.1
100 82 | 18] 5 188 +XF 2 RE [ F = AR 1 1454 | -14
100 83 [ 14| 8 315 B EA —BEE— 2 1455 | -0.7
100 84 | 7 1 213 JI¥mfE B Jb_E -Bh 7 1456 | -1.8
100 85 | 13| 2 473 k& ER BEEAT 5 1456 | +0.1
100 86 | 16| 8 577 Hf EF BEFREER 3 1457 | -1.1
100 87 | 12| 3 214 E 88 db £ -Bh R 3 1460 | -1.2
100 g8 [ 18| 8 562 R IEk FESK 2 1460 | -1.4
100 89 [ 16| 5 50 BH BTt KR 4 1462 | -1.1
100 90 | 10| 3 218 FE LB BT I S 3 14.65 | -2.1
100 91 [ 17| 7 624 =)l FTH=x &4t 2 1465 | -1.4
100 92 [ 19 ] 4 52 =f EE KR 2 1466 | -1.0
100 93 [ 14| 3 557 TEE S LR FhER 3 1467 | -0.7
100 94 | 13| 4 728 Bl IR LFHPZER 6 1469 | +0.1
100 95 | 9 7 1451 3 a3 ERE R 8 1471 | -0.1
100 96 [ 14| 6 1110 ®RiE == L2 4 14.71 -0.7
100 97 [ 12| 4 275 ik X& ERE—F 4 1472 | -1.2
100 98 | 11 [ 1 331 e KB BEE= 4 1473 | -2.3
100 99 | 16| 6 40 INEF B KR 5 1473 | -1.1
100 [ 100 [20] 1 1265 =i H#k = EF PR 2 1474 | 12
100 101 | 11 3 199 BER & fix-Fl4 5 1476 | -2.3
100 102 | 22| 6 596 B E X B BERRAIESK 1 1477 | -1.2
100 103 | 17| 3 43 ki B JKiR s 3 1478 | -1.4
100 104 | 18] 6 1140 FEPEF bt L -mhER 3 1479 | -1.4
100 105 | 19 ] 5 282 EH 28 EIRE—th 3 1479 | -1.0
100 106 | 22 | 2 1245 3 EES EREGERRER 2 1479 | -1.2
100 107 [ 13| 3 1099 P KREE TEEPER 7 1480 | +0.1
100 108 | 20 | 8 659 33 %EJ’J —BE— 3 1480 | -1.2
100 109 | 26 | 7 1249 | = FERAMERFER 1 1485 | -1.3
100 110 | 26 | 5 617 BEH ZTHRE EEEESK 2 1486 | -1.3
100 111 ] 15| 3 720 fngE BRF FHFPER 1 1488 | -1.6




#BEH |G| #8 | — | 2ass K% R = | =& | 2
100 112 | 15] 5 224 FEIR R bt -mhER 2 1489 | -1.6
100 113 [ 11 ] 6 483 EXit RE ERERER 6 14.91 -2.3
100 114 | 17 ] 6 562 SEEES L F R 4 14.91 -1.4
100 115 | 11 4 1384 £k ME T/high 7 1492 | -2.3
100 116 | 14| 2 357 WE Ek bt 5 1493 | -07
100 117 | 15] 6 169 kB ED ELERL R PR 3 1498 | -1.6
100 118 | 16 | 2 285 EITE i3 ERE_T 6 1498 | -1.1
100 119 | 17 ] 8 460 INE ERF £58% 5 1498 | -1.4
100 120 | 15] 7 1097 SHE U4k 1EE PR 4 1499 | -1.6
100 121 [ 22 ] 3 1298 =28 _BEE KRB E 3 1499 | -1.2
100 122 | 14 ] 1 219 ik A b E B 6 1501 | -0.7
100 123 21| 4 581 E TFA B KE M E Sk 2 1506 | -0.5
100 124 | 21 ] 7 1198 ERARFNRE ERE—G 3 1509 | -05
100 125 | 19 ] 3 217 EHEAE Jt b B 4 1510 | -1.0
100 126 | 20| 6 175 BX M EREERPER 4 15.11 -1.2
100 127 | 24| 2 1246 Bk HnY FERAMERFER 1 15.11 —0.2
100 128 ] 18| 3 1138 RN Jt £ B 4 1512 | -1.4
100 129 [ 19 ] 2 49 TH F&H KR e 5 1513 | -1.0
100 130 | 18 | 1 644 WA il Bk 5 1514 | -14
100 131 | 25| 5 546 =R £ SRS 1 15.15 | -0.2
100 132 | 10| 2 613 BHE 2D BT I S 4 15.16 | -2.1
100 133 | 15| 2 197 AEF B 151 5 1516 | -1.6
100 134 | 17 ] 1 807 I Us KRB R 6 1516 | -1.4
100 135 | 23| 7 1392 /R B L2 2 1519 | +0.4
100 136 | 19| 6 748 INE B —BEE— 6 1520 | -1.0
100 137 [ 19| 8 1159 i M= JK;R 7 1521 | -1.0
100 138 | 16 | 3 1160 FHih & KR 7 1523 | -1.1
100 139 | 16 | 4 1139 EBEkE db - 8 1523 | -1.1
100 140 | 18| 4 1385 WH /N T/ 6 1523 | -1.4
100 141 [ 14 ] 4 221 INGIIER b E-EhER 7 1524 | 0.7
100 142 | 12| 6 1378 XiB EH T/ 5 1525 | -1.2
100 143 | 12 ] 5 312 INFFE B —BE— 6 1526 | -1.2
100 144 | 24 | 3 38 =t KiE JKiR & 2 1527 | -0.2
100 145 | 20 | 3 561 AR FK I F R 5 1529 | -1.2
100 146 | 18] 2 108 2l & FEER 7 1535 | -1.4
100 147 | 22| 8 1391 IR BE L2 4 1535 | -1.2
100 148 | 20| 5 44 =EE D KR 6 15.36 | -1.2
100 149 | 27| 5 1155 R & EE548H 1 1537 | -0.3
100 150 | 27| 6 1247 ZR Kb FERAMERFER 2 15.38 | -0.3
100 151 [ 15| 8 1137 BWMER b b -Bh R 6 1539 | -1.6
100 152 [ 22 | 4 1416 Eid &R LR FhER 5 1540 | -1.2
100 153 | 12| 7 216 BAE X db E-FE R 7 1544 | -1.2
100 154 | 20 | 7 1197 ERK 2 ERE_th 7 1544 | -1.2
100 155 | 25| 6 547 TH ER ETIBER 2 1544 | -0.2
100 156 | 17| 5 1103 EICIEZ L& PR 7 1546 | -1.4
100 157 | 21 1 1092 R EH B¥h 4 1546 | -05
100 158 | 23 | 4 174 BH B2E EREERPER 3 1547 | +0.4
100 159 | 25 | 7 1537 =l By JtEch 3 15.51 -0.2
100 160 | 18] 7 724 FEy RE L HAPER 8 1564 | -1.4
100 161 | 25 | 3 1530 HE A b Eh 4 1565 | -0.2
100 162 | 19| 7 1111 =H EK LBk 8 1566 | -1.0
100 163 [ 21| 3 621 BEEEES E5dL 5 1567 | -05
100 164 | 23| 8 563 INER EE T FRER 4 1572 | +0.4
100 165 | 26 | 4 743 ME EE EEEETEEESK 3 1573 | -1.3
100 166 | 24 | 4 1161 BBEOL KR 3 1578 | -0.2
100 167 | 20 | 4 53 nE EE T/NE&h 8 1582 | -1.2
100 168 | 22 | 7 145 Wi F45 BE [ K M B S A 6 1585 | -1.2
100 169 | 22| 5 1447 Ef EH ERERER 7 1586 | -1.2
100 170 | 24 | 7 1433 £h1 fli Kt ER 4 1589 | -0.2
100 171 | 21| 8 107 FHLDH FESK 6 1590 | -05
100 172 | 23| 1 1158 INE R KR 5 1590 | +04
100 173 [ 24 | 1 272 aiE B ERE 5 1591 | -0.2
100 174 1 21| 5 1105 TE A TEEPER 7 1595 | -05
100 175 | 25 | 2 1244 fH FERIE FERAILERREER 5 1598 | -0.2
100 176 | 24 | 8 472 R FOfE HEEAT 6 16.03 | -0.2




#BEH |G| #8 | — | 2ass K% R = | =& | 2
100 177 | 15 ] 4 222 ERKAE bt -mhER 7 16.07 | -1.6
100 178 | 21| 2 726 ME LHPZER 8 16.08 | -05
100 179 | 27| 3 1153 Bl = 558 3 16.08 | -0.3
100 180 | 23 | 2 1390 FiE =F L8R 6 16.09 | +0.4
100 181 [ 23| 5 178 Wk =i ERNERRER 7 16.10 | +04
100 182 [ 22| 1 59 HEF B T/NE&h 8 1615 | -1.2
100 183 | 26 | 8 1534 FH & Jt £ 4 16.22 | -1.3
100 184 | 24| 5 283 KE BF ERE—F 7 16.24 | -02
100 185 | 27| 8 505 ERKR £ EEEESK 4 16.32 | -0.3
100 186 | 24 | 6 1418 = ECDES LR FhER 8 1645 | -0.2
100 187 | 26 | 6 1095 MNE HH TEEPER 5 16.46 | -1.3
100 188 | 26 | 2 810 TE D JKIRE P E 6 1652 | -1.3
100 189 | 26 | 3 1415 BiE Rt IHFRER 7 1658 | -1.3
100 190 | 23| 3 474 k& BEA £E8%H 8 16.63 | +0.4
100 191 | 27 ] 4 1151 F+E Fih EE548H 5 16.91 -0.3
100 | 192 [ 27 ] 2 1262 INEE B EEHRER 6 1730 | -0.3
100 | 193 [ 26 | 1 1261 AH Eff =EF PR 8 17.33 | -1.3
100 2 4 456 ZO HE 1EEm DNS

100 2 5 460 Wi ER 1E5m DNS

100 3 3 330 A BT BREE= DNS

100 5 4 1011 *XE §E BFXREGE&RID DNS

100 8 1 76 22 B BFXE DNS

100 8 2 147 INER 2% B KXFHESK DNS

100 10| 5 1442 Bk i EREDRER DNS

100 0] 6 1444 £k BKR R DNS

100 10| 7 219 AR BE RIS DNS

100 11 2 1437 WH T& Kt ER DNS

100 12 1 181 EE R FERAMERFER DNS

100 13| 5 432 BE A& IR DNS

100 14] 5 180 mH EE EEELERPER DNS —0.7
100 17| 4 1094 BxR R#E TEEPFER DNS

100 25 | 1 123 hi HEL =B DNS

100 25 | 4 1381 AH Bx T/ DNS

100 25| 8 462 #H =28 £58% DNS

100 27| 7 719 R T4 L HPER DNS

100 7 4 33 = BER KR e DQ

200 1 1 4 73 ¥TH BEX EFXE 1 2594 | -1.2
200 2 1 6 1011 X2 £ BFXREGE&RID 2 2644 | -1.2
200 3 1 3 77 2 %A BEFKRE 3 26.68 | -1.2
200 4 1 5 140 REERRER EEMEFBERS 4 2722 | -1.2
200 5 1 1 75 NG BE Eix—? 5 21.31 -1.2
200 6 1 2 414 ik RE FAIE S 6 2746 | -1.2
200 7 1 7 170 EH B3 %EHT_LEEEEP%& 7 2758 | -1.2
200 8 5 8 309 £k BEHF —BE— 1 2766 | -15
200 9 2 4 13 1T INIBEHELHRE 1 2775 | -18
200 10 | 2 6 277 FE ENT ERE_H 2 28.08 | -1.8
200 11 7 6 347 EINEE T B[] 55 Y 1 28.18 | -16
200 12 | 2 5 635 3 S ZEEK 3 28.23 | -1.8
200 13 | 4 5 424 B &R EEER 1 2825 | -05
200 14 | 2 3 144 =i &1t B[ KM E Sk 4 2829 | -18
200 15 | 6 3 471 X BF EERAT 1 2830 | -1.4
200 16 | 6 4 1379 R ME T/ 2 28.34 | -1.4
200 17 | 3 4 51 $ \A A JKiRdh 1 2840 | -1.0
200 18 7 2 97 =H B8 EREE—5 2 2843 | -16
200 19 4 7 416 n*ﬁx et FAIE S 2 2853 | -05
200 20 | 5 5 1098 #}BRK BR EE PR 2 2856 | -15
200 21 2 2 55 XE BEF T/ 5 28.62 | -1.8
200 22 | 4 4 220 BaT B8 K 5 bt L -mhER 3 28.62 | -05
200 23 | 3 5 455 it =R 1EEm 2 2865 [ -1.0
200 24 | 2 1 46 BiE ¥ KR 6 2867 | -1.8
200 25 | 7 5 345 H¥ B PIRETL 3 2867 | -16
200 26 | 9 1 173 A 182 FRAMFERRER 1 28.71 -0.9
200 27 | 9 6 468 A FITE 5E58%H 2 2882 | -0.9
200 28 | 4 1 181 A#E B2 EEE SR 4 28.87 | -05
200 29 | 2 8 1091 ER K IF Kt R 7 28.89 | -1.8




#BEH |G| #8 | — | 2ass K% R = | =& | 2
200 30 | 8 5 660 EE & —BEE— 1 28.91 -0.8
200 31 6 1 167 R hE ERAIERRER 3 2898 | -14
200 32 7 3 353 g BE PIRETL 4 2922 | -16
200 33 | 8 6 67 BiE ER T/ 2 2926 | -0.8
200 34 | 12] 8 618 BE Z EEEESK 1 2927 | -1
200 35 | 3 2 329 T8 ENTF BEEE= 3 2936 | -1.0
200 36 | 3 8 152 AR TEB EEFTESK 4 2942 | -1.0
200 37 | 2] 7 213 NNimte A db kB 8 2944 | -18
200 38 | 10] 3 592 HM BAES FIE S 1 29.70 | -0.1
200 39 | 6 2 315 Bl %A —BEE— 4 2980 | -1.4
200 40 | 5 7 634 fERK EF EREK 3 2987 | -15
200 41 5 3 223 Eﬂiuh?kﬂﬁ db_E -Bh 4 2988 | -15
200 42 | 8 4 557 Il HEE I FhER 3 2997 | -08
200 43 | 14 ] 4 1245 3 S FERAMERFER 1 2999 | -1.7
200 4 | 6 8 214 E 88 L -BhER 5 3004 | -14
200 45 | 6 7 313 FE B —BEE— 6 3007 | -14
200 46 | 6 5 1451 ki t8 RS 7 3009 | -14
200 47 | 5 6 746 ERK EE EEEFTESK 5 3014 | -15
200 48 | 8 2 50 BH BTt JKiR e 4 3024 | -08
200 49 | 9 3 271 Bl KK ERE_H 3 30.30 | -0.9
200 50 | 10| 4 40 INEF BE JKiR s 2 30.35 | -0.1
200 51 9 5 559 =i tHF IR FHER 4 3036 | -0.9
200 52 | 8 7 43 kB KR 5 30.37 | -0.8
200 53 5 2 728 O 1B L HER 6 30.41 -15
200 54 | 5 4 1097 SHE UGk EEFER 7 3044 | -15
200 5 | 14| 7 1249 = FERAILERRER 2 3045 | -1.7
200 56 [ 12| 5 1140 hEPEF bt L -mhER 2 3047 | -1.1
200 57 | 10| 2 52 =M BEBE KR e 3 3055 | -0.1
200 58 | 11 2 1298 = 2E JKIRE P ER 1 3058 | -0.7
200 59 7 8 1110 ®BiE == L2 5 30.63 | -16
200 60 | 8 3 285 TR 23 ERE_th 6 30.71 -0.8
200 61 [ 12| 2 221 INGIIER bt £ -BhER 3 30.77 | -141
200 62 | 9 7 278 KX L& ERE_T 5 30.87 | -0.9
200 63 | 12| 6 1138 LN b b B 4 31.19 | -1.1
200 64 | 11 5 44 EE D KR 2 3143 | -0.7
200 65 | 9 4 1148 g B TEEPFR 6 3144 | -09
200 66 | 12| 4 1139 EBRESE JbE -FE R 5 3145 | -1.1
200 67 | 13| 2 1137 EWE L -BhER 1 3148 | -15
200 68 | 8 1 1143 A UM EEFER 7 3149 | -0.8
200 69 [ 14| 3 1246 EEk Hhy ELEEL R PR 3 31.67 | -17
200 70 | 14] 6 1247 ERE Kb ELERL =R PR 4 31.80 | -1.7
200 71 10| 5 217 EREAM db E-FE R 4 3181 | -0.1
200 72 | 11 7 312 INFF B —BEE— 3 31.86 | -0.7
200 73 7 7 354 KIIl FER EIREYL 6 3203 | -16
200 74 [ 14| 5 1244 fHH #EKRIE FEERIERPER 5 32.16 | -17
200 75 | 11 3 49 FTH =H KR 4 3223 | -0.7
200 76 9 2 53 g X T/ 7 3227 | -09
200 77 | 9 8 145 Wi F45 BE [ K2 M B S A 8 3232 | -0.9
200 78 7 1 1111 =H EK LFhER 7 3256 | -1.6
200 79 | 13 ] 5 1537 =H EE bk 2 3267 | -15
200 80 | 13| 4 1530 HE A b Ed 3 3272 | -15
200 81 [ 10| 7 224 FERIE bt E-mhER 5 32.86 | -0.1
200 82 | 11 1 222 ERKHBE bt L -mhER 5 3312 | -0.7
200 83 | 12| 7 283 HHE HE ERE—F 6 3324 | -11
200 84 [ 13| 6 178 R =i FERALERRER 4 3328 | -15
200 85 | 11 6 1093 i€ B EE PR 6 33.32 | -0.7
200 86 [ 11| 8 59 #HE EXR T/hE&e 7 33.35 | -0.7
200 g7 | 13| 7 1152 INgEE 2k EE8H 5 3493 | -15
200 88 [ 13| 8 1154 BE EX £E548% 6 3707 | -15
200 1 8 405 fERKX _FHA Pl =20 DNS

200 3 1 314 Il H —BE— DNS

200 3 3 1104 ZE FEE EE PR DNS

200 3 6 695 INER EK 1AM DNS

200 3 7 1093 INEFRRRR BEXFOUR) DNS

200 4 2 58 JdtHE HE T/higeh DNS




#BEH |G| #8 | — | 2ass K% R = | =& | 2
200 4 3 563 HE ¥ REE—S DNS
200 4 6 147 INER 2% R XEMESK DNS
200 4 8 60 Nk HE T/ DNS
200 6 6 406 B4 BREE P[] DNS
200 7 4 181 EEE FEREMLFEREFER DNS
200 8 8 218 FE D B S DNS
200 0] 6 219 EEE R b E-BEhER DNS
200 10| 8 653 X8 EfE —BE— DNS
200 1] 4 1141 WAES b £ -mhER DNS
200 12| 3 45 SRS KR e DNS
200 13| 3 180 FH XE FREMLFERFER DNS
200 14 | 8 1381 AH BX T/hige DNS
400 1 1 4 92 R Bt HAAKEXE 1 59.30
400 2 1 3 13 1T -} J\IBEHEHE 2 59.73
400 3 1 5 216 B ERF BRI S 3 1.00.55
400 4 1 7 414 £k M=E AIE SR 4 | 10152
400 5 1 2 7 M RBTR 2R 5 | 1.02.46
400 6 2 2 144 = &1t e K EHE S8 1 1.02.61
400 7 3 8 563 HE ¥4% REE—5 1 1.02.77
400 8 2 4 281 Xk L4 ERE_H 2 1.03.12
400 9 3 4 226 A $= B[ th 3L 54 2 1.03.59
400 10 | 2 1 215 2R BE B[ th 3L S 4% 3 | 1.03.74
400 11 2 8 214 ERK BE EEH ISR 4 1.04.55
400 12 | 3 5 428 SR EES] Ranik| 3 1.05.49
400 13 | 3 3 227 hiE B BEHIL SR 4 | 1.05.61
400 14 | 3 1 430 INFR FBR EIE 5 1.05.75
400 15 | 2 3 182 E fEx B[ F = AR 5 1.06.11
400 16 | 4 7 347 B X8 EIREYE 1 1.06.85
400 17 | 3 2 424 B =8 EEEK 6 | 1.07.05
400 18 1 1 457 = R 1EEm 6 1.07.97
400 19 | 2 6 183 R EBE B E R AR 6 | 1.08.14
400 20 3 7 324 HE BF BEE= 7 1.08.55
400 21 5 8 656 I VAL —BE— 1 1.08.55
400 22 | 4 5 222 FFIER HEE BEHIL SR 2 | 1.08.67
400 23 | 5 2 652 fTER 2 —BE— 2 1.08.92
400 24 | 5 3 678 ERAR EKIE EHRIESEK 3 | 1.09.03
400 25 | 4 6 228 BiR XK BT I 58 3 1.09.99
400 26 | 5 7 750 EE RE —BE— 4 1.10.50
400 27 | 5 5 613 [EX R BRI S 5 1.10.93
400 28 | 5 6 357 WE X bk 6 | 1.11.24
400 29 | 2 5 596 BB X B BERAIESK 7 1.11.30
400 30 | 4 2 654 INEFFE BN —BE— 4 | 11157
400 31 4 3 616 REH Xy EEH IS 5 | 1.11.59
400 32 | 2 7 735 L NI L] L HPER 8 1.11.78
400 33 | 5 1 657 BB RE —BEE— 7 | 1.12.39
400 34 | 4 8 62 =H ¥ T/ 6 | 1.13.26
400 1 6 221 B A BRI S DNS
400 1 8 346 INEFFR MEXZWWRE) DNS
400 3 6 217 HO =5 EEH IS DNS
400 4 1 223 FH B=E BRI R DNS
400 4 4 219 AR B B[ Th 3L &4 DNS
400 5 4 229 Kk = =% [ th I & DNS
800 1 1 4 92 R Bt BAZKEXE 1 2.15.04
800 2 1 3 66 EH X5 TEER 2 | 22737
800 3 6 7 327 BE F4E BEME= 1 2.28.49
800 4 2 3 94 Eik Ex REE—S 1 2.28.65
800 5 2 7 3 R 2 RAEFESER 2 | 2.29.35
800 6 2 5 110 SH BE EFKF 3 | 22947
800 7 2 6 355 =H E& BE [ 55 Y 4 | 2.29.85
800 8 2 4 688 B} B BRHE—5 5 | 2.29.96
800 9 1 6 281 THRER R[] b 3 | 2.3054
800 10 | 1 1 54 =R BE T/ 4 | 23094
800 11 1 7 1383 WH Z82 T/ 5 2.32.68
800 12 | 4 5 655 i UE —BE— 1 2.33.25
800 13 | 2 1 696 NER BE 1EEm 6 | 2.34.60




#BEH |G| #8 | — | 2ass K% R = | =& | 2
800 14 | 5 4 1146 12 HE EEPER 1 2.35.35
800 15 | 4 4 284 e ERE_th 2 | 2.3545
800 16 | 3 7 364 = BN EIEETL 1 2.35.62
800 17 | 5 6 354 Kl FER EIRETE 2 | 2.36.12
800 18 | 3 5 560 ERET FESK 2 | 2.36.51
800 19 2 8 939 N AE R 7 2.37.11
800 20 | 5 5 146 AAR iR B KEMES K 3 | 2.3847
800 21 4 6 218 EEARD b b B 3 | 2.38.49
800 22 | 4 7 4 0O = REERER 4 | 2.38.76
800 23 | 3 6 561 gk Xk TFERE&R 3 123930
800 24 | 4 8 654 INEFEFE BN —BE— 5 | 2.39.43
800 25 | 6 2 183 R BE BE [ F = AR 2 | 2.39.57
800 26 | 4 3 459 =28 BE 1EEm 6 | 2.40.65
800 27 | 3 1 747 ERK BF EEEEESK 4 | 24167
800 28 | 6 6 678 ERK EKiE EHFIESE 3 | 24250
800 29 | 5 7 739 T EET Kb 2R 4 | 24273
800 30 | 6 3 1248 EENEIF FERAILERRER 4 | 24530
800 31 5 2 38 =& KiE JK;Reh 5 2.45.42
800 32 | 5 8 69 R T/hE&dh 6 | 24647
800 33 | 1 8 85 BH EKA EE PR 6 | 2.46.63
800 34 | 5 3 1125 ERK ERB Kt R 7 | 24777
800 35 1 2 256 Kz BE = HPER 7 | 2.48.56
800 36 | 6 1 1145 FE XK TEEPFR 5 | 2.49.97
800 37 7 7 1380 A EK T/ 1 2.51.41
800 38 | 3 3 62 a5H ¥ T/hEge 5 | 25153
800 39 | 8 8 1197 ErRK 2 BIRE T 1 2.55.80
800 40 | 7 3 470 At+E BmE EE48H 2 | 257.21
800 41 6 8 42 EZE LE KR 6 | 2.59.09
800 42 8 5 1533 =i 1BE bt 2 3.00.00
800 43 | 8 4 1495 KA EE L HBER 3 | 3.00.06
800 44 | 3 2 255 Bz YYyc EEFEPER 6 | 3.00.68
800 45 7 5 279 Fih /R ERE_Hh 3 | 3.00.71
800 46 | 8 6 1412 Sl _#EK LR FhER 4 | 30267
800 47 | 6 5 105 £k B FESK 7 | 3.02.76
800 48 6 4 102 R IEE FEER 8 3.08.25
800 49 | 7 4 745 =% FF EEEESK 4 | 31933
800 1 5 215 £ #0 Jt b -Bh R DNS
800 2 2 84 =g Bx EEPER DNS
800 3 4 75 =5 & TEER DNS
800 3 8 225 =HEE b k- ﬁﬂhﬂ* DNS
800 4 2 657 ER RE —BAZE DNS
800 7 6 1165 B2H =& JKiR e DNS
800 7 8 1485 H 8F v Eh DNS
800 8 7 1413 i EE LR FhER DNS
1500 1 1 4 275 AFINEFIE R [iE] 2 bz 1 4.48.02
1500 2 1 7 224 EHEES B S’ 2 | 4.48.65
1500 3 1 3 54 BEA EIFMI: 1EER 3 | 45445
1500 4 1 5 280 BHEE % [if] 5 iz 4 | 4.56.60
1500 5 1 2 61 7KJI K%é’é’a’ T/ 5 | 4.58.27
1500 6 1 11 57 FHith KIE /RS 6 5.00.57
1500 7 2 | 19 352 FiE kE B¥ [if] 55 7Y 1 5.03.59
1500 8 2 | 20 355 &= H 175%% EIRETL 2 | 5.04.10
1500 9 1| 13 54 A R T/ 7 | 5.04.29
1500 10 1 1 66 EH %Bﬁ TEER 8 | 5.05.20
1500 11 1 22 94 Tk EX RARE T 9 | 5.06.52
1500 12 1 12 1383 WH =8 T/ 10 [ 5.10.45
1500 13 [ 1 6 277 it ’E&I‘luﬁﬂ‘" 11 | 5.11.64
1500 14 [ 21 23 655 Fih 9E —B%E 3 | 5.11.98
1500 15 [ 21 18 351 At FBE ﬁl‘l%ﬁl 4 | 5.12.41
1500 16 | 2 6 84 —IE B= EE PR 5 | 5.13.32
1500 17 | 2 4 284 Gl HE ERE_th 6 | 5.15.22
1500 18 1 8 548 FiE =2 E'EEP%& 12 | 5.15.54
1500 19 1 23 415 EH ZFE B SR 13 [ 5.18.65
1500 20 | 1 [ 21 262 KBEXR % [of] Ehl b 14 | 5.20.75
1500 21 2 [ 12 1465 HH ODF ERERER 7 | 5.20.78
1500 22 | 2 ] 11 259 INE DD L FFhE 8 | 5.20.98




BE |G| 8| | aess K4 iR &= | 2% | 22
1500 23 1 | 24 1144 T EET E&E R 15 | 5.21.10
1500 24 | 1 14 63 ERK BE EER 16 | 5.22.24
1500 25 2 5 218 ﬂ;_ LD bt b -E R 9 5.22.30
1500 | 26 [ 3 | 21 117 xIE K3 g&aﬁu EHPER 1] 5.2291
1500 27 1 9 549 FE F FHiR A 17 | 5.22.98
1500 28 1 18 125 HAR ?r 5Iﬁa_MEI‘J;—;$* 18 | 5.23.42
1500 | 29 [ 2 [ 24 120 FXH EHPFER 10 | 5.24.02
1500 30 | 2 7 225 R HZE %l‘lfﬁ_mffsc 11 | 5.24.43
1500 31 2 | 17 341 NESEE:ES EIRET L] 12 | 5.25.29
1500 32 2 | 22 465 =0 YUs EEARTH 13 | 5.25.64
1500 33 3 15 744 INE HLY TIEESK 2 5.25.64
1500 34 2 | 13 429 MESEET 35ElR 14 | 5.26.92
1500 35 | 2] 15 146 AAR #EaL BE [ KM B S 4 15 | 5.27.06
1500 36 1 | 20 261 RIS R [of] Ehl b 19 | 5.27.30
1500 37 1 10 80 HEFIEFD HEEXLE 20 | 5.27.43
1500 38 | 2 3 626 BT &R =l BEE= 16 | 5.27.47
1500 39 2 | 21 166 TS ERANER R 17 | 5.28.17
1500 0 [ 2 ] 14 1141 WAEE b b - 18 | 5.29.49
1500 | 41 [ 2 [ 25 124 BElR EiE =B PR 19 [531.14
1500 42 3 5 1248 BA EH ELHE R PER 3 | 531.42
1500 43 3 4 1299 FIE £H KRB A 4 | 533.35
1500 44 2 8 280 R &= /EE./R""_':F‘ 20 | 5.34.07
1500 | 45 | 3 | 24 122 R L =R 5 | 5.35.16
1500 46 2 1 256 EiZE iAﬁ =EHE fER 21 | 5.36.44
1500 | 47 | 3 | 26 | 1264 BIE DE LI EE 6 53878
1500 48 1 19 268 rHEE B[] A% 21 | 5.40.93
1500 49 2 | 10 1435 Nk BT ENE[AET S 22 | 5.41.23
1500 50 | 3 6 69 hit #Hj /& 7 5.41.34
1500 51 3 3 273 B E EBRE—th 8 | 5.43.80
1500 52 3 | 18 1417 BE 0D I F R 9 5.46.92
1500 53 2 2 622 NN t&dt 23 | 5.47.70
1500 54 | 1 15 85 BiF X4 m%ﬂlﬂ—?—ffx 22 | 5.47.78
1500 55 | 3 ] 14 153 Eig ATt TIEESR 10 | 5.48.09
1500 56 3 2 271 =5 KK ERE_d 11 | 5.50.16
1500 57 2 | 16 342 M $ET B[] 55 7Y 24 | 5.53.21
1500 58 3 7 691 falEf KRIE 1t&m 12 | 553.38
1500 59 3| 10 274 BEEA thbk ERE—H 13 | 5.55.31
1500 60 | 3 | 16 1461 EAa X & R R 14 | 5.56.50
1500 61 2 9 225 =HER bk -FrheER 25 | 6.00.75
1500 62 3 | 13 279 Fith IHK ERE & 15 | 6.10.30
1500 63 | 3 [ 17 476 BE EAX HEEAT 16 | 6.13.33
1500 64 3 | 20 276 iR MR ERE_—th 17 | 6.17.88
1500 65 3 | 12 42 EZE LE KRk 18 | 6.20.61
1500 66 3 | 19 1196 KB ER ERE—H 19 | 6.26.87
1500 67 | 3 | 11 558 B FRF PIRLEEES 20 | 6.32.98
1500 | 68 | 3 | 25 | 1263 B 5 EERER 21 | 6.4252
1500 1 16 59 Hh B 1EEH DNS

1500 1 17 60 B B4 EER DNS

1500 3 1 223 i BE BB T M S A DNS

1500 3 8 229 ik =2 BT S8 DNS

1500 3 9 614 FiA {ES BRI S8 DNS

1500 3 | 22 114 FHh L 1&5]"::'"? R DNS

1500 3 | 23 121 Il =k EE ks DNS

3000 1 1 2 52 R &R EER 1 [10.10.07
3000 2 1 1 215 £k # Jt £ - B R 2 |10.21.97
3000 3 1 9 72 *H% £8 TEER 3 [10.31.59
3000 4 1 5 272 KEH % o] SR 4 110.34.76
3000 5 1 4 224 B EXF BT S 5 |10.40.42
3000 6 1 11 2 ¥FHE 3EF TE&AC 6 |1047.66
3000 7 1| 10 76 =Y il GBS TEER 7 |10.48.36
3000 8 1 6 200 =R BEA BRI &8 8 |1049.20
3000 9 1 7 257 *ﬂﬁ%ﬂ B[R A% 9 |1056.13
3000 10 1 17 74 LM FUE EER 10 | 10.59.75
3000 11 1 15 352 FiE KE % [E] 55 P 11 ] 11.00.16
3000 12 1 12 688 BRK BN EEE—S 12 |11.00.35
3000 13 1| 30 165 & 2 FEOEIERPER 13 |11.00.73




#BEH |G| #8 | — | 2ass K% R = | =& | 2
3000 | 14 | 1 | 38 118 A DE EFPER 14 |11.02.74
3000 15 | 1 | 20 25 =i %= EFKRF 15 | 11.03.96
3000 16 1 18 3 Bl 2 RATRE D FER 16 | 11.05.23
3000 17 1 8 255 kiR % [if] Eh iz 17 | 11.07.24
3000 18 | 1] 21 215 2R BE BETHILER 18 | 11.23.59
3000 | 20 [ 1 ]| 39 125 HX Bm% EFPER 19 |11.23.70
3000 19 | 1] 29 259 INE DD L B 20 | 11.23.70
3000 21 1 24 477 S H FF 5E8H 21 | 11.25.19
3000 22 1 31 171 i R N TE: FERBIERFER 22 | 11.2558
3000 23 1 32 168 k<KX &R FEORTLEA PR 23 |11.26.99
3000 24 1 19 633 FHi BT EEEK 24 |11.33.72
3000 25 | 1 | 34 176 B DEE FERETIERPER 25 |11.35.42
3000 26 1 14 351 H+E =Fi§'E ¥ i) 55 7Y 26 |11.37.52
3000 27 | 1| 25 225 Xt HE BT I S 27 |11.39.59
3000 28 1 28 19 RE H=E LopYLT4—X 28 | 11.40.40
3000 29 1 33 177 BiE KF FERBTILFERFER 29 |1152.13
3000 30 | 1| 22 125 HMAR T IR DRSS 30 | 115354
3000 31 1| 26 42 B 4 A REfh R 31 |13.18.59
3000 32 1 23 1004 XA F= EFXRZF(FE) 32 |13.21.60
3000 33 1 36 326 dtH BHHE REME= 33 |14.13.24
3000 1 3 258 A& % [if] Eh iz DNS
3000 1 13 341 J* BARZE % i) 55 7Y DNS
3000 1 16 23 Il ER KB4 (RLAR) DNS
3000 1 27 434 =H BE BEfE It DNS
3000 1| 35 614 FiA {ES BEH IS DNS
3000 1] 37 113 Zith mRE PN da a8 DNS
3000SC| 1 1 1 104 ik = TFEE 1 |11.54.90
3000SC| 2 1 3 77 TE BE TEER 2 [12.04.86
3000SC| 3 1 4 415 EH R B S 3 |13.2242
3000SC 1 2 200 Rk EAR B[ T L SR DNS
4%100 1 2 3 344 E7 HIV B[] 55 7Y 1 52.52 2
4%100 1 2 3 345 H# B B[] 55 7Y 1 52.52 3
4%100 1 2 3 347 i £iE % i) 55 7Y 1 52.52 1
4%100 1 2 3 353 Bk LE B¥ [ 55 1 52.52 4
4%100 2 2 7 181 A#E BB EE SR 2 52.75 2
4%100 2 2 7 182 BT #EE EE SR 2 52.75 3
4%100 2 2 7 188 +XF B2 BE [ F = AR 2 52.75 4
4%100 2 2 7 189 i BAE B =R 2 52.75 1
4%100 2 2 7 577 Hg EF EE SR 2 52.75
4%100 3 2 6 428 JIR B Akl 3 54.12 2
4%100 3 2 6 430 INKR - Fl Bk BEfE It 3 54.12 3
4%100 3 2 6 431 Z0O ERF RE 3 54.12 1
4x100 | 3 2 6 432 Ea A& B[t 3 54.12
4%100 3 2 6 644 WA = 2 drikle 3 54.12 4
4%100 4 1 7 271 ElE KK BIREZRA 1 54.27 3
4x100 | 4 1 7 270 fRE TEM EIREZFRA 1 54.27 2
4%100 4 1 7 2717 {FigE EZET FERE A 1 54.27 4
4%100 4 1 7 277 kg E£F EIREZRA 1 54.27 1
4%100 5 2 5 43 tkik BHE JKiR & 4 54.96 2
4%100 5 2 5 50 BH BTt JKiR & 4 54.96 3
4%100 5 2 5 1157 INFFEFEN KR 4 54.96 4
4%100 5 2 5 1166 ZE E KR 4 54.96 1
4%100 6 2 4 143 ErRK EE B[ KM E S 5 55.32 2
4%100 6 2 4 144 =i &1t B K EF MRS 5 55.32 3
4%100 6 2 4 145 g F5 B% [ KM R = i 5 55.32 1
4%100 6 2 4 147 INETR 2% B[ KE M E =i 5 55.32 4
4%100 7 3 4 724 FEy R L HFERA 1 56.12 1
4%100 7 3 4 720 ngE 1R L HFERA 1 56.12 2
4%100 7 3 4 728 il IRk L HFBERA 1 56.12 3
4%100 7 3 4 727 NE BT L ABPERA 1 56.12 4




#BEH |G| #8 | — | 2ass K% R = | =& | 2
4x100 | 8 3 8 104 ik = TESK 2 56.83
4x100 | 8 3 8 108 21l E TFESK 2 56.83 3
4%100 | 8 3 8 562 EE IEE FEER 2 56.83 2
4%100 8 3 8 101 Bl & FESK 2 56.83 1
4x100 | 8 3 8 107 FrHLD A TESK 2 56.83 4
4%100 8 3 8 105 & B FEER 2 56.83
4%100 9 2 2 285 M HIE ERE_4B 6 56.85 2
4%100 9 2 2 278 KR L& ERE_HB 6 56.85 3
4%100 9 2 2 1199 HRRIESHE EREZ_4B 6 56.85 1
4%100 9 2 2 1197 ErRRK 2 ERE_4B 6 56.85 4
4%100 | 10 1 8 282 EH 2 ERE_HC 2 57.14 4
4%x100 [ 10 1 8 1198 {E R RFINRE BRE_—_dC 2 57.14 1
4x100 | 10 1 8 281 R £ ERE_fC 2 57.14 2
4%100 | 10 1 8 283 HE A ERE_HC 2 57.14 3
4%100 | 11 2 8 807 i Uk KRR 7 57.87 4
4x100 | 11 2 8 810 FIE BD KR 2R 7 57.87 3
4%100 | 11 2 8 812 FE FZF KRB 7 57.87 1
4%100 | 11 2 8 813 H5H #Zb JKR B R 7 57.87 2
4%100 | 11 2 8 1298 =tE BEE JKIRE 2R 7 57.87
4%x100 | 11 2 8 1299 FIE xH KRB R 7 57.87
4x100 | 12 | 3 7 506 ki INE EEEESK 3 58.07 4
4x100 | 12 | 3 7 507 it BHEBE EEEXEER 3 58.07 1
4x100 | 12 | 3 7 617 BEH ZTHRE EEEESK 3 58.07 2
4x100 | 12 | 3 7 618 EH 2 EEEESK 3 58.07 3
4100 | 13 | 3 6 272 B B EREZ_HD 4 1.00.91 1
4x100 | 13 | 3 6 284 Tl HE EIRE_FD 4 1.00.91 2
4x100 | 13 | 3 6 276 Fir M ERE_FD 4 1.00.91 4
4x100 | 13 | 3 6 279 Fih KK EREZ_FD 4 1.00.91 3
4100 | 14 | 3 5 719 B T4 L HPERB 5 1.04.53 4
4x100 | 14 | 3 5 723 PEE BR L HFEEB 5 | 1.0453 3
4x100 | 14 | 3 5 1495 XA BE L HAPEREB 5 1.04.53 1
4100 | 14 | 3 5 726 Lt L HPERB 5 1.04.53 2
4%100 1 3 1442 Bk tH R PR DNS
4%100 1 3 1444 gk BK EREDER DNS
4%100 1 3 1441 LIl EE EREDER DNS
4%100 1 3 483 =k RE R ER DNS
4%100 1 4 214 fERR BE BRI &4 DNS
4%100 1 4 216 BiE ERF B T IS4 DNS
4%100 1 4 217 HO =7 EEH IS DNS
4%100 1 4 221 H i B Hh 3L &4 DNS
4%100 1 4 222 FIER HEE B T M S A DNS
4%100 1 4 227 hiE 3k % [ Th 3L &4 DNS
4%100 1 5 412 RE HE RATE 2R DNS
4%100 1 5 418 %D 84 RATE PR DNS
4%100 1 5 7 JNE ZETh RAERER DNS
4%100 1 5 421 BF Ei RATRE PR DNS
4%100 1 6 329 TH =ENhF RRE DNS
4%100 1 6 330 A BT REME= DNS
4%100 1 6 331 EE KB REME= DNS
4%100 1 6 651 [EE XR RME= DNS
4%100 1 6 489 ERKR FiE BEE= DNS
4%100 3 3 1103 Fih ZIR TEEPER DNS 3
4%100 3 3 1104 ZB HiEE EEhER DNS 4
4%100 3 3 1105 B HhE A PR DNS 1
4%100 3 3 1097 SHE UG TEEPER DNS 2
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